-
Ll
—
-
Q.
—
-

NAPOLEON

GOURMET GRILLS

www.napoleon.com

SPARE PART
PRICE BOOK 2023

Art.nr.: N415-2023

Prices are recommended end-user
prices Pricing subject to change

Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

RSE425RSIB INCL PHANTOM SEMI GLOSS

Pricing subject to change 157
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Pricing subject to change 158
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



17
18

19

20

21

22
23
24
25

27
28
29
30
31
32
33
34
35

36
37
38
S9

40

Prices are recommended end-user prices

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

RSE425RSIB 2023 (incl semi gloss)

N010-1031-SS
N010-1031-BK

N010-1031-PHM-SER

$91003

$91010
N385-0307-SER
N385-0307-BK-SER
N510-0013

S87014
N010-1149-SER
N010-1466-SER
N240-0040
N570-0104
N350-0087
N100-0058
N720-0082
N160-0043

S87010

S87001

N520-0050

71501

S$83043

S83008

N455-0097
N200-0118-GY1SG
N200-0118-BK1TX
N585-0145-GY1SG
N585-0145-BK1TX
N710-0062

62007
N475-0363-GY1SG
N475-0363-BK1TX
N080-0364
N350-0076
N710-0094
N080-0378-GY1SG
N080-0378-BK1SG
N080-0365
N750-0016
N357-0021
N455-0112
N160-0023
N255-0064
N720-0055
W105-0010
N080-0380-GY1SG
N080-0380-BK1SG
N570-0118
N130-0015
N510-0015
N590-0292-GY1SG
N590-0292-BK1TX
N475-0607-GY1SG
N475-0607-BK1TX

Description

lid assembly stainless steel

lid assembly black

lid assembly semi gloss black
temperature gauge chrome
temperature gauge black
NAPOLEON logo

NAPOLEON logo black

black silicone lid bumper

lid pivot hardware kit

base casting assembly grey
base casting assembly black
rear burner electrode and lead
10-24 X 3/8” screw

rear burner housing

rear burner

rear burner supply line

flex line clip

cross light bracket kit

burner & sear plate kit
warming rack chrome
multifunctional warming rack
kit grids stainless steel

kit grids cast iron

rear burner orifice #62 50mbar
back cover grey

back cover semi gloss black
cart heat shield grey

cart heat shield semi gloss black
grease tray aluminium

grease tray liner

rear cart enclosure panel grey
rear cart enclosure panel semi gloss black
bracket side shelf “A”

battery box

drip pan

bracket, pivot grey

bracket, pivot black

bracket side shelf “B”
electronic ignition lead
electronic ignition - 2 spark
side burner orifice #64 50mbar
side burner hose orifice retainer clip
fitting 90°

side burner supply tube
bushing

bracket magnet grey

bracket magnet black

1/4-20 x 3/8” screw

caster

caster plug

bottom shelf grey

bottom shelf semi gloss black
left/right cart enclosure panel grey
left/right cart enclosure panel semi gloss black

Pricing subject to change
** Please contact service desk for pricing

399,00
399,00
399,00
26,50
26,50
4,00
10,50
2,00
4,00
549,00
549,00
16,00
1,00
52,50
29,50
17,00
3,00
14,50
51,50
41,00
119,00
159,00
99,00
8,00
31,50
31,50
73,50
37,00
12,50

OO ONONONONONONOWONONONONONONONONONONONOWONOWORONONONONOY

31,50
31,50
9,50
26,50
40,00
4,00
4,00
9,50
4,00
20,00
3,50
1,00
3,00
12,50

O OO ONONOWONONONONONOWONO)

4,00
4,00
1,00
7,50
3,00
85,00
85,00
84,00
84,00

[ONONONOWONOWONONO)

159
Effective January 1st, 2023



41

42
43

44
45
46

47

48
49

50
51

52
53
54

55
56

57
58
59
60

61
62

63
64
65
66
67
68
69

70

Prices are recommended end-user prices

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

RSE425RSIB PHANTOM

N530-0032
N530-0033
N530-0034
N530-0035
N530-0036
N530-0037
N530-0038
N530-0039
N530-0042
N530-0043
N530-0046
N255-0027
N590-0261
N590-0261-BKOTX
N570-0126
N370-0845CE
N010-0869-SS-SER
N010-0869-BK-SER
N010-0869-BX-SER
N010-1148-SER
N010-1467-SER
N080-0422-SER
N370-0928-SER
N370-0928-BK-SER
N555-0097
N325-0094-SER

N325-0094-BKOTX-SER

N105-0011
N475-0091
N010-1232-CE-SER
N010-1470-CE-SER
N555-0091
N335-0098-M06
N335-0098-BK1TX
S83010

S83012
N010-1428
N240-0026
N570-0128
N570-0128-BK4FL
N710-0063
N010-1238-SER
N010-1240-SER
N010-1667-SER
N010-1626-SER
NO010-1113
N660-0007
N160-0045
N380-0040
N380-0040-BK
N387-0014
N387-0014-BK
N380-0039
N380-0039-BK
N387-0013
N387-0013-BK
N370-1043-SER

Description

regulator -Germany

regulator -Holland

regulator -Spain/Finland/Norway/Denmark
regulator -Sweden

regulator -Italy

regulator -United Kingdom

regulator -France

regulator -Hungary

regulator -Switzerland

regulator -Russia

regulator -Czech Republic

fitting, union 3/8” flare

condiment basket grey

condiment basket black

1/4-20 x 1/2” screw

propane tank support

cart door - stainless steel

cart door - black

cart door - semi gloss black

assembly stainless steel side shelf
assembly matte black side shelf

bottle opener kit

right side shelf pivot hardware kit

right side shelf pivot hardware kit black
lighting rod

door handle

door handle black

door bushing

rotisserie bracket

assembly infrared side burner shelf - stainless steel
assembly infrared side burner shelf - black
lid pivot rod

side burner lid - stainless steel

side burner lid - black

side burner grate - cast iron

side burner grate - stainless steel

infrared side burner

side burner electrode

screw #10-24 stainless steel

screw #10-24 black

infrared side burner drip tray

control panel assembly RSIB 30mbar - stainless steel
control panel assembly RSIB 50mbar - stainless steel
control panel assembly RSIB 30mbar - semi gloss black
control panel assembly RSIB 50mbar - semi gloss black
wiring harness

switch

flex line clip

burner control knob small

burner control knob small black

LED light bezel small

LED light bezel small black

burner control knob large

burner control knob large black

LED light bezel large

LED light bezel large black

sidetable lockout kit

Pricing subject to change
** Please contact service desk for pricing

25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
5,50
6,50
6,50
1,00
26,50
89,00
89,00
89,00
99,00
99,00
8,50
26,50
26,50
5,50
6,50
5,50
1,00
9,50
299,00
299,00
3,00
31,50
11,50
62,95
94,95
76,50
3,50
1,50
1,00
30,00
299,00
299,00
279,00
279,00
37,00
26,50
0,50
10,50
10,50
9,00
10,50
10,50
10,50
9,50
10,50
3,00

(OO OW O OO OO OO OO ONONONONONORONONONONONONOWORONONONONONONONONONONONONONONONONONONONONOWONOWOWOWONOWONO WO

160
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Notes

Pricing subject to change 161
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

RSE425RSIB PHANTOM

Pricing subject to change 162
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



33
34
35
36
37
38
39
40
41
42
43
44
45
45
46
a7
48
50
51
52

Prices are recommended end-user prices

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

RSE425RSIB PHANTOM

N520-0050

71501

S83013

S83008

S87001

S87010
N200-0118-BK1FL
N010-1466-SER
N710-0062
N710-0094
N080-0364
N080-0365
N475-0363-BK1FL
N080-0378-BK1SG
N475-0607-BK1FL
N370-0845CE
N590-0292-BK1FL
N510-0015
N130-0015
N010-1467-SER
N370-0928-BK-SER
N010-0869-MK-SER
N325-0094-BKOTX-SER
N105-0011
N010-1031-PHM
S91010
N385-0307-BK-SER
N510-0013

S87014
N010-1471-SER
N010-1472-SER
N660-0007
N380-0039-BK
N387-0013-BK
N380-0040-BK
N387-0014-BK
N160-0041
N010-1470-CE-SER
N450-0053
N335-0098-BK1TX
N555-0091
N720-0082
N750-0016
N455-0111
N455-0112
N160-0023
N570-0128-BK4FL
W105-0010
N720-0055
N555-0097
N530-0032
N530-0033
N530-0034

Description

warming rack chrome

multifunction warming rack

stainless cooking grid kit

cast cooking grid kit

burner & sear plate kit

cross light bracket kit

back cover black

base casting assembly black

grease tray aluminium

drip pan

bracket side shelf “A”

bracket side shelf “B”

rear cart enclosure panel black
bracket, pivot black

left/right cart enclosure panel black
propane tank tray

bottom shelf black

caster plug

caster

black side shelf assembly

right side shelf pivot hardware kit black
cart door - matte black

door handle black

door bushing

lid assembly - matte black
temperature gauge black

NAPOLEON logo black

black silicone lid bumper

lid pivot hardware kit

control panel assembly RSIB black 30mbar
control panel assembly RSIB black 50mbar
switch

burner control knob large black

LED light bezel large black

burner control knob small black

LED light bezel small black

supply hose clip

assembly infrared side burner shelf black
stainless steel nylock nut with collar #10-24
side burner lid black

lid pivot rod

rear burner supply line

electronic ignition lead

side burner orifice #59 30mbar

side burner orifice #64 50mbar

side burner hose orifice retainer clip
screw #10-24 black

bushing

side burner supply tube

lighting rod

regulator -Germany

regulator -Holland

regulator -Spain/Finland/Norway/Denmark

Pricing subject to change
** Please contact service desk for pricing

41,00
119,00
159,00

99,00

51,50

14,50

31,50
549,00

12,50

40,00

9,50
9,50
31,50
4,00

84,00

26,50

85,00

3,00
7,50

99,00

26,50

89,00

5,50
1,00
399,00
26,50
10,50
2,00
4,00
299,00
299,00

26,50

10,50

10,50

10,50

10,50

0,50
299,00
2,00
11,50
3,00
17,00
4,00
4,50
3,50
1,00
1,00

A dh Ay b oA A dh A A oA A dh A A A A dh dh A A A oAb dh A A A A dh A A A A A dh A A A A A dh A Ay A A dh dh

12,50

5,50
25,00
25,00
25,00

an dh dy ah b

163
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

RSE425RSIB PHANTOM

Description

N530-0035 regulator -Sweden € 25,00
N530-0036 regulator -Italy € 25,00
N530-0037 regulator -United Kingdom € 25,00
N530-0038 regulator -France € 25,00
N530-0039 regulator -Hungary € 25,00
N530-0042 regulator -Switzerland € 25,00
N530-0043 regulator -Russia € 25,00
N530-0046 regulator -Czech Republic € 25,00
53 NO080-0380-BK1SG bracket magnet black € 4,00
54 N570-0118 1/4-20 x 3/8” screw € 1,00
55 N585-0145-BK1FL cart heat shield black € 37,00
56 N570-0126 1/4-20 x 1/2” screw € 1,00
60 S83012 side burner grate € 94,95
61 N240-0026 side burner electrode € 3,50
62 NO010-1428 infrared side burner € 76,50
63 N350-0076 battery box € 26,50
64 N357-0021 electronic ignition - 2 spark € 20,00
65 NO10-1113 wiring harness € 37,00
66 N710-0063 infrared side burner drip tray € 30,00
67 N255-0014 fitting € 5,50
68 N255-0027 fitting, union 3/8” flare € 5,50
69 N350-0087 rear burner housing € 52,50
70 N100-0058 rear burner € 29,50
71 N455-0095 rear burner orifice #57 30mbar € 8,00
71 N455-0097 rear burner orifice #62 50mbar € 8,00
72 N240-0040 rear burner electrode and lead € 16,00
73 N590-0261-BKOTX condiment basket black € 6,50
74 N255-0064 fitting 90° € 3,00
75 N160-0043 flex line clip € 3,00
76 N570-0104 10-24 X 3/8” screw € 1,00
77 N475-0091 rotisserie bracket € 9,50
62050 burner & Jetfire maintenance kit >
Pricing subject to change 164

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Notes

Pricing subject to change 165
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

RSE425RSIB (2020)

Pricing subject to change 166
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



N

~No o w

1"
12
13
14
15
16
18
19
20
21
22
23
24

25
26
27

28
29
30
31
32

33
34
35
36
37
38
39
40
41
42
43
44
45

46
47
48
49
50

Prices are recommended end-user prices

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

RSE425RSIB (2020)

N520-0050

S83013

S83008

S87001

S87010
N200-0118-GY1SG
N010-1149-SER
N710-0062

62007

N710-0094
N080-0364
N080-0365
N475-0363-GY1SG
N080-0378-GY1SG
N475-0607-GY1SG
N370-0845CE
N590-0292-GY1SG
N510-0015

$82001
N010-1148-SER
N080-0422-SER
N370-0928-SER
N010-0869-SS-SER
N010-0869-BK-SER
N325-0094-SER
N105-0011
N010-1031-SS
N010-1031-BK
$91003
N385-0307-SER
N510-0013

S87014
N010-1238-SER
N010-1240-SER
N660-0007
N380-0039
N387-0013
N380-0040
N387-0014
N160-0041
N010-1232-CE-SER
Z450-0009
N335-0098-M06
N555-0091
N720-0082
N750-0016
N455-0091
N455-0058
N160-0023
N570-0128
W105-0010
N735-0029
N720-0055

Description

warming rack chrome
stainless cooking grid kit
cast cooking grid kit
burner & sear plate kit
cross light bracket kit
back cover

base casting assembly
grease tray aluminium
grease tray liner

drip pan

bracket side shelf “A”
bracket side shelf “B”
rear cart enclosure panel
bracket, pivot

left/right cart enclosure panel
propane tank tray
bottom shelf

caster plug

caster kit

assembly stainless steel side shelf
bottle opener kit

cart door - stainless steel

cart door - black

door handle

door bushing

assembly lid - stainless

assembly lid - black

temperature gauge kit

NAPOLEON logo

black silicone lid bumper

lid pivot hardware kit

control panel assembly RSIB 30mbar
control panel assembly RSIB 50mbar
switch

burner control knob large

LED light bezel large

control knob small

LED light bezel small

supply hose clip

assembly infrared side burner shelf
locking nut 10-24

side burner lid

lid pivot rod

rear burner supply line

electronic ignition lead

side burner orifice 0.86mm 30mbar
side burner orifice #69 50mbar
side burner hose orifice retainer clip
screw #10-24

bushing

lockout washer

side burner supply tube

Pricing subject to change
** Please contact service desk for pricing

41,00
159,00
99,00
51,50
14,50
31,50
549,00
12,50

AN OWONONOWONOWONO)

40,00
9,50
9,50

31,50
4,00

84,00

26,50

85,00
3,00

20,00

99,00
8,50

26,50

89,00

89,00
6,50
1,00

399,00
399,00

26,50
4,00
2,00
4,00

299,00
299,00

26,50

10,50
9,50

10,50
9,00
0,50

299,00
1,00

31,50
3,00

17,00
4,00
4,00
3,00
1,00
1,50

o odh Ay b A oAb dh A A A A dh o A A A A dh A A A A A dh A A A A dh dh AN A oAb dh dh AN A A dh

2,00
12,50

an dn

167
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

RSE425RSIB (2020)

Description

51 N555-0097 lighting rod € 5,50
52 N530-0032 regulator -Germany € 25,00
N530-0033 regulator -Holland € 25,00
N530-0034 regulator -Spain/Finland/Norway/Denmark € 25,00
N530-0035 regulator -Sweden € 25,00
N530-0036 regulator -ltaly € 25,00
N530-0037 regulator -United Kingdom € 25,00
N530-0038 regulator -France € 25,00
N530-0039 regulator -Hungary € 25,00
N530-0042 regulator -Switzerland € 25,00
N530-0043 regulator -Russia € 25,00
N530-0046 regulator -Czech Republic € 25,00
53 NO080-0380-GY1SG bracket, magnet € 4,00
54 N570-0118 1/4-20 x 3/8” screw € 1,00
55 N585-0145-GY1SG cart heat shield € 73,50
56 N570-0126 1/4-20 x 1/2” screw € 1,00
60 S83010 side burner grate € 62,95
61 N240-0026 side burner electrode € 3,50
62 NO010-0662 infrared side burner € 99,00
63 N350-0076 battery box € 26,50
64 N357-0021 electronic ignition - 2 spark € 20,00
65 NO010-1113 wiring harness € 37,00
66 N710-0063 infrared side burner drip tray € 30,00
67 N255-0014 fitting € 5,50
68 N255-0027 fitting, union 3/8” flare € 5,50
69 N350-0087 rear burner housing € 52,50
70 N100-0058 rear burner € 29,50
71 N455-0095 rear burner orifice #57 30mbar € 8,00
N455-0097 rear burner orifice #62 50mbar € 8,00
72 N240-0040 rear burner electrode and lead € 16,00
73 N590-0261 condiment basket € 6,50
74 N255-0064 fitting 90° € 3,00
75 N160-0043 flex line clip € 3,00
76 N570-0104 10-24 X 3/8” screw € 1,00
62050 burner & Jetfire maintenance kit >
Pricing subject to change 168

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Notes

Pricing subject to change 169
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

RSE425RSIB

Pricing subject to change 170
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



25
26
27

28
29
30
31
32

33
34
35
36
37
38
39
40
41
42
43
44
45

46
47

Prices are recommended end-user prices

RSE425RSIB

N520-0041

S83013

S87001

S87010
N200-0118-GY1SG
N010-1149-SER
N710-0062

62007

N710-0096
N160-0033-GY1SG
N430-0002
N080-0364
N080-0365
N475-0363-GY1SG
N080-0378-GY1SG
N475-0607-GY1SG
N370-0845CE
N590-0292-GY1SG
N510-0015

S82001
N590-0293-SER
N080-0422-SER
S87015
N010-0868-SS-SER
N010-0964-BK-SER
N325-0094-SER
N105-0011
N010-1031-SS
N010-1031-BK
$91003
N385-0307-SER
N510-0013

S87014
N010-1141-SER
N010-1142-SER
N010-1143-SER
N660-0007
N380-0041-BK
N387-0007
N380-0042-BK
N387-0008
N160-0041
N010-1007-SER
Z325-0013
Z335-0007
Z430-0002
N720-0082
N750-0016
N455-0091
N455-0057
N455-0058
N160-0023
N345-0022

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

warming rack chrome

stainless cooking grid kit

burner & sear plate kit

cross light bracket kit

back cover

base casting assembly

grease tray aluminium

grease tray liner

drip pan

grease tray holder

magnetic catch

bracket side shelf “A”

bracket side shelf “B”

rear cart enclosure panel

bracket, pivot

left/right cart enclosure panel
propane tank tray

bottom shelf

caster plug

caster kit

assembly stainless steel side shelf
bottle opener kit

shelf pivot hardware kit

cart door -stainless steel

cart door- black

door handle

door bushings

assembly lid - stainless

assembly lid - black

temperature gauge kit

NAPOLEON logo

black silicone lid bumper

lid pivot hardware kit

control panel assembly rsib 30mbar Ipg
control panel assembly rsib 37mbar Ipg
control panel assembly rsib 50mbar Ipg
switch

burner control knob large

LED light bezel large

control knob small

LED light bezel small

supply hose clip

assembly infrared side burner shelf
description

handle side burner lid

side burner lid

magnetic catch

rear burner supply line

electronic ignition lead

side burner orifice 0.86mm 30mbar
side burner orifice #66 37mbar
side burner orifice 0.86mm

side burner hose orifice retainer clip

** Please contact the service desk for pricing.

Pricing subject to change
** Please contact service desk for pricing

37,00
159,00
51,50
14,50
31,50
549,00
12,50

N OWONONWONONONO!

65,00
3,00
6,50
9,50
9,50

31,50
4,00

84,00

26,50

85,00
3,00

20,00

125,00
8,50

14,50

75,00

75,00
6,50
1,00

399,00
399,00

26,50
4,00
2,00
4,00

299,00
299,00
299,00

26,50

12,50

12,50

11,50

12,50
0,50

299,00
1,00

37,00
1,00

17,00
4,00
4,00
3,00
3,00
1,00

10,50

an dh ah ah o dh dh dh A A A oAb dh A A A A A dh dh A A A dh dh A D A A dh A A A A A dh A A A A A odh A Ay A b

171
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

RSE425RSIB

Description

48 N105-0017 hose side burner 77 € 1,00
49 Z255-0002-1 bushing € 3,50
50 N720-0079 fitting side burner hose € 6,50
51 N555-0025 lighting rod € 3,00
52 N530-0032 regulator - Germany € 25,00
N530-0033 regulator - Holland € 25,00
N530-0034 regulator - Spain/Finland/Norway/Denmark € 25,00
N530-0035 regulator - Sweden € 25,00
N530-0036 regulator - Italy € 25,00
N530-0037 regulator - United Kingdom € 25,00
N530-0038 regulator - France € 25,00
N530-0039 regulator - Hungary € 25,00
N530-0042 regulator - Switzerland € 25,00
N530-0043 regulator - Russia € 25,00
N530-0044 regulator - Poland € 25,00
N530-0046 regulator - Czech Republic € 25,00
53 NO080-0387-GY1SG magnet bracket € 4,00
54 N570-0118 1/4-20 x 3/8” screw € 1,00
60 S83009 side burner grate € 47,95
61 N240-0037 side burner electrode € 5,50
62 S81004 infrared service kit € 79,00
63 N350-0076 battery box € 26,50
64 N357-0021 electronic ignition - 2 spark € 20,00
65 NO10-1113 wiring harness € 37,00
66 N710-0095 infrared side burner drip tray € 12,50
67 N255-0014 fitting € 5,50
68 N255-0027 fitting, union 3/8” flare € 5,50
69 N350-0087 rear burner housing € 52,50
70 N100-0058 rear burner € 29,50
71 N455-0095 orifice, rogue rear brn #57 30mbar € 8,00
N455-0096 orifice, rogue rear brn #59 37mbar € 8,00
N455-0097 orifice, rogue rear brn #62 50mbar € 8,00
72  N240-0040 rear burner electrode and lead € 16,00
73 N590-0261 condiment basket € 6,50
74 N255-0064 fitting 90° € 3,00
75 N160-0043 flex line clip € 3,00
76 N570-0013 8 x 5/8” screw € 1,00
** Please contact the service desk for pricing.
Pricing subject to change 172

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Notes

Pricing subject to change 173
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

RXT625SIB

Pricing subject to change 174
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

RXT625SIB
Description

1 N520-0048 warming rack € 27,50
2 883021 cast cooking grid kit € 139,00
3 S83022 stainless cooking grid kit € 199,00

S87001 burner & sear plate kit € 51,50
4  S87017 cross light bracket kit € 10,50
5 N200-0138-GY1SG back cover € 50,00
6  N475-0091 rotisserie bracket € 9,50
7 NO10-1280-SER base casting assembly € 499,00
8 N710-0062 grease tray aluminium € 12,50

62007 grease tray liner **
9 N710-0120 drip pan € 55,00
11 NO080-0364 bracket side shelf “A” € 9,50
12 N430-0002 magnetic catch € 6,50
13 NO080-0365 bracket side shelf “B” € 9,50
14  N475-0499-GY1SG rear cart enclosure panel € 73,50
15 NO080-0378-GY1SG bracket, pivot € 4,00
16 N475-0607-GY1SG left/right cart enclosure panel € 84,00
17  NO080-0387-GY1SG magnet bracket € 4,00
18 N370-0845CE propane tank support € 26,50
19 N590-0326-GY1SG bottom shelf € 119,00
20 N510-0015 caster plug € 3,00
21 S82001 caster kit € 20,00
22 N010-1231-SER assembly stainless steel side shelf € 349,00
23 N370-0928-SER shelf pivot hardware kit € 26,50
24  N010-1221-SS-SER cart door kit € 59,00
25 N325-0094-SER door handle € 6,50
26 N105-0011 door bushings € 1,00
27 NO010-1233-SS assembly lid - stainless € 499,00
28 S91003 temperature gauge kit € 26,50
29 N385-0307-SER NAPOLEON logo € 4,00
30 N510-0013 black silicone lid bumper € 2,00
31 S87014 lid pivot hardware kit € 4,00
32 NO010-1278-SER control panel assembly infrared burner 625 CE 30mbar € 399,00
32 NO010-1279-SER control panel assembly infrared burner 625 CE 50mbar € 399,00
33 S86002 electronic ignition - 1 spark € 13,50
34 N380-0043 burner control knob large € 11,00
36 N380-0044 control knob small € 9,50
38 N160-0041 flex line clip € 0,50
40 Z325-0013 handle side burner lid € 1,00
41 Z335-0007 side burner lid € 37,00
42  7Z430-0002 magnetic catch € 1,00
44  NO10-1147-SER assembly infrared side burner € 399,00
45 S83009 side burner grate € 47,95
46  N240-0037 side burner electrode € 5,50
47 N750-0016 electronic ignition lead € 4,00
48 N455-0091 side burner orifice 0.86mm 30mbar € 4,00
48 N455-0058 side burner orifice #69 50mbar € 3,00
49 N160-0044 side burner hose orifice retainer clip € 2,00
50 N345-0026 hose side burner 8” € 20,00
51 N105-0017 bushing € 1,00
52 Z255-0002-1 fitting side burner hose € 3,50
53 N720-0079 flex hose 9.5” € 6,50
54 N530-0032 regulator -Germany € 25,00

Pricing subject to change 175

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

RXT625SIB
Description

N530-0033 regulator -Holland € 25,00

N530-0034 regulator -Spain/Finland/Norway/Denmark € 25,00

N530-0035 regulator -Sweden € 25,00

N530-0036 regulator -Italy € 25,00

N530-0037 regulator -United Kingdom € 25,00

N530-0038 regulator -France € 25,00

N530-0039 regulator -Hungary € 25,00

N530-0042 regulator -Switzerland € 25,00

N530-0043 regulator -Russia € 25,00

N530-0046 regulator -Czech Republic € 25,00
55 N555-0097 lighting rod € 5,50
56 S81004 infrared service kit € 79,00
57 N570-0118 1/4-20 x 3/8” screw € 1,00
58 N255-0064 90 degree fitting € 3,00
59 N710-0116 side burner drip tray € 10,00
60 N585-0144-GY1SG cart heat shield € 99,00
61 N570-0126 1/4-20 x 1/2” screw € 1,00

62050 Burner & Jetfire maintenance kit **

Pricing subject to change 176

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Notes

Pricing subject to change 177
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

RXT525SIB

Pricing subject to change 178
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



O ~NOO A WNN -

1
e
13
14
15
16
17
18
19
20
21
5
29
30
31
32

33
34
36
38
40
41
41
42
44
44
45
46
47
48
48
49
50
51
52
53
54

Prices are recommended end-user prices

RSE425RSIB

N520-0049

S83024

$83023

S87001

S87013
N200-0137-GY1SG
N475-0091
N010-0999-SER
N710-0062

62007

N710-0108
N080-0364
N430-0002
N080-0365
N475-0449-GY1SG
N080-0378-GY1SG
N475-0607-GY1SG
N080-0387-GY1SG
N370-0845CE
N590-0282-GY1SG
N510-0015

S82001
N010-1231-SER
N385-0307-SER
N510-0013

S87014
N010-1027-SER
N010-1029-SER
N010-1275-SER
N010-1277-SER
$86002

N380-0043
N380-0044
N160-0041
Z7325-0013
Z335-0007
N335-0099-BK1HR
Z430-0002
N010-1147-SER
N010-1219-SER
S83009

N240-0037
N750-0016
N455-0091
N455-0058
N160-0044
N345-0026
N105-0017
Z255-0002-1
N720-0079
N530-0032
N530-0033
N530-0034

Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Description

warming rack

cast cooking grid kit

stainless cooking grid kit

burner & sear plate kit

cross light bracket kit

back cover

rotisserie bracket

base casting assembly

grease tray aluminium

grease tray liner

drip pan

bracket side shelf “A”

magnetic catch

bracket side shelf “B”

rear cart enclosure panel

bracket, pivot

left/right cart enclosure panel
magnet bracket

propane tank support

bottom shelf

caster plug

caster kit

assembly stainless steel side shelf
NAPOLEON logo

black silicone lid bumper

lid pivot hardware kit

control panel assembly infrared burner 525 CE 30mbar
control panel assembly infrared burner 525 CE 50mbar
control panel assembly black infrared burner 525 CE 30mbar
control panel assembly black infrared burner 525 CE 50mbar
electronic ignition - 1 spark

burner control knob large

control knob small

flex line clip

handle side burner lid

side burner lid

side burner lid black

magnetic catch

assembly infrared side burner
assembly infrared side burner black
side burner grate

side burner electrode

electronic ignition lead

side burner orifice 0.86mm 30mbar
side burner orifice #69 50mbar
side burner hose orifice retainer clip
hose side burner 8”

bushing

fitting side burner hose

flex hose 9.5”

regulator -Germany

regulator -Holland

regulator -Spain/Finland/Norway/Denmark

Pricing subject to change
** Please contact service desk for pricing

50,50
119,00
179,00

51,50

17,00

22,50

9,50
499,00
12,50

N OWONONONONONONONO

55,00
9,50
6,50
9,50

37,00
4,00

84,00
4,00

26,50

105,00
3,00
20,00
349,00
4,00
2,00
4,00
249,00
249,00
249,00
249,00

13,50

11,00
9,50
0,50
1,00

37,00

21,00
1,00

399,00
399,00

47,95
5,50
4,00
4,00
3,00
2,00

20,00
1,00
3,50
6,50

25,00

25,00

25,00

OO OWON OO OO OO OO OO OO ONONONONONONONONOWORONONONONONONONONONONONONOWONONONO)

179
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

RSE425RSIB
Description

N530-0035 regulator -Sweden € 25,00

N530-0036 regulator -Italy € 25,00

N530-0037 regulator -United Kingdom € 25,00

N530-0038 regulator -France € 25,00

N530-0039 regulator -Hungary € 25,00

N530-0042 regulator -Switzerland € 25,00

N530-0043 regulator -Russia € 25,00

N530-0046 regulator -Czech Republic € 25,00
55 N555-0097 lighting rod € 5,50
56 S81004 infrared service kit € 79,00
57 N570-0118 1/4-20 x 3/8” screw € 1,00
58 N255-0064 90 degree fitting € 3,00
59 N710-0116 side burner drip tray € 10,00
60 N585-0121-GY1SG cart heat shield € 52,50
61 N570-0126 1/4-20 x 1/2” screw € 1,00

62050 Burner & Jetfire maintenance kit *

Pricing subject to change 180

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Notes

Pricing subject to change 181
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

RXT425SIB

Pricing subject to change 182
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



~NoO g WNN -

10
11
12
13
14
15
16
18
i
20
22

28,
24
24
25
26
27

28
29
30
31
32

33
34
36
38
40
41

42
43
44

45
46
a7

Prices are recommended end-user prices

RXT425SIB

N520-0050

S83008

S83013

S87001

S87010
N200-0136-GY1SG
N010-1041-SER
N710-0062

62007

N710-0094
N080-0380-GY1SG
N080-0364
N080-0365
N475-0363-GY1SG
N080-0378-GY1SG
N475-0607-GY1SG
N370-0845CE
N590-0292-GY1SG
N510-0015

S82001
N590-0254-SER
N590-0280-SER
S87015
N010-0869-SS-SER
N010-0869-BK-SER
N325-0094-SER
N105-0011
N010-1031-SS
N010-1031-BK
$91003
N385-0307-SER
N510-0013

S87014
N010-1265-SER
N010-1267-SER
N010-1268-SER
N010-1270-SER
N010-1271-SER
N010-1273-SER
S86002

N380-0043
N380-0044
N160-0041
Z325-0013
Z335-0007
N335-0099-BK1HR
Z430-0002
N475-0091
N010-1007-SER
N010-1042-SER
S83009

N240-0037
N750-0016

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

warming rack

cast cooking grid kit

stainless cooking grid kit

burner & sear plate kit

cross light bracket kit

back cover

base casting assembly

grease tray aluminium

grease tray liner

drip pan

magnet bracket

bracket side shelf "A"

bracket side shelf "B"

rear cart enclosure panel

bracket, pivot

left/right cart enclosure panel

propane tank support

bottom shelf

caster plug

caster kit

assembly stainless steel side shelf
assembly black side shelf

shelf pivot hardware kit

stainless steel cart door kit

black cart door kit

door handle

door bushings

assembly stainless steel lid

assembly black lid

temperature gauge kit

NAPOLEON logo

black silicone lid bumper

lid pivot hardware kit

assembly control panel stainless steel 30 mbar
assembly control panel stainless steel 50 mbar
assembly control panel stainless steel 30 mbar
assembly control panel stainless steel 50 mbar
assembly control panel black 30 mbar
assembly control panel black 50 mbar
electronic ignition - 1 spark

burner control knob large

control knob small

flex line clip

handle side burner lid

side burner lid

side burner lid black

magnetic catch

rotisserie bracket

assembly infrared side burner
assembly infrared side burner black
side burner grate

side burner electrode

electronic ignition lead

Pricing subject to change
** Please contact service desk for pricing

41,00
99,00
159,00
51,50
14,50
21,00
399,00
12,50

OO NONOWONOWONO)

40,00
4,00
9,50
9,50

31,50
4,00

84,00

26,50

85,00
3,00

20,00

125,00

73,50

14,50

89,00

89,00
6,50
1,00

399,00
399,00

26,50
4,00
2,00
4,00

199,00
199,00
199,00
199,00
199,00
199,00

13,50

11,00
9,50
0,50
1,00

37,00

21,00
1,00
9,50

299,00
299,00

47,95
5,50
4,00

(OO OO N O N ON OO O IO O N I OO OO N O N ORI O IO IO N O RO RO OO O W ON O OO OO OO OO WO OO ONON O WO

183
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

RXT425SIB

Description

48 N455-0091 side burner orifice 0.86mm 30mbar € 4,00
N455-0058 side burner orifice #69 50mbar € 3,00
49 N160-0044 side burner hose orifice retainer clip € 2,00
50 N345-0022 side burner hose € 10,50
51 N105-0017 bushing € 1,00
52 Z255-0002-1 fitting side burner hose € 3,50
53 N345-0022 side burner flex hose € 10,50
54  N530-0032 regulator -Germany € 25,00
N530-0033 regulator -Holland € 25,00
N530-0034 regulator -Spain/Finland/Norway/Denmark € 25,00
N530-0035 regulator -Sweden € 25,00
N530-0036 regulator -Italy € 25,00
N530-0037 regulator -United Kingdom € 25,00
N530-0038 regulator -France € 25,00
N530-0039 regulator -Hungary € 25,00
N530-0042 regulator -Switzerland € 25,00
N530-0043 regulator -Russia € 25,00
N530-0046 regulator -Czech Republic € 25,00
55 N555-0097 lighting rod € 5,50
56 S81004 infrared service kit € 79,00
57 N570-0118 1/4-20 x 3/8" screw € 1,00
58 N255-0064 90 degree fitting € 3,00
59 N710-0095 side burner drip tray € 12,50
60 N585-0145-GY1SG cart heat shield € 73,50
61 N570-0126 1/4-20 x 1/2” screw € 1,00
62050 Burner & Jetfire maintenance kit >
Pricing subject to change 184

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Notes

Pricing subject to change 185
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

RXT365SIB

Pricing subject to change 186
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



23
24

25
26
27

28
29
30
31
32

33
34
36
38
40
41

42
43
44

45
46
47
48

Prices are recommended end-user prices

RXT365SIB

N520-0051

S83015

S83016

S87001

S87016
N200-0126-GY1SG
N010-1030-SER
N710-0062

62007

N710-0107
N160-0033-GY1SG
N080-0380-GY1SG
N080-0364
N080-0365
N475-0442-GY1SG
N080-0378-GY1SG
N475-0607-GY1SG
N370-0845CE
N590-0278-GY1SG
N510-0015

$82001
N590-0254-SER
N590-0280-SER
S87015
N010-0959-SER
N010-0960-SER
N325-0094-SER
N105-0011
N010-1274-SS
N010-1274-BK
$91003
N385-0307-SER
N510-0013

S87014
N010-1259-SER
N010-1261-SER
N010-1262-SER
N010-1264-SER
$86002

N380-0043
N380-0044
N160-0041
Z325-0013
Z335-0007
N335-0099-BK1HR
Z430-0002
N475-0091
N010-1007-SER
N010-1042-SER
S83009

N240-0037
N750-0016
N455-0091

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

warming rack

cast cooking grid kit

stainless cooking grid kit

burner & sear plate kit

cross light bracket kit

back cover

base casting assembly 365

grease tray aluminium

grease tray liner

drip pan

grease tray holder

magnet bracket

bracket side shelf "A"

bracket side shelf "B"

rear cart enclosure panel

bracket, pivot

left/right cart enclosure panel
propane tank support

bottom shelf

caster plug

caster kit

assembly stainless steel side shelf
assembly black side shelf

shelf pivot hardware kit

black cart door kit

stainless steel cart door kit

door handle

door bushings

assembly lid - stainless

assembly lid - black

temperature gauge kit

NAPOLEON logo

black silicone lid bumper

lid pivot hardware kit

control panel assembly stainless steel 30mbar
control panel assembly stainless steel 50mbar
control panel assembly black 30mbar
control panel assembly black 50mbar
electronic ignition - 1 spark

burner control knob large

control knob small

flex line clip

handle side burner lid

side burner lid

side burner lid black

magnetic catch

rotisserie bracket

assembly infrared side burner
assembly infrared side burner black
side burner grate

side burner electrode

electronic ignition lead

side burner orifice 0.86mm 30mbar

Pricing subject to change
** Please contact service desk for pricing

37,50
105,00
159,00

51,50

10,50

26,50
349,00

12,50

O ONONOWONOWONO)

35,00
3,00
4,00
9,50
9,50

26,50
4,00

84,00

26,50

75,00
3,00

20,00

125,00

73,50

14,50

95,00

95,00
6,50
1,00

549,00
549,00

26,50
4,00
2,00
4,00

149,00
149,00
149,00
149,00

13,50

11,00
9,50
0,50
1,00

37,00

21,00
1,00
9,50

299,00
299,00

47,95
5,50
4,00
4,00

(OO OO O N OO RO O IO O N I OO O N O N O N ORI O IO IO N ORI OO IO O W ON O OO OO OO OO OO O OO O WO

187
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

RXT365SIB
Description

48 N455-0058 side burner orifice #69 50mbar € 3,00

49 N160-0044 side burner hose orifice retainer clip € 2,00

50 N345-0022 side burner hose € 10,50

51 N105-0017 bushing € 1,00

52 Z255-0002-1 fitting side burner hose € 3,50

53 Z720-0003 side burner flex hose **

54 N530-0032 regulator -Germany € 25,00
N530-0033 regulator -Holland € 25,00
N530-0034 regulator -Spain/Finland/Norway/Denmark € 25,00
N530-0035 regulator -Sweden € 25,00
N530-0036 regulator -ltaly € 25,00
N530-0037 regulator -United Kingdom € 25,00
N530-0038 regulator -France € 25,00
N530-0039 regulator -Hungary € 25,00
N530-0042 regulator -Switzerland € 25,00
N530-0043 regulator -Russia € 25,00
N530-0046 regulator -Czech Republic € 25,00

55 N555-0097 lighting rod € 5,50

56 S81004 infrared service kit € 79,00

57 N570-0118 1/4-20 x 3/8" screw € 1,00

58 N255-0064 90 degree fitting € 3,00

59 N710-0095 side burner drip tray € 12,50
62050 Burner & Jetfire maintenance kit >

Pricing subject to change 188

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Notes

Pricing subject to change 189
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

F365/F425

Pricing subject to change 190
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



O~NO O WN =

N NN N = = o s s
A W20 WN-0O

25
26
27
28
30
31
32
33

34
35
37
40
41
43
44
45
46
a7
48
49
79

Prices are recommended end-user prices

F365

N010-1534-GT
S91011
N385-0307-SER
N510-0013
N370-1089-SER
S$83039

S87001

S87020
N520-0056-BK2GL
N710-0134-BK2GL
N710-0136-BK2GL
N010-1424-SER
N475-0091
N585-0171-BK1SG
N080-0482
N080-0483
N160-0051
N080-0472-BK1SG
N475-0557-BK1SG
N590-0336-BK1SG
N010-1499-SER
N010-1500-SER
N380-0048-BKOTX
N160-0045
N215-0027
N555-0097
N010-1426-GT-SER
N385-0441-SER
N370-1090-SER
N530-0032
N530-0033
N530-0034
N530-0035
N530-0036
N530-0037
N530-0038
N530-0039
N530-0042
N530-0043
N530-0046
N010-1538-GT-SER
N080-0422-BK-SER
N475-0581-GT1SG
N370-0845CE
N570-0118
N105-0021-BKOTX
N015-0014
Z450-0015
N120-0048-BKOTX
N745-0010-BKOTX
N272-0004-BKOTX
N272-0003-BKOTX
S87022
N120-0046-BKOTX
N120-0047-BKOTX
62050

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

ASSY, LID GRAPHITE F365 CE
GAUGE, TEMP FREESTYLE
NAPOLEON LOGO MILLED C/W CLIPS (2015)
BUMPER, RECTANGULAR BLK SILICONE
ASSY, PIVOT LID FREESTYLE

GRIDS, CAST IRON F365

KIT, Burner/Sear Plate

BRACKET, CROSS LIGHT ROGUE F365
WARMING RACK, PORCELAIN F365

TRAY, GREASE F365/425

DRIP PAN, PORCELAIN F365

ASSY, BASE F365

MOUNT ROTISSERIE (ACCESSORY)

SHIELD, CE CART F365

BRACKET, FOLDING SHELF LEFT F365/425
BRACKET, FOLDING SHELF RIGHT F365/425
CLIP, FLEX LINE BASE, STEEL F365/425
BRACKET, GREASE TRAY CE F365/425
PANEL, CART LEFT/RIGHT F365/425

SHELF, CART BOTTOM F365 CE

ASSY, CONTROL PANEL F365 30 MBAR LPG
ASSY, CONTROL PANEL F365/SB/SIB 50MBAR
KNOB, CONTROL LRG F365/425

CLIP, FLEX LINE, ADJUSTABLE

DEFLECTOR, DRIP PAN F365/425

ROD, LIGHTING MATCH, FIXED

ASSY, SIDE SHELF PLAIN RIGHT F365/425
ASSY, LOGO BADGE, FREESTYLE

ASSY, MOUNTING SIDE SHELF FREESTYLE
regulator -Germany

regulator -Holland

regulator -Spain/Finland/Norway/Denmark
regulator -Sweden

regulator -Italy

regulator -United Kingdom

regulator -France

regulator -Hungary

regulator -Switzerland

regulator -Russia

regulator -Czech Republic

ASSY, SIDE SHELF PLAIN LEFT F365/425
BOTTLE OPENER, BLACK F365/425

PANEL, CART FRONT F365

KIT, CE TANK TRAY CE

SCREW, 1/4-20X3/8 HEX HD BLK ZINC TYPE23
BUSHING, FREESTYLE CART AXLE

AXLE, CART, 8MM X 512MM F365/425

NGZ, NUT M8 BLK ZINC NYLOCK

HUB CAP,7IN FREESTYLE WHEEL

WHEEL, 7” FREESTYLE CART, 8mm/0.315” BORE
PLASTIC FOOT, BACK F365/425

PLASTIC FOOT, FRONT F365/425

set of 3 searplates

CAP, CONT PANEL END, LEFT F365/425

CAP, CONT PANEL END, RIGHT F365/425
KIT,MAINTENANCE JETFIRE BRUSH/BURNER KIT

Pricing subject to change
** Please contact service desk for pricing

249,00
38,00
4,00
2,00
3,00
89,00
51,50
8,50
13,50
8,50
25,00
299,00
9,50
21,00
4,00
4,00
4,00
4,00
50,00
37,00
95,00
95,00
2,50
0,50
4,00
5,50
65,00
4,00
10,50
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
69,00
9,00
31,50
26,50
1,00
2,00
7,00
1,00
1,50
7,00
3,50
3,50
31,50
2,00
2,00

an o dh A o A A A A oAy oA A A D A A oA Ay A A dh A A A A A A dh A A A A oAb dh A A A A dh A A A A A dh A A A A dh A A A b

*
*

191
Effective January 1st, 2023



O~NO O WN =

e i )
O ~NO O~ WN-=O

19
20
21
23
24

25
26
27
28
29
30
31
32
33

35
37
40
41
43
44
45
46
47
48
49
50
51
52

Prices are recommended end-user prices

F365SB

N010-1534-GT
S91011
N385-0307-SER
N510-0013
N370-1089-SER
S$83039

S87001

S87020
N520-0056-BK2GL
N710-0134-BK2GL
N710-0136-BK2GL
N010-1424-SER
N475-0091
N585-0171-BK1SG
N080-0482
N080-0483
N720-0055
N010-1529-30
N010-1529-50
N160-0051
N080-0472-BK1SG
N475-0557-BK1SG
N590-0336-BK1SG
N010-1499-SER
N010-1500-SER
N380-0048-BKOTX
N160-0045
N215-0027
N555-0097
N750-0106
N010-1426-GT-SER
N385-0441-SER
N370-1090-SER
N530-0032
N530-0033
N530-0034
N530-0035
N530-0036
N530-0037
N530-0038
N530-0039
N530-0042
N530-0043
N530-0046
N080-0422-BK-SER
N475-0581-GT1SG
N370-0845CE
N570-0118
N105-0021-BKOTX
N015-0014
Z450-0015
N120-0048-BKOTX
N745-0010-BKOTX
N272-0004-BKOTX
N272-0003-BKOTX
N010-1427-GT-SER
N010-1427-GT
Z305-0008

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

ASSY, LID GRAPHITE F365 CE
GAUGE, TEMP FREESTYLE
NAPOLEON LOGO MILLED C/W CLIPS (2015)
BUMPER, RECTANGULAR BLK SILICONE
ASSY, PIVOT LID FREESTYLE

GRIDS, CAST IRON F365

KIT, Burner/Sear Plate

BRACKET, CROSS LIGHT ROGUE F365
WARMING RACK, PORCELAIN F365

TRAY, GREASE F365/425

DRIP PAN, PORCELAIN F365

ASSY, BASE F365

MOUNT ROTISSERIE (ACCESSORY)

SHIELD, CE CART F365

BRACKET, FOLDING SHELF LEFT F365/425
BRACKET, FOLDING SHELF RIGHT F365/425
TUBE,SIDE BURNR SUPPLY485/605/730
ASSY, MANIFOLD FLM SB F365/425 LPG 30MBAR
ASSY, MANIFOLD FLM SB F365/425 LPG 50MBAR
CLIP, FLEX LINE BASE, STEEL F365/425
BRACKET, GREASE TRAY CE F365/425
PANEL, CART LEFT/RIGHT F365/425

SHELF, CART BOTTOM F365 CE

ASSY, CONTROL PANEL F365 30 MBAR LPG
ASSY, CONTROL PANEL F365/SB/SIB 50MBAR
KNOB, CONTROL LRG F365/425

CLIP, FLEX LINE, ADJUSTABLE

DEFLECTOR, DRIP PAN F365/425

ROD, LIGHTING MATCH, FIXED

WIRE, ELECTRODE FLM BRNR 12IN F365/425
ASSY, SIDE SHELF PLAIN RIGHT F365/425
ASSY, LOGO BADGE, FREESTYLE

ASSY, MOUNTING SIDE SHELF FREESTYLE
regulator -Germany

regulator -Holland

regulator -Spain/Finland/Norway/Denmark
regulator -Sweden

regulator -Italy

regulator -United Kingdom

regulator -France

regulator -Hungary

regulator -Switzerland

regulator -Russia

regulator -Czech Republic

BOTTLE OPENER, BLACK F365/425

PANEL, CART FRONT F365

KIT, CE TANK TRAY CE

SCREW,1/4-20X3/8 HEX HD BLK ZINC TYPE23
BUSHING, FREESTYLE CART AXLE

AXLE, CART, 8MM X 512MM F365/425

NGZ, NUT M8 BLK ZINC NYLOCK

HUB CAP,7IN FREESTYLE WHEEL

WHEEL, 7" FREESTYLE CART, 8mm/0.315” BORE
PLASTIC FOOT, BACK F365/425

PLASTIC FOOT, FRONT F365/425

ASSY, FLAME SIDE BURNER SHELF F365/425
FLAME SIDE BURNER SHELF F365/425

SIDE BURNER GRATE 325/410/425/495

Pricing subject to change
** Please contact service desk for pricing

249,00
38,00
4,00
2,00
3,00
89,00
51,50
8,50
13,50
8,50
25,00
299,00
9,50
21,00
4,00
4,00
12,50
29,50
29,50
4,00
4,00
50,00
37,00
95,00
95,00
2,50
0,50
4,00
5,50
2,50
65,00
4,00
10,50
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
9,00
31,50
26,50
1,00
2,00
7,00
1,00
1,50
7,00
3,50
3,50
169,00
79,00
10,50

a o A oA oA oA A A dh A A D A A A N odh A A A A A A A A A dh A A A A A dh A A A A dh A A A A dh A A A A A dh A A A oAb A dh A oy

192
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

F365SB

Description

N100-0066 SIDE BURNER FREESTYLE € 13,50
55 N335-0099-GT1SG LID, SIDE BURNER GRAPHITE F365/425 € 17,00
56 Z325-0013 HANDLE, SB LID 325/365/410/425/495/525 € 1,00
57  Z430-0002 MAGNET, SB LID 325/365/410/425/495/525 € 1,00
60 N570-0082 SCREW, 1/4-20 X 5/8" STN STL HEX HD € 1,00
61 N500-0072 PLATE, SIDE SHELF SUPPORT F365/425 € 2,50
66 N485-0021 PIN, HAIRPIN COTTER 2MM X 28MM (285) € 1,00
67 Z580-0003 PIVOT, SB LID 325/365/410/425/495/525 € 3,00
68 N357-0013 IGNITER, 1 SPARK -AAA 1.5V € 19,00
79 S87022 set of 3 searplates € 31,50
80 N380-0049-BKOTX SMALL KNOB FREESTYLE SB/SIB € 2,00

N120-0046-BKOTX CAP, CONT PANEL END, LEFT F365/425 € 2,00

N120-0047-BKOTX CAP, CONT PANEL END, RIGHT F365/425 € 2,00

62050 KIT,MAINTENANCE JETFIRE BRUSH/BURNER KIT **

Pricing subject to change 193

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



O~NO O WN =

e i )
O ~NO O~ WN-=O

19
20
21
23
24

25
26
27
28
29
30
31
32
33

35
37
40
41
43
44
45
46
47
48
49
54
55
56

Prices are recommended end-user prices

F365SIB

N010-1534-GT
S91011
N385-0307-SER
N510-0013
N370-1089-SER
S$83039

S87001

S87020
N520-0056-BK2GL
N710-0134-BK2GL
N710-0136-BK2GL
N010-1424-SER
N475-0091
N585-0171-BK1SG
N080-0482
N080-0483
N720-0055
N010-1537-30
N010-1537-50
N160-0051
N080-0472-BK1SG
N475-0557-BK1SG
N590-0336-BK1SG
N010-1499-SER
N010-1500-SER
N380-0048-BKOTX
N160-0045
N215-0027
N555-0097
N750-0107
N010-1426-GT-SER
N385-0441-SER
N370-1090-SER
N530-0032
N530-0033
N530-0034
N530-0035
N530-0036
N530-0037
N530-0038
N530-0039
N530-0042
N530-0043
N530-0046
N080-0422-BK-SER
N475-0581-GT1SG
N370-0845CE
N570-0118
N105-0021-BKOTX
N015-0014
Z450-0015
N120-0048-BKOTX
N745-0010-BKOTX
N272-0004-BKOTX
N272-0003-BKOTX
N010-1496-GT-SER
N335-0099-GT1SG
Z325-0013

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

ASSY, LID GRAPHITE F365 CE
GAUGE, TEMP FREESTYLE
NAPOLEON LOGO MILLED C/W CLIPS (2015)
BUMPER, RECTANGULAR BLK SILICONE
ASSY, PIVOT LID FREESTYLE

GRIDS, CAST IRON F365

KIT, Burner/Sear Plate

BRACKET, CROSS LIGHT ROGUE F365
WARMING RACK, PORCELAIN F365

TRAY, GREASE F365/425

DRIP PAN, PORCELAIN F365

ASSY, BASE F365

MOUNT ROTISSERIE (ACCESSORY)

SHIELD, CE CART F365

BRACKET, FOLDING SHELF LEFT F365/425
BRACKET, FOLDING SHELF RIGHT F365/425
TUBE,SIDE BURNR SUPPLY485/605/730
ASSY MANIFOLD IR SB F365 425 LPG 30 MBAR
ASSY MANIFOLD IR SB F365 425 LPG 50 MBAR
CLIP, FLEX LINE BASE, STEEL F365/425
BRACKET, GREASE TRAY CE F365/425
PANEL, CART LEFT/RIGHT F365/425

SHELF, CART BOTTOM F365 CE

ASSY, CONTROL PANEL F365 30 MBAR LPG
ASSY, CONTROL PANEL F365/SB/SIB 50MBAR
KNOB, CONTROL LRG F365/425

CLIP, FLEX LINE, ADJUSTABLE

DEFLECTOR, DRIP PAN F365/425

ROD, LIGHTING MATCH, FIXED

WIRE, ELECTRODE IR BRNR 20IN F365/425
ASSY, SIDE SHELF PLAIN RIGHT F365/425
ASSY, LOGO BADGE, FREESTYLE

ASSY, MOUNTING SIDE SHELF FREESTYLE
regulator -Germany

regulator -Holland

regulator -Spain/Finland/Norway/Denmark
regulator -Sweden

regulator -Italy

regulator -United Kingdom

regulator -France

regulator -Hungary

regulator -Switzerland

regulator -Russia

regulator -Czech Republic

BOTTLE OPENER, BLACK F365/425

PANEL, CART FRONT F365

KIT, CE TANK TRAY CE

SCREW,1/4-20X3/8 HEX HD BLK ZINC TYPE23
BUSHING, FREESTYLE CART AXLE

AXLE, CART, 8MM X 512MM F365/425

NGZ, NUT M8 BLK ZINC NYLOCK

HUB CAP,7IN FREESTYLE WHEEL

WHEEL, 7" FREESTYLE CART, 8mm/0.315” BORE
PLASTIC FOOT, BACK F365/425

PLASTIC FOOT, FRONT F365/425

ASSY, IR SIDE BURNER SHELF F365/425

LID, SIDE BURNER GRAPHITE F365/425
HANDLE, SB LID 325/365/410/425/495/525

Pricing subject to change
** Please contact service desk for pricing

249,00
38,00
4,00
2,00
3,00
89,00
51,50
8,50
13,50
8,50
25,00
299,00
9,50
21,00
4,00
4,00
12,50
29,50
29,50
4,00
4,00
50,00
37,00
95,00
95,00
2,50
0,50
4,00
5,50
2,50
65,00
4,00
10,50
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
9,00
31,50
26,50
1,00
2,00
7,00
1,00
1,50
7,00
3,50
3,50
249,00
17,00
1,00

aodh A oA oA oA dh o odh A A D oA A A N dh A A A A A A D A A dh A A A A A dh A A A A dh A A A A dh A A A A A dh A A oAb A dh A oy

194
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

F365SIB

Description

Z430-0002 MAGNET, SB LID 325/365/410/425/495/525 € 1,00
58 S81004 BURNER, IR SIDE ROGUE 365/425/525/625 € 79,00
59 N240-0037 ELECTRODE, SIDE BURNER IR 365/425/525 € 5,50
60 N570-0082 SCREW, 1/4-20 X 5/8" STN STL HEX HD € 1,00
61 N500-0072 PLATE, SIDE SHELF SUPPORT F365/425 € 2,50
62 N710-0116 PAN, DRIP IR SD BRN LD4X/RSE525RSIB € 10,00
63 NO10-1496-GT IR SIDE BURNER SHELF F365/425 € 89,00
64 N570-0013 SCREW #8 X 5/8" ST.ST. PAN HD. PHIL. € 1,00
65 S83009 GRID, IR SIDE BURNER 365/425/525 € 47,95
66 N485-0021 PIN, HAIRPIN COTTER 2MM X 28MM (285) € 1,00
67 Z580-0003 PIVOT, SB LID 325/365/410/425/495/525 € 3,00
68 N357-0013 IGNITER, 1 SPARK -AAA 1.5V € 19,00
79 S87022 set of 3 searplates € 31,50
80 N380-0049-BKOTX SMALL KNOB FREESTYLE SB/SIB € 2,00

N120-0046-BKOTX CAP, CONT PANEL END, LEFT F365/425 € 2,00

N120-0047-BKOTX CAP, CONT PANEL END, RIGHT F365/425 € 2,00

62050 KIT,MAINTENANCE JETFIRE BRUSH/BURNER KIT *

Pricing subject to change 195

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



O~NO O WN =

e i )
O ~NO O~ WN-=O

19
20
21
23
24

25
26
27
28
29
30
31
32
33

35
38
40
41
43
44
45
46
47
48
49
54
55
56

Prices are recommended end-user prices

F365DSIB

N010-1534-GT
S91011
N385-0307-SER
N510-0013
N370-1089-SER
S$83039

S87001

S87020
N520-0056-BK2GL
N710-0134-BK2GL
N710-0136-BK2GL
N010-1424-SER
N475-0091
N585-0171-BK1SG
N080-0482
N080-0483
N720-0055
N010-1537-30
N010-1537-50
N160-0051
N080-0472-BK1SG
N475-0557-BK1SG
N590-0336-BK1SG
N010-1499-SER
N010-1500-SER
N380-0048-BKOTX
N160-0045
N215-0027
N555-0097
N750-0107
N010-1426-GT-SER
N385-0441-SER
N370-1090-SER
N530-0032
N530-0033
N530-0034
N530-0035
N530-0036
N530-0037
N530-0038
N530-0039
N530-0042
N530-0043
N530-0046
N080-0422-BK-SER
N010-1493-GT-SER
N370-0845CE
N570-0118
N105-0021-BKOTX
N015-0014
Z450-0015
N120-0048-BKOTX
N745-0010-BKOTX
N272-0004-BKOTX
N272-0003-BKOTX
N010-1496-GT-SER
N335-0099-GT1SG
Z325-0013

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

ASSY, LID GRAPHITE F365 CE
GAUGE, TEMP FREESTYLE
NAPOLEON LOGO MILLED C/W CLIPS (2015)
BUMPER, RECTANGULAR BLK SILICONE
ASSY, PIVOT LID FREESTYLE

GRIDS, CAST IRON F365

KIT, Burner/Sear Plate

BRACKET, CROSS LIGHT ROGUE F365
WARMING RACK, PORCELAIN F365

TRAY, GREASE F365/425

DRIP PAN, PORCELAIN F365

ASSY, BASE F365

MOUNT ROTISSERIE (ACCESSORY)

SHIELD, CE CART F365

BRACKET, FOLDING SHELF LEFT F365/425
BRACKET, FOLDING SHELF RIGHT F365/425
TUBE,SIDE BURNR SUPPLY485/605/730
ASSY MANIFOLD IR SB F365 425 LPG 30 MBAR
ASSY MANIFOLD IR SB F365 425 LPG 50 MBAR
CLIP, FLEX LINE BASE, STEEL F365/425
BRACKET, GREASE TRAY CE F365/425
PANEL, CART LEFT/RIGHT F365/425

SHELF, CART BOTTOM F365 CE

ASSY, CONTROL PANEL F365 30 MBAR LPG
ASSY, CONTROL PANEL F365/SB/SIB 50MBAR
KNOB, CONTROL LRG F365/425

CLIP, FLEX LINE, ADJUSTABLE

DEFLECTOR, DRIP PAN F365/425

ROD, LIGHTING MATCH, FIXED

WIRE, ELECTRODE IR BRNR 20IN F365/425
ASSY, SIDE SHELF PLAIN RIGHT F365/425
ASSY, LOGO BADGE, FREESTYLE

ASSY, MOUNTING SIDE SHELF FREESTYLE
regulator -Germany

regulator -Holland

regulator -Spain/Finland/Norway/Denmark
regulator -Sweden

regulator -Italy

regulator -United Kingdom

regulator -France

regulator -Hungary

regulator -Switzerland

regulator -Russia

regulator -Czech Republic

BOTTLE OPENER, BLACK F365/425

Single door F365 - Graphite

KIT, CE TANK TRAY CE

SCREW,1/4-20X3/8 HEX HD BLK ZINC TYPE23
BUSHING, FREESTYLE CART AXLE

AXLE, CART, 8MM X 512MM F365/425

NGZ, NUT M8 BLK ZINC NYLOCK

HUB CAP,7IN FREESTYLE WHEEL

WHEEL, 7" FREESTYLE CART, 8mm/0.315” BORE
PLASTIC FOOT, BACK F365/425

PLASTIC FOOT, FRONT F365/425

ASSY, IR SIDE BURNER SHELF F365/425

LID, SIDE BURNER GRAPHITE F365/425
HANDLE, SB LID 325/365/410/425/495/525

Pricing subject to change
** Please contact service desk for pricing

249,00
38,00
4,00
2,00
3,00
89,00
51,50
8,50
13,50
8,50
25,00
299,00
9,50
21,00
4,00
4,00
12,50
29,50
29,50
4,00
4,00
50,00
37,00
95,00
95,00
2,50
0,50
4,00
5,50
2,50
65,00
4,00
10,50
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
9,00
70,00
26,50
1,00
2,00
7,00
1,00
1,50
7,00
3,50
3,50
249,00
17,00
1,00

a odh A oA oA oA odh o odh A D oA A A N odh A A A A A A D A A dh A A A A A dh A A A A dh A A A A dh A A A A A dh A A A A dh A oy

196
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

F365DSIB

Description

Z430-0002 MAGNET, SB LID 325/365/410/425/495/525 € 1,00
58 S81004 BURNER, IR SIDE ROGUE 365/425/525/625 € 79,00
59 N240-0037 ELECTRODE, SIDE BURNER IR 365/425/525 € 5,50
60 N570-0082 SCREW, 1/4-20 X 5/8" STN STL HEX HD € 1,00
61 N500-0072 PLATE, SIDE SHELF SUPPORT F365/425 € 2,50
62 N710-0116 PAN, DRIP IR SD BRN LD4X/RSE525RSIB € 10,00
63 NO010-1496-GT IR SIDE BURNER SHELF F365/425 € 89,00
64 N570-0013 SCREW #8 X 5/8" ST.ST. PAN HD. PHIL. € 1,00
65 S83009 GRID, IR SIDE BURNER 365/425/525 € 47,95
66 N485-0021 PIN, HAIRPIN COTTER 2MM X 28MM (285) € 1,00
67 Z580-0003 PIVOT, SB LID 325/365/410/425/495/525 € 3,00
68 N357-0013 IGNITER, 1 SPARK -AAA 1.5V € 19,00
69 N325-0094-BKOTX-SER Handle door € 5,50
70 N105-0011 door bushing € 1,00
71 N655-0227 door bracket stiffener *
72 N080-0488-BK1SG door bracket pivot € 2,00
73 N080-0491-BK1SG door bracket magnet € 4,00
74  N430-0002 magnet door € 6,50
75 N570-0118 SCREW,1/4-20X3/8 HEX HD BLK ZINC TYPE23 € 1,00
76 NO080-0487-BK1TX bracket door corner € 6,50
77 N570-0038 SCRW,1/4-20 X1/2 STN STL HEX € 1,00
78 N475-0583-BK1SG cart panel back black € 21,00
79 S87022 set of 3 searplates € 31,50
80 N380-0049-BKOTX SMALL KNOB FREESTYLE SB/SIB € 2,00

N120-0046-BKOTX CAP, CONT PANEL END, LEFT F365/425 € 2,00

N120-0047-BKOTX CAP, CONT PANEL END, RIGHT F365/425 € 2,00

62050 KIT,MAINTENANCE JETFIRE BRUSH/BURNER KIT >

Pricing subject to change 197

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



O~NO O WN =

N NN N = = s s
A W20 WN-0O

25
26
27
28
30
31
32
33

34
35
37
40
41
43
44
45
46
47
48
49

Prices are recommended end-user prices

F425

N010-1535-GT
S91011
N385-0307-SER
N510-0013
N370-1089-SER
S83008

S87001

S87021
N520-0057-BK2GL
N710-0134-BK2GL
N710-0137-BK2GL
N010-1425-SER
N475-0091
N585-0172-BK1SG
N080-0482
N080-0483
N160-0051
N080-0472-BK1SG
N475-0557-BK1SG
N590-0337-BK1SG
N010-1501-SER
N010-1502-SER
N380-0048-BKOTX
N160-0045
N215-0027
N555-0097
N010-1426-GT-SER
N385-0441-SER
N370-1090-SER
N530-0032
N530-0033
N530-0034
N530-0035
N530-0036
N530-0037
N530-0038
N530-0039
N530-0042
N530-0043
N530-0046
N010-1538-GT-SER
N080-0422-BK-SER
N475-0582-GT1SG
N370-0845CE
N570-0118
N105-0021-BKOTX
N015-0014
Z450-0015
N120-0048-BKOTX
N745-0010-BKOTX
N272-0004-BKOTX
N272-0003-BKOTX
N120-0046-BKOTX
N120-0047-BKOTX
62050

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

ASSY, LID GRAPHITE F425 CE
GAUGE, TEMP FREESTYLE
NAPOLEON LOGO MILLED C/W CLIPS (2015)
BUMPER, RECTANGULAR BLK SILICONE
ASSY, PIVOT LID FREESTYLE

GRIDS, CAST IRON 425 SERIES

KIT, Burner/Sear Plate

BRACKET, CROSS LIGHT ROGUE F425
WARMING RACK, PORCELAIN F425

TRAY, GREASE F365/425

DRIP PAN, PORCELAIN F425

ASSY, BASE F425

MOUNT ROTISSERIE (ACCESSORY)

SHIELD, CE CART F425

BRACKET, FOLDING SHELF LEFT F365/425
BRACKET, FOLDING SHELF RIGHT F365/425
CLIP, FLEX LINE BASE, STEEL F365/425
BRACKET, GREASE TRAY CE F365/425
PANEL, CART LEFT/RIGHT F365/425

SHELF, CART BOTTOM F425 CE

ASSY, CONTROL PANEL F425/SB/SIB 30MBAR
ASSY, CONTROL PANEL F425/SB/SIB 50MBAR
KNOB, CONTROL LRG F365/425

CLIP, FLEX LINE, ADJUSTABLE

DEFLECTOR, DRIP PAN F365/425

ROD, LIGHTING MATCH, FIXED

ASSY, SIDE SHELF PLAIN RIGHT F365/425
ASSY, LOGO BADGE, FREESTYLE

ASSY, MOUNTING SIDE SHELF FREESTYLE
regulator -Germany

regulator -Holland

regulator -Spain/Finland/Norway/Denmark
regulator -Sweden

regulator -Italy

regulator -United Kingdom

regulator -France

regulator -Hungary

regulator -Switzerland

regulator -Russia

regulator -Czech Republic

ASSY, SIDE SHELF PLAIN LEFT F365/425
BOTTLE OPENER, BLACK F365/425

PANEL, CART FRONT F425

KIT, CE TANK TRAY CE

SCREW, 1/4-20X3/8 HEX HD BLK ZINC TYPE23
BUSHING, FREESTYLE CART AXLE

AXLE, CART, 8MM X 512MM F365/425

NGZ, NUT M8 BLK ZINC NYLOCK

HUB CAP,7IN FREESTYLE WHEEL

WHEEL, 7" FREESTYLE CART, 8mm/0.315” BORE
PLASTIC FOOT, BACK F365/425

PLASTIC FOOT, FRONT F365/425

CAP, CONT PANEL END, LEFT F365/425

CAP, CONT PANEL END, RIGHT F365/425
KIT,MAINTENANCE JETFIRE BRUSH/BURNER KIT

Pricing subject to change
** Please contact service desk for pricing

249,00
38,00
4,00
2,00
3,00
99,00
51,50
8,50
14,50
8,50
30,00
349,00
9,50
26,50
4,00
4,00
4,00
4,00
50,00
40,00
119,00
119,00
2,50
0,50
4,00
5,50
65,00
4,00
10,50
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
69,00
9,00
37,00
26,50
1,00
2,00
7,00
1,00
1,50
7,00
3,50
3,50
2,00
2,00

ay dh A A A oA oA odh A dh oA A A A Ay A dh A A A A A A D A A dh A A A A dh dh A A A oAb dh dh A A dh A A A A A dh A Ay A b

*
*

198
Effective January 1st, 2023



O~NO O WN =

e i )
O ~NO O~ WN-=O

19
20
21
23
24

25
26
27
28
29
30
31
32
33

35
37
40
41
43
44
45
46
47
48
49
50
51
52

Prices are recommended end-user prices

F425SB

N010-1535-GT
S91011
N385-0307-SER
N510-0013
N370-1089-SER
S83008

S87001

S87021
N520-0057-BK2GL
N710-0134-BK2GL
N710-0137-BK2GL
N010-1425-SER
N475-0091
N585-0172-BK1SG
N080-0482
N080-0483
N720-0055
N010-1529-30
N010-1529-50
N160-0051
N080-0472-BK1SG
N475-0557-BK1SG
N590-0337-BK1SG
N010-1501-SER
N010-1502-SER
N380-0048-BKOTX
N160-0045
N215-0027
N555-0097
N750-0106
N010-1426-GT-SER
N385-0441-SER
N370-1090-SER
N530-0032
N530-0033
N530-0034
N530-0035
N530-0036
N530-0037
N530-0038
N530-0039
N530-0042
N530-0043
N530-0046
N080-0422-BK-SER
N475-0582-GT1SG
N370-0845CE
N570-0118
N105-0021-BKOTX
N015-0014
Z450-0015
N120-0048-BKOTX
N745-0010-BKOTX
N272-0004-BKOTX
N272-0003-BKOTX
N010-1427-GT-SER
N010-1427-GT
Z305-0008

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

ASSY, LID GRAPHITE F425 CE
GAUGE, TEMP FREESTYLE
NAPOLEON LOGO MILLED C/W CLIPS (2015)
BUMPER, RECTANGULAR BLK SILICONE
ASSY, PIVOT LID FREESTYLE

GRIDS, CAST IRON 425 SERIES

KIT, Burner/Sear Plate

BRACKET, CROSS LIGHT ROGUE F425
WARMING RACK, PORCELAIN F425

TRAY, GREASE F365/425

DRIP PAN, PORCELAIN F425

ASSY, BASE F425

MOUNT ROTISSERIE (ACCESSORY)

SHIELD, CE CART F425

BRACKET, FOLDING SHELF LEFT F365/425
BRACKET, FOLDING SHELF RIGHT F365/425
TUBE,SIDE BURNR SUPPLY485/605/730
ASSY, MANIFOLD FLM SB F365/425 LPG 30MBAR
ASSY, MANIFOLD FLM SB F365/425 LPG 50MBAR
CLIP, FLEX LINE BASE, STEEL F365/425
BRACKET, GREASE TRAY CE F365/425
PANEL, CART LEFT/RIGHT F365/425

SHELF, CART BOTTOM F425 CE

ASSY, CONTROL PANEL F425/SB/SIB 30MBAR
ASSY, CONTROL PANEL F425/SB/SIB 50MBAR
KNOB, CONTROL LRG F365/425

CLIP, FLEX LINE, ADJUSTABLE

DEFLECTOR, DRIP PAN F365/425

ROD, LIGHTING MATCH, FIXED

WIRE, ELECTRODE FLM BRNR 12IN F365/425
ASSY, SIDE SHELF PLAIN RIGHT F365/425
ASSY, LOGO BADGE, FREESTYLE

ASSY, MOUNTING SIDE SHELF FREESTYLE
regulator -Germany

regulator -Holland

regulator -Spain/Finland/Norway/Denmark
regulator -Sweden

regulator -Italy

regulator -United Kingdom

regulator -France

regulator -Hungary

regulator -Switzerland

regulator -Russia

regulator -Czech Republic

BOTTLE OPENER, BLACK F365/425

PANEL, CART FRONT F425

KIT, CE TANK TRAY CE

SCREW,1/4-20X3/8 HEX HD BLK ZINC TYPE23
BUSHING, FREESTYLE CART AXLE

AXLE, CART, 8MM X 512MM F365/425

NGZ, NUT M8 BLK ZINC NYLOCK

HUB CAP,7IN FREESTYLE WHEEL

WHEEL, 7" FREESTYLE CART, 8mm/0.315” BORE
PLASTIC FOOT, BACK F365/425

PLASTIC FOOT, FRONT F365/425

ASSY, FLAME SIDE BURNER SHELF F365/425
FLAME SIDE BURNER SHELF F365/425

SIDE BURNER GRATE 325/410/425/495

Pricing subject to change
** Please contact service desk for pricing

249,00
38,00
4,00
2,00
3,00
99,00
51,50
8,50
14,50
8,50
30,00
349,00
9,50
26,50
4,00
4,00
12,50
29,50
29,50
4,00
4,00
50,00
40,00
119,00
119,00
2,50
0,50
4,00
5,50
2,50
65,00
4,00
10,50
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
9,00
37,00
26,50
1,00
2,00
7,00
1,00
1,50
7,00
3,50
3,50
169,00
79,00
10,50

aodh A A oA oA A dh A A D A A Ay A dh A A A A A A D A A dh A A A A A dh A A A A dh A A A A dh A A A A A dh A A A A A dh A oy

199
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

F425SB

Description

N100-0066 SIDE BURNER FREESTYLE € 13,50
55 N335-0099-GT1SG LID, SIDE BURNER GRAPHITE F365/425 € 17,00
56 Z325-0013 HANDLE, SB LID 325/365/410/425/495/525 € 1,00
57  Z430-0002 MAGNET, SB LID 325/365/410/425/495/525 € 1,00
60 N570-0082 SCREW, 1/4-20 X 5/8" STN STL HEX HD € 1,00
61 N500-0072 PLATE, SIDE SHELF SUPPORT F365/425 € 2,50
66 N485-0021 PIN, HAIRPIN COTTER 2MM X 28MM (285) € 1,00
67 Z580-0003 PIVOT, SB LID 325/365/410/425/495/525 € 3,00
68 N357-0013 IGNITER, 1 SPARK -AAA 1.5V € 19,00
80 N380-0049-BKOTX SMALL KNOB FREESTYLE SB/SIB € 2,00
N120-0046-BKOTX CAP, CONT PANEL END, LEFT F365/425 € 2,00
N120-0047-BKOTX CAP, CONT PANEL END, RIGHT F365/425 € 2,00
62050 KIT,MAINTENANCE JETFIRE BRUSH/BURNER KIT *
Pricing subject to change 200

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



O~NO O WN =

e i )
O ~NO O~ WN-=O

19
20
21
23
24

25
26
27
28
29
30
31
32
33

35
37
40
41
43
44
45
46
47
48
49
54
55
56

Prices are recommended end-user prices

F425SIB

N010-1535-GT
S91011
N385-0307-SER
N510-0013
N370-1089-SER
S83008

S87001

S87021
N520-0057-BK2GL
N710-0134-BK2GL
N710-0137-BK2GL
N010-1425-SER
N475-0091
N585-0172-BK1SG
N080-0482
N080-0483
N720-0055
N010-1537-30
N010-1537-50
N160-0051
N080-0472-BK1SG
N475-0557-BK1SG
N590-0337-BK1SG
N010-1501-SER
N010-1502-SER
N380-0048-BKOTX
N160-0045
N215-0027
N555-0097
N750-0107
N010-1426-GT-SER
N385-0441-SER
N370-1090-SER
N530-0032
N530-0033
N530-0034
N530-0035
N530-0036
N530-0037
N530-0038
N530-0039
N530-0042
N530-0043
N530-0046
N080-0422-BK-SER
N475-0582-GT1SG
N370-0845CE
N570-0118
N105-0021-BKOTX
N015-0014
Z450-0015
N120-0048-BKOTX
N745-0010-BKOTX
N272-0004-BKOTX
N272-0003-BKOTX
N010-1496-GT-SER
N335-0099-GT1SG
Z325-0013

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

ASSY, LID GRAPHITE F425 CE
GAUGE, TEMP FREESTYLE
NAPOLEON LOGO MILLED C/W CLIPS (2015)
BUMPER, RECTANGULAR BLK SILICONE
ASSY, PIVOT LID FREESTYLE

GRIDS, CAST IRON 425 SERIES

KIT, Burner/Sear Plate

BRACKET, CROSS LIGHT ROGUE F425
WARMING RACK, PORCELAIN F425

TRAY, GREASE F365/425

DRIP PAN, PORCELAIN F425

ASSY, BASE F425

MOUNT ROTISSERIE (ACCESSORY)

SHIELD, CE CART F425

BRACKET, FOLDING SHELF LEFT F365/425
BRACKET, FOLDING SHELF RIGHT F365/425
TUBE,SIDE BURNR SUPPLY485/605/730

ASSY MANIFOLD IR SB F365 425 LPG 30 MBAR
ASSY MANIFOLD IR SB F365 425 LPG 50 MBAR
CLIP, FLEX LINE BASE, STEEL F365/425
BRACKET, GREASE TRAY CE F365/425
PANEL, CART LEFT/RIGHT F365/425

SHELF, CART BOTTOM F425 CE

ASSY, CONTROL PANEL F425/SB/SIB 30MBAR
ASSY, CONTROL PANEL F425/SB/SIB 50MBAR
KNOB, CONTROL LRG F365/425

CLIP, FLEX LINE, ADJUSTABLE

DEFLECTOR, DRIP PAN F365/425

ROD, LIGHTING MATCH, FIXED

WIRE, ELECTRODE IR BRNR 20IN F365/425
ASSY, SIDE SHELF PLAIN RIGHT F365/425
ASSY, LOGO BADGE, FREESTYLE

ASSY, MOUNTING SIDE SHELF FREESTYLE
regulator -Germany

regulator -Holland

regulator -Spain/Finland/Norway/Denmark
regulator -Sweden

regulator -Italy

regulator -United Kingdom

regulator -France

regulator -Hungary

regulator -Switzerland

regulator -Russia

regulator -Czech Republic

BOTTLE OPENER, BLACK F365/425

PANEL, CART FRONT F425

KIT, CE TANK TRAY CE

SCREW,1/4-20X3/8 HEX HD BLK ZINC TYPE23
BUSHING, FREESTYLE CART AXLE

AXLE, CART, 8MM X 512MM F365/425

NGZ, NUT M8 BLK ZINC NYLOCK

HUB CAP,7IN FREESTYLE WHEEL

WHEEL, 7" FREESTYLE CART, 8mm/0.315” BORE
PLASTIC FOOT, BACK F365/425

PLASTIC FOOT, FRONT F365/425

ASSY, IR SIDE BURNER SHELF F365/425

LID, SIDE BURNER GRAPHITE F365/425
HANDLE, SB LID 325/365/410/425/495/525

Pricing subject to change
** Please contact service desk for pricing

249,00
38,00
4,00
2,00
3,00
99,00
51,50
8,50
14,50
8,50
30,00
349,00
9,50
26,50
4,00
4,00
12,50
29,50
29,50
4,00
4,00
50,00
40,00
119,00
119,00
2,50
0,50
4,00
5,50
2,50
65,00
4,00
10,50
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
9,00
37,00
26,50
1,00
2,00
7,00
1,00
1,50
7,00
3,50
3,50
249,00
17,00
1,00

ay dh A A oA oA Ay A dh oA A oA A A A dh A A A A A A D A A dh A A A A A dh A A A A dh A A A A dh A A A A A dh A A A A A dh A Ay

201
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

F425SIB

Description

Z430-0002 MAGNET, SB LID 325/365/410/425/495/525 € 1,00
58 S81004 BURNER, IR SIDE ROGUE 365/425/525/625 € 79,00
59 N240-0037 ELECTRODE, SIDE BURNER IR 365/425/525 € 5,50
60 N570-0082 SCREW, 1/4-20 X 5/8" STN STL HEX HD € 1,00
61 N500-0072 PLATE, SIDE SHELF SUPPORT F365/425 € 2,50
62 N710-0116 PAN, DRIP IR SD BRN LD4X/RSE525RSIB € 10,00
63 NO10-1496-GT IR SIDE BURNER SHELF F365/425 € 89,00
64 N570-0013 SCREW #8 X 5/8" ST.ST. PAN HD. PHIL. € 1,00
65 S83009 GRID, IR SIDE BURNER 365/425/525 € 47,95
66 N485-0021 PIN, HAIRPIN COTTER 2MM X 28MM (285) € 1,00
67 Z580-0003 PIVOT, SB LID 325/365/410/425/495/525 € 3,00
68 N357-0013 IGNITER, 1 SPARK -AAA 1.5V € 19,00
80 N380-0049-BKOTX SMALL KNOB FREESTYLE SB/SIB € 2,00

N120-0046-BKOTX CAP, CONT PANEL END, LEFT F365/425 € 2,00

N120-0047-BKOTX CAP, CONT PANEL END, RIGHT F365/425 € 2,00

62050 KIT,MAINTENANCE JETFIRE BRUSH/BURNER KIT *

Pricing subject to change 202

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



[o>NN& BN VRN V)

@ ~

10
11
12
13
14
15
16
17
18

19
20
21

23

24

25
26
27
28
29
30

31
32
33

35
38

40
41
43

Prices are recommended end-user prices

F425DSIB

N010-1535-GT
N010-1535-PHM
S$91011
N385-0307-SER
N510-0013
N370-1089-SER
S83008

S83043

S87001

S87021
N520-0057-BK2GL
71501
N710-0134-BK2GL
N710-0137-BK2GL
N010-1425-SER
N475-0091
N585-0172-BK1SG
N080-0482
N080-0483
N720-0055
N010-1537-30
N010-1537-50
N160-0051
N080-0472-BK1SG
N475-0557-BK1SG
N475-0557-BK1TX
N590-0337-BK1SG
N590-0337-BK1TX
N010-1501-SER
N010-1502-SER
N010-1647-SER
N010-1648-SER
N380-0048-BKOTX
N160-0045
N215-0027
N555-0097
N750-0107
N010-1426-GT-SER
N010-1426-BX-SER
N385-0441-SER
N370-1090-SER
N530-0032
N530-0033
N530-0034
N530-0035
N530-0036
N530-0037
N530-0038
N530-0039
N530-0042
N530-0043
N530-0046
N080-0422-BK-SER
NO010-1495-GT-SER
N010-1495-BX
N370-0845CE
N570-0118
N105-0021-BKOTX

Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Description

ASSY, LID GRAPHITE F425 CE
ASSY, LID SEMI GLOSS BLACK F425 CE

GAUGE, TEMP FREESTYLE

NAPOLEON LOGO MILLED C/W CLIPS (2015)

BUMPER, RECTANGULAR BLK SILICONE

ASSY, PIVOT LID FREESTYLE

GRIDS, CAST IRON 425 SERIES

GRIDS, STAINLESS STEEL 425 SERIES

KIT, Burner/Sear Plate

BRACKET, CROSS LIGHT ROGUE F425

WARMING RACK, PORCELAIN F425

multifunctional warming rack

TRAY, GREASE F365/425

DRIP PAN, PORCELAIN F425

ASSY, BASE F425

MOUNT ROTISSERIE (ACCESSORY)

SHIELD, CE CART F425

BRACKET, FOLDING SHELF LEFT F365/425

BRACKET, FOLDING SHELF RIGHT F365/425

TUBE,SIDE BURNR SUPPLY485/605/730

ASSY MANIFOLD IR SB F365 425 LPG 30 MBAR

ASSY MANIFOLD IR SB F365 425 LPG 50 MBAR

CLIP, FLEX LINE BASE, STEEL F365/425

BRACKET, GREASE TRAY CE F365/425

PANEL, CART LEFT/RIGHT - BLACK

PANEL, CART LEFT/RIGHT - SEMI GLOSS BLACK

SHELF, CART BOTTOM CE BLACK

SHELF, CART BOTTOM CE SEMI GLOSS BLACK

ASSY, CONTROL PANEL F425/SB/SIB 30MBAR - GRAPHITE
ASSY, CONTROL PANEL F425/SB/SIB 50MBAR - GRAPHITE
ASSY, CONTROL PANEL F425/SB/SIB 30MBAR - SEMI GLOSS BLACK
ASSY, CONTROL PANEL F425/SB/SIB 50MBAR - SEMI GLOSS BLACK
KNOB, CONTROL LRG F365/425

CLIP, FLEX LINE, ADJUSTABLE

DEFLECTOR, DRIP PAN F365/425

ROD, LIGHTING MATCH, FIXED

WIRE, ELECTRODE IR BRNR 20IN F365/425

ASSY, SIDE SHELF PLAIN RIGHT F365/425 - GRAPHITE
ASSY, SIDE SHELF PLAIN RIGHT F365/425 - SEMI GLOSS BLACK
ASSY, LOGO BADGE, FREESTYLE

ASSY, MOUNTING SIDE SHELF FREESTYLE

regulator -Germany

regulator -Holland

regulator -Spain/Finland/Norway/Denmark

regulator -Sweden

regulator -ltaly

regulator -United Kingdom

regulator -France

regulator -Hungary

regulator -Switzerland

regulator -Russia

regulator -Czech Republic

BOTTLE OPENER, BLACK F365/425

ASSEMBLY DOOR GRAPHITE

DOOR SEMI GLOSS BLACK

KIT, CE TANK TRAY CE

SCREW, 1/4-20X3/8 HEX HD BLK ZINC TYPE23

BUSHING, FREESTYLE CART AXLE

Pricing subject to change
** Please contact service desk for pricing

249,00
249,00
38,00
4,00
2,00
3,00
99,00
159,00
51,50
8,50
14,50
119,00
8,50
30,00
349,00
9,50
26,50
4,00
4,00
12,50
29,50
29,50
4,00
4,00
50,00
50,00
40,00
50,00
119,00
119,00
125,00
125,00
2,50
0,50
4,00
5,50
2,50
65,00
65,00
4,00
10,50
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
9,00
85,00
75,00
26,50
1,00
2,00

a odh A A oA dh o odh oA DA A A A A dh A A A A dh A A A A A dh A A A A dh A A A A dh A A A A dh A A D A A dh oAy A D

203
Effective January 1st, 2023



44
45
46
47
48
49
54

55

56
57
58
59
60
61
62
63

64
65

66
67
68
69
70
71
72
73
74
75
76
7
78

7
80

Prices are recommended end-user prices

F425DSIB

N015-0014
Z450-0015
N120-0048-BKOTX
N745-0010-BKOTX
N272-0004-BKOTX
N272-0003-BKOTX
N010-1496-GT-SER
N010-1496-BX-SER
N335-0099-GT1SG
N335-0099-BK1TX
Z7325-0013
Z430-0002

S$81004

N240-0037
N570-0082
N500-0072
N710-0116
N010-1496-GT
N010-1496-BX
N570-0013

S83009

S$83025

N485-0021
Z580-0003
N357-0013

N325-0094-BKOTX-SER

N105-0011
N655-0227
N080-0488-BK1SG
N080-0491-BK1SG
N430-0002
N570-0118
N080-0487-BK1TX
N570-0038
N475-0584-BK1SG
N475-0584-BK1TX
S87023
N380-0049-BKOTX
N120-0046-BKOTX
N120-0047-BKOTX
62050

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

AXLE, CART, 8MM X 512MM F365/425

NGZ, NUT M8 BLK ZINC NYLOCK

HUB CAP,7IN FREESTYLE WHEEL

WHEEL, 77 FREESTYLE CART, 8mm/0.315” BORE
PLASTIC FOOT, BACK F365/425

PLASTIC FOOT, FRONT F365/425

ASSY, IR SIDE BURNER SHELF GRAPHITE
ASSY, IR SIDE BURNER SHELF SEMI GLOSS BLACK
LID, SIDE BURNER GRAPHITE F365/425

LID, SIDE BURNER SEMI GLOSS BLACK F365/425
HANDLE, SB LID 325/365/410/425/495/525
MAGNET, SB LID 325/365/410/425/495/525
BURNER, IR SIDE ROGUE 365/425/525/625
ELECTRODE, SIDE BURNER IR 365/425/525
SCREW, 1/4-20 X 5/8" STN STL HEX HD

PLATE, SIDE SHELF SUPPORT F365/425

PAN, DRIP IR SD BRN LD4X/RSE525RSIB

IR SIDE BURNER SHELF GRAPHITE

IR SIDE BURNER SHELF SEMI GLOSS BLACK
SCREW #8 X 5/8" ST.ST. PAN HD. PHIL.

GRID, IR SIDE BURNER 365/425/525

GRID, IR SIDE BURNER STAINLESS STEEL 365/425/525
PIN, HAIRPIN COTTER 2MM X 28MM (285)
PIVOT, SB LID 325/365/410/425/495/525

IGNITER, 1 SPARK -AAA 1.5V

Handle door

door bushing

door bracket stiffener

door bracket pivot

door bracket magnet

magnet door

SCREW,1/4-20X3/8 HEX HD BLK ZINC TYPE23
bracket door corner

SCRW,1/4-20 X1/2 STN STL HEX

cart panel back black

cart panel back semi gloss black

set of 4 searplates

SMALL KNOB FREESTYLE SB/SIB

CAP, CONT PANEL END, LEFT F365/425

CAP, CONT PANEL END, RIGHT F365/425
KIT,MAINTENANCE JETFIRE BRUSH/BURNER KIT

Pricing subject to change
** Please contact service desk for pricing

7,00
1,00
1,50
7,00
3,50
3,50
249,00
249,00
17,00
21,00
1,00
1,00
79,00
5,50
1,00
2,50
10,00
89,00
89,00
1,00
47,95
68,95
1,00
3,00
19,00
5,50
1,00

oAy day dh dy dh A ody dh dh Ay A dh dh A ody dh dh dh A dh dh A dh b dh dh b

2,00
4,00
6,50
1,00
6,50
1,00
42,00
42,00
35,00
2,00
2,00
2,00

oAy dh dh day Ay dh dh dh dh Ay A b

204
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Notes

Pricing subject to change 205
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

T495SB

Pricing subject to change 206
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

T495SB
Description
1 Z135-0001 lid side casting left € 52,50
2 Z135-0002 lid side casting right € 52,50
3 Z335-0003K lid insert- black € 99,00
5 Z010-0005-SER lid handle assembly € 52,50
6 Z080-0001-GY1SG end cover >
7  Z580-0001 lid pivot screw € 1,50
8 N510-0013 black silicone lid bumper € 2,00
9 N685-0006 temperature gauge € 26,50
10 N385-0307-SER NAPOLEON logo € 4,00
11 W450-0005 nut,spring 3/16 stud size (logo) >
12 N570-0038 nut, 1/4-20 € 1,00
13 N735-0003 washer, lock 1/4 stn stl € 1,00
14 N570-0091 screw,1/4-20 x 1/2" sharp hx wsh € 1,00
15 N570-0078 screw, M4 x 8mm pan hd phil zinc € 1,00
16 Z010-0025 base assembly € 179,00
17  Z035-0011 base back cover € 19,00
18 Z475-0013SB control panel € 52,50
19 Z585-0006 base heat shield € 14,50
20 Z080-0015-M01 cross light bracket € 12,50
21 Z710-0003-M05 drip pan € 75,00
22 Z305-0009 sear plate € 26,50
24 7Z305-0003K cooking grid € 42,00
25 Z305-0005K cooking grid small € 26,50
26 Z305-0007 warming rack € 26,50
27 N105-0001 bushing plastic 0.875" hole € 1,00
28 Z010-0022SBP-30 manifold assembly 30mbar € 99,00
Z010-0022SBP-37 manifold assembly 37mbar € 99,00
Z010-0022SBP-50 manifold assembly 50mbar € 115,00
29 Z720-0003 side burner supply tube #N/B
30 Z455-0001-30 side burner orifice 30mbar € 3,50
Z455-0001-37 side burner orifice 37mbar € 4,00
Z455-0001-50 side burner orifice 50mbar € 4,00
31 N160-0023 side burner supply clip € 1,00
32 N750-0016 wire, 28" i.r. burner/sbrn lead € 4,00
33 N720-0044 manifold flex connector € 14,50
34 N255-0027 fitting 3/8 flare to 1/2" pipe € 5,50
N255-0014 adaptor fitting- de- nl € 5,50
36 N530-0032 regulator-0.9m hose-de € 25,00
N530-0033 regulator-0.9m hose-nl € 25,00
N530-0034 regulator-0.9m hose-sp/fin € 25,00
N530-0035 regulator-0.9m hose-swe € 25,00
N530-0036 regulator-0.9m hose-it/gr € 25,00
N530-0037 regulator-0.9m hose-uk € 25,00
N530-0038 regulator-0.9m hose-fr € 25,00
N530-0043 regulator-0.9m hose-rus € 25,00
N530-0044 regulator-0.9m hose-pol € 25,00
N530-0046 regulator-0.9m hose-cz/cro/slo € 25,00
37 Z100-0003-50 main burner all triumph € 17,00
38 NO051-0011 control knob bezel large € 3,00
39 N380-0021-BL control knob- large € 8,50
Pricing subject to change 207

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



40
41
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
61
62
63
65
66
67
68
69
70
71
72
73
74
75
76
77
78
79
80
82
84
85
86
87
88
89
90

Prices are recommended end-user prices

T495SB

Z080-0013

62007

N080-0284
N080-0285
N570-0021
N570-0104
N570-0101
N450-0039
Z476-0001-GY1SG-SER
Z476-0007-GY1SG
Z010-0012-GY1SG
Z130-0002
Z655-0003-GY1SG
Z010-0015-SS
N555-0036
N105-0011
N430-0002
Z080-0012
N555-0025
N105-0012
Z570-0027
N570-0042
Z590-0004
N120-0018-GYOTX
Z710-0004
7585-0007-GY1SG
Z120-0005-GY1HT
Z010-0027
Z335-0007
Z580-0003
Z485-0001
Z100-0002
Z305-0008
Z120-0004-GY1HT
Z325-0013
N385-0239-SER
Z450-0009
Z035-0012-M05
Z035-0013-M05
Z720-0004
Z7255-0002
N051-0012
N380-0020-BL
Z010-0028
Z370-0019
Z010-0031

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

grease tray holder
replacement grease trays (5)
bracket side shelf a

bracket side shelf b

screw #8 x 1/2"

screw 1/4-20 x 3/8 ss

10-24 x 3/8" stn stl advert
nut, 10-24 post pivot

cart side panel

cart back panel

cart bottom assembly

caster 3"

cart front beam

door assembly stainless steel
door pivot rod

door bushing

magnetic catch

bottle opener

lighting rod

shap bushing

ngz screw, 1/4-20 x3/8 hex hd zinc
scrw,10-24 x 3/8 rnd hd philip ss
side shelf

end cap side shelf

side burner plate

heat shield

control panel end cap- left
side burner shelf

side burner lid handle

side burner lid pivot rod
clevis pin

side burner

side burner grate

control panel end cap- right
side burner lid handle
triumph logo

nut, 10-24 stainless steel
base insert left

base insert right

side burner hose

fitting, bulkhead and nut sb
control knob bezel small
control knob small

assy bracket shelf safety lock
hardware baggie

lid assembly- black

Pricing subject to change
** Please contact service desk for pricing

4,00

*
*

9,50
9,50
1,00
1,00
1,00
2,00
73,50
52,50
63,00
7,50
19,00
99,00
4,00
1,00
6,50
7,50
3,00
1,00
1,00
1,00
84,00
19,00
19,00
14,50
9,50
99,00
37,00
3,00
1,00
17,00
10,50
9,50
1,00
8,50
1,00
31,50
31,50
12,50
6,50
4,00
7,50
9,50
19,00
229,00

an dy ah dh A dh A A oA A dh A A A A dh dh A A A oAb dh dh A A A oAb dh dh A A dh A A D A A dh A Ay D oAb

208
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Notes

Pricing subject to change 209
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

T410SB

Pricing subject to change 210
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

T410SB
Description
1 Z135-0001 lid side casting left € 52,50
2 Z135-0002 lid side casting right € 52,50
3 Z335-0002K lid insert- black € 73,50
5 Z010-0003-SER lid handle assembly € 42,00
6 Z080-0001-GY1SG end cover >
7  Z580-0001 lid pivot screw € 1,50

8 N510-0013 black silicone lid bumper € 2,00

9 N685-0006 temperature gauge € 26,50

10 N385-0129 NAPOLEON logo >

11 W450-0005 nut,spring 3/16 stud size (logo) >

12 N570-0038 nut, 1/4-20 € 1,00

13 N735-0003 washer, lock 1/4 stn stl € 1,00

14 N570-0091 screw,1/4-20 x 1/2" sharp hx wsh € 1,00

15 N570-0078 screw, M4 x 8mm pan hd phil zinc € 1,00

16 Z010-0024 base assembly >

17 Z035-0008 base back cover € 14,50

18 Z475-0012SB control panel >

19 Z585-0004 base heat shield € 19,00

20 Z080-0014-M01 cross light bracket € 12,50

21 Z710-0002-M05 drip pan € 65,00

22 Z305-0009 sear plate € 26,50

24 7Z305-0003K cooking grid € 42,00

25 Z305-0005K cooking grid small € 26,50

26 Z305-0006 warming rack € 26,50

27 N105-0001 bushing plastic 0.875" hole € 1,00

28 Z010-0021SBP-37 manifold assembly 37mbar € 84,00
Z010-0021SBP-50 manifold assembly 50mbar € 95,00

29 Z720-0003 side burner supply tube *

30 Z455-0001-30 side burner orifice 30mbar € 3,50
Z455-0001-37 side burner orifice 37mbar € 4,00
Z455-0001-50 side burner orifice 50mbar € 4,00

31 N160-0023 side burner supply clip € 1,00

32 N750-0016 wire, 28" i.r. burner/sbrn lead € 4,00

33 N720-0044 manifold flex connector € 14,50

34 N255-0027 fitting 3/8 flare to 1/2" pipe € 5,50
N255-0014 adaptor fitting- de- nl € 5,50

36 N530-0032 regulator-0.9m hose-de € 25,00
N530-0033 regulator-0.9m hose-nl € 25,00
N530-0034 regulator-0.9m hose-sp/fin € 25,00
N530-0035 regulator-0.9m hose-swe € 25,00
N530-0036 regulator-0.9m hose-it/gr € 25,00
N530-0037 regulator-0.9m hose-uk € 25,00
N530-0038 regulator-0.9m hose-fr € 25,00
N530-0043 regulator-0.9m hose-rus € 25,00
N530-0044 regulator-0.9m hose-pol € 25,00
N530-0046 regulator-0.9m hose-cz/cro/slo € 25,00

37 Z100-0003-50 main burner all triumph € 17,00

38 NO051-0011 control knob bezel large € 3,00

39 N380-0021-BL control knob- large € 8,50

Pricing subject to change 211

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



40
41
43
44
45
46
47
48
49
50
51
52
53
54

55
56
57
61
62
63
65
66
67
68
69
70
71
72
73
74
75
76
77
78
79
80
82
84
85
86
87
88
89
90

Prices are recommended end-user prices

T410SB

Z080-0013

62007

N080-0284
N080-0285
N570-0021
N570-0104
N570-0101
N450-0039
Z476-0001-GY1SG-SER
Z476-0005-GY1SG
Z010-0011-GY1SG
Z130-0002
Z7655-0002-GY1SG
Z010-0014-SS
Z370-0058-DE
N555-0036
N105-0011
N430-0002
Z080-0012
N555-0025
N105-0012
Z570-0027
N570-0042
Z590-0004
N120-0018-GY0OTX
Z710-0004
Z585-0007-GY1SG
Z120-0005-GY1HT
Z010-0027
Z335-0007
Z580-0003
Z485-0001
Z100-0002
Z305-0008
Z120-0004-GY1HT
Z2325-0013
N385-0239-SER
Z450-0009
Z035-0012-M05
Z035-0013-M05
Z720-0004
2255-0002
N051-0012
N380-0020-BL
Z010-0028
Z370-0019
Z010-0030

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

grease tray holder
replacement grease trays (5)
bracket side shelf a

bracket side shelf b

screw #8 x 1/2"

screw 1/4-20 x 3/8 ss

10-24 x 3/8" stn stl advert
nut, 10-24 post pivot

cart side panel

cart back panel

cart bottom assembly

caster 3"

cart front beam

door assembly stainless steel
kit, doors black T410

door pivot rod

door bushing

magnetic catch

bottle opener

lighting rod

shap bushing

ngz screw, 1/4-20 x3/8 hex hd zinc
scrw,10-24 x 3/8 rnd hd philip ss
side shelf

end cap side shelf

side burner plate

heat shield

control panel end cap- left
side burner shelf

side burner lid handle

side burner lid pivot rod
clevis pin

side burner

side burner grate

control panel end cap- right
side burner lid handle
triumph logo

nut, 10-24 stainless steel
base insert left

base insert right

side burner hose

fitting, bulkhead and nut sb
control knob bezel small
control knob small

assy bracket shelf safety lock
hardware baggie

lid assembly- black

Pricing subject to change
** Please contact service desk for pricing

4,00

*
*

9,50
9,50
1,00
1,00
1,00
2,00
73,50
37,00
52,50
7,50

O ONONOWONOWONONONO!

95,00
99,00
4,00
1,00
6,50
7,50
3,00
1,00
1,00
1,00
84,00
19,00
19,00
14,50
9,50
99,00
37,00
3,00
1,00
17,00
10,50
9,50
1,00
8,50
1,00
31,50
31,50
12,50
6,50
4,00
7,50
9,50
19,00
209,00

an dh dah ah o dh dh dh A A A oAb dh dh A A A A dh A A A A oAb dh dh AN A A dh dh dh b A D

212
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Notes

Pricing subject to change 213
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Pricing subject to change 214
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

T325SB
Description
1 Z135-0001 lid side casting left € 52,50
2 Z135-0002 lid side casting right € 52,50
3 Z335-0001K lid insert- black € 63,00
5 Z010-0001-SER lid handle assembly € 19,00
6 Z080-0001-GY1SG end cover >
7  Z580-0001 lid pivot screw € 1,50
8 N510-0013 black silicone lid bumper € 2,00
9 N685-0006 temperature gauge € 26,50
10 N385-0129-SER NAPOLEON logo € 10,50
11 W450-0005 nut,spring 3/16 stud size (logo) >
12 N570-0038 nut, 1/4-20 € 1,00
13 N735-0003 washer, lock 1/4 stn stl € 1,00
14 N570-0091 screw,1/4-20 x 1/2" sharp hx wsh € 1,00
15 N570-0078 screw, M4 x 8mm pan hd phil zinc € 1,00
16 Z010-0023 base assembly € 99,00
17 Z035-0005 base back cover € 14,50
18 Z475-0011SB control panel € 42,00
19 Z585-0002 base heat shield € 17,00
20 Z080-0002-M01 cross light bracket € 14,50
21 Z710-0001-M05 drip pan € 55,00
22 Z305-0009 sear plate € 26,50
24 7Z305-0003K cooking grid € 42,00
26 Z305-0004 warming rack € 21,00
27 N105-0001 bushing plastic 0.875" hole € 1,00
28 Z010-0020SBP-30 manifold assembly 30mbar € 73,50
Z010-0020SBP-37 manifold assembly 37mbar € 73,50
Z010-0020SBP-50 manifold assembly 50mbar € 73,50
29 Z720-0003 side burner supply tube #N/B
30 Z455-0001-30 side burner orifice 30mbar € 3,50
Z455-0001-37 side burner orifice 37mbar € 4,00
Z455-0001-50 side burner orifice 50mbar € 4,00
31 N160-0023 side burner supply clip € 1,00
32 N750-0016 wire, 28" i.r. burner/sbrn lead € 4,00
33 N720-0044 manifold flex connector € 14,50
34 N255-0027 fitting 3/8 flare to 1/2" pipe € 5,50
N255-0014 adaptor fitting- de- nl € 5,50
36 N530-0032 regulator-0.9m hose-de € 25,00
N530-0033 regulator-0.9m hose-nl € 25,00
N530-0034 regulator-0.9m hose-sp/fin € 25,00
N530-0035 regulator-0.9m hose-swe € 25,00
N530-0036 regulator-0.9m hose-it/gr € 25,00
N530-0037 regulator-0.9m hose-uk € 25,00
N530-0038 regulator-0.9m hose-fr € 25,00
N530-0043 regulator-0.9m hose-rus € 25,00
N530-0044 regulator-0.9m hose-pol € 25,00
N530-0046 regulator-0.9m hose-cz/cro/slo € 25,00
37 Z100-0003-50 main burner all triumph € 17,00
38 N051-0011 control knob bezel large € 3,00
39 N380-0021-BL control knob- large € 8,50
40 Z080-0013 grease tray holder € 4,00
Pricing subject to change 215

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



41
43
44
45
46
47
48
49
50
51
52
53
54
56
57
61
62
63
65
66
67
68
69
70
71
72
73
74
75
76
77
78
79
80
81
82
83
84
85
86
87
88
89
90

Prices are recommended end-user prices

T325SB

62007

N080-0284
N080-0285
N570-0021
N570-0104
N570-0101
N450-0039
Z476-0001-GY1SG-SER
Z476-0002-GY1SG
Z010-0010-GY1SG
Z130-0002
2655-0001-GY1SG
Z010-0026
N105-0011
N430-0002
Z080-0012
N555-0025
N105-0012
Z570-0027
N570-0042
Z590-0004
N120-0018-GYOTX
Z710-0004
7585-0007-GY1SG
Z120-0005-GY1HT
Z010-0027
Z335-0007
Z580-0003
Z485-0001
Z100-0002
Z305-0008
Z120-0004-GY1HT
Z325-0013
N385-0239-SER
N105-0015
Z450-0009
N325-0049
Z035-0012-M05
Z035-0013-M05
Z720-0004
Z255-0002
N051-0012
N380-0020-BL
Z010-0028
Z370-0019
Z010-0029

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

replacement grease trays (5)
bracket side shelf a

bracket side shelf b

screw #8 x 1/2"

screw 1/4-20 x 3/8 ss

10-24 x 3/8" stn stl advert
nut, 10-24 post pivot

cart side panel

cart back panel

cart bottom assembly

caster 3"

cart front beam

door assembly stainless steel
door bushing

magnetic catch

bottle opener

lighting rod

shap bushing

screw, 1/4-20 x3/8 hex hd zinc
screw,10-24 x 3/8 rnd hd philip ss
side shelf

end cap side shelf

side burner plate

heat shield

control panel end cap- left
side burner shelf

side burner lid handle

side burner lid pivot rod
clevis pin

side burner

side burner grate

control panel end cap- right
side burner lid handle
triumph logo

bushing

nut, 10-24 stainless steel
door handle

base insert left

base insert right

side burner hose

fitting, bulkhead and nut sb
control knob bezel small
control knob small

assy bracket shelf safety lock
hardware baggie

lid assembly- black

Pricing subject to change
** Please contact service desk for pricing

9,50
9,50
1,00
1,00
1,00
2,00
73,50
31,50
52,50
7,50
14,50
149,00
1,00
6,50
7,50
3,00
1,00
1,00
1,00
84,00
19,00
19,00
14,50
9,50
99,00
37,00
3,00
1,00
17,00
10,50
9,50
1,00
8,50
1,00
1,00
10,50
31,50
31,50
12,50
6,50
4,00
7,50
9,50
19,00
199,00

an dh ah dh A dh A A oA A dh A A A A A dh A A A A A dh A A A A dh dh A A oAb dh A AN A A oAb dh dh A A D

216
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Notes

Pricing subject to change 217
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

TQ240

Pricing subject to change 218
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Pricing subject to change 219
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Item Part # Description

1 NO10-1509-BK-SER assembly lid black € 179,00
2 N305-0137-BK2FL cast iron cooking grid left € 37,00
3  N305-0138-BK2FL cast iron cooking grid right € 37,00
4 NO10-1512-SER assembly handle top € 21,00
5 NO010-1511-SER assembly burner € 31,50
6 NO010-1510-BK-SER assembly base black € 120,00
7 NO010-1513-SER assembly handle bottom € 21,00
8 NO010-1646-SER assembly control panel € 95,00
9 NO010-1514-SER assembly leg € 10,50
10 N710-0079 drip pan € 17,00
11 N380-0042-BK small knob € 11,50
12 N555-0097 lighting rod € 5,50
13  N160-0052 tank clip € 17,00
14 N570-0140 screw m5 x 12 € 2,00
15 N450-0054 nut mb € 2,00
16 N720-0089 flex hose manifold € 8,50

N530-0040 regulator with hose 30mbar € 40,00

N530-0041 regulator with hose 50mbar € 40,00

Pricing subject to change 220

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Notes

Pricing subject to change 221
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

PRO285X PHANTOM

222

Effective January 1st, 2023

Pricing subject to change
** Please contact service desk for pricing

Prices are recommended end-user prices



T o0 N O b WN =

= A
BN

15
16
17
18
19
20
20
21
22
28
24
25
26
27
28
29
30
il
32
S8
34
85
36
37
38
S9
40
41

Prices are recommended end-user prices

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

PRO285X PHANTOM

N325-0085-BK1FL
N120-0023
Z570-0036
N325-0086-BK1FL
N120-0022
N120-0021
N570-0013
N590-0237
N570-0076
N570-0111
N010-0804-BK1FL
N160-0017
N010-0805-BK1FL
N525-0047-BK1SG
N530-0032
N530-0033
N530-0037
N530-0046
N530-0034
N530-0034
N530-0038
N530-0035
N530-0036
N530-0044
N530-0043
N080-0356-BK1SG
N570-0086
N135-0045-BK1HT
N570-0104
N475-0319
N010-0825
N010-0773
N570-0078
N585-0089-BK1HT
N380-0042-BK
N200-0109-BK1HT
N200-0108-BK1HT
N710-0079
N010-0821
N010-0822
N570-0073
Z570-0033
N100-0047
N100-0046
N655-0158-BK1HT
N655-0159-BK1HT
Z570-0029
N325-0082
N485-0023
N485-0021
N080-0302
N305-0087-BK2FL
N305-0088-BK2FL

Description

cart handle, matte black
nylon cap

1/4-20 x 7/8” screw

cart shelf handle, matte black
left self cap

right shelf cap

#8 X 5/8” screw

scissor cart shelf

#8 x 1/2” screw

#14 x 1 1/4” screw

front cart beam, matte black
flex line clip

rear cart beam, matte black
sliding track rail

regulator hose DE
regulator hose NL

regulator hose UK
regulator hose CZ
regulator hose DK
regulator hose NO, Fl, ES
regulator hose FR
regulator hose SE

regulator hose IT

regulator hose PL

regulator hose RU

hose mount fitting adapter bracket
#14 x 1/2” screw

base

10-24 x 3/8” screw

control panel

manifold 50mbar (DE)
manifold 30mbar (CE)
10-24 x 3/8” screw

control panel heat shield
control knob, black

right leg cover

left leg cover

drip pan

left drip pan bracket

right drip pan bracket
1/4-20 x 3/8” screw

10-24 x 12mm screw

right burner

left burner

left bottom support handle, matte black
right bottom support handle, matte black
10-24 x 35mm screw
top/bottom handle

clevis pin

cotter pin

cross light bracket

left cooking grid

right cooking grid

Pricing subject to change
** Please contact service desk for pricing

7,50
1,00

£y dh

8,50
10,50
10,50

1,00
12,50

1,00

1,00
19,00

2,00
19,00
17,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00

3,50

1,00

115,00

1,00
14,50
52,50
73,50

1,00
19,00
11,50

5,50

5,50
17,00
26,50
26,50

1,00

1,00
26,50
26,50

2,00

2,00

1,00

8,50

1,00

1,00

8,50
37,00
37,00

(OO OWON OO OO OO ONONONON OO OO ONONONONORONONONONONONONONORONONONONONONOWONOWONONONOWONOWONON O]

223
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

PRO285X PHANTOM

Description

42 N735-0018 leg pivot washer € 1,00
43 N720-0067-BK1FL foot frame tube, matte black € 13,50
44  N272-0001 scissor cart foot € 17,00
45 N325-0084 scissor cart foot handle € 2,00
46 N160-0037 CE tank strap bracket € 1,00
47 NO010-0806-BK1FL wheel side frame, matte black € 42,00
48 Z745-0001-BK wheel, black € 12,50
49 NO015-0009 axle € 7,50
50 N160-0026 side shelf folding clip € 1,00
51 N450-0043 axle cap € 1,00
52 N655-0200-BK1HT left top handle support, matte black € 5,50
53 N655-0201-BK1HT right top handle support, matte black € 5,50
54  N390-0003 handle latch € 3,00
55 N685-0017-BK temperature gauge, black € 12,50
56 N135-0048-BK1HL lid casting, matte black € 125,00
57 W450-0027 1/2” brass nut >

58 N255-0057 3/8” - 1/4” union fitting € 5,50
59 N255-0014 fitting € 5,50
60 N640-0003 regulator strap € 2,00
61 N735-0019 8mm washer € 1,00
62 N570-0108 M8 x 35mm screw € 1,00
63 N570-0109 M8 x 60mm screw € 1,00
64 Z450-0015 M8 nut € 1,00
65 N485-0022 8 x 50mm clevis pin € 2,00
66 N570-0110 shoulder screw € 1,00
67 N720-0060 manifold flex € 8,50
68 N555-0097 lighting rod € 5,50
69 N390-0004-BK1SG slide lock latch € 12,50
70 N630-0006 spring € 1,00
71 N390-0005-BK1FL slide handle latch, matte black € 5,50
72 N500-0042B slide handle **

73 Z570-0023 10-24 x 6Bmm screw **

74  N010-0942-MK lid assembly, matte black € 115,00
75 NO10-1461-SER control panel assembly 30 mbar, matte black € 95,00
75 NO010-1462-SER control panel assembly 50 mbar, matte black € 95,00
76 NO10-1463-MK-SER top handle assembly, matte black € 21,00
77 NO010-0820-MK-SER side shelf assembly, matte black € 59,00
78 NO010-1464-MK-SER bottom handle assembly, matte black € 21,00
79 N325-0084-SER scissor cart foot handle assembly € 8,00
80 NO010-1465-SER rail sliding track assembly, matte black latch € 17,00
81 Z570-0037 10-24 x 38mm screw € 1,00
82 N640-0004 tank strap € 4,00
83 N570-0099 #14 x 3/4” screw € 1,00
84 N320-0006 anti-slip tank guard € 4,00

Pricing subject to change 224

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Notes

Pricing subject to change 225
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

PRO285X (2020)

226

Effective January 1st, 2023

Pricing subject to change
** Please contact service desk for pricing

Prices are recommended end-user prices



T o0©O N O b WN =

=
BN

15
16
17
18
19
20

21
22
28
24
25
26
27
28
29
30
il
32
S8
34
S5
36
37
38
S9
40
41

Prices are recommended end-user prices

PRO285X (2020)

N325-0085-SS1SG
N120-0023
Z570-0036
N325-0086-SS1SG
N120-0022
N120-0021
N570-0013
N590-0237
N570-0076
N570-0111
N010-0804-SS1SG
N160-0017
N010-0805-SS1SG
N525-0047-BK1SG
N530-0032
N530-0033
N530-0037
N530-0046
N530-0034
N530-0034
N530-0038
N530-0035
N530-0036
N530-0044
N530-0043
N080-0356-BK1SG
N570-0086
N135-0045-BK1HT
N570-0104
N475-0319
N010-0825
N010-0773
N570-0078
N585-0089-BK1HT
N380-0020-RD
N200-0109-BK1HT
N200-0108-BK1HT
N710-0079
N010-0821
N010-0822
N570-0073
Z570-0033
N100-0047
N100-0046
N655-0158
N655-0159
Z570-0029
N325-0082
N485-0023
N485-0021
N080-0302
N305-0087-BK2FL
N305-0088-BK2FL

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

cart handle

nylon cap

1/4-20 x 7/8” screw
cart shelf handle

left self cap

right shelf cap

#8 X 5/8” screw
scissor cart shelf

#8 x 1/2” screw

#14 x 1 1/4” screw
front cart beam

flex line clip

rear cart beam

sliding track rail
regulator hose DE
regulator hose NL
regulator hose UK
regulator hose CZ
regulator hose DK
regulator hose NO, FI, ES
regulator hose FR
regulator hose SE
regulator hose IT
regulator hose PL
regulator hose RU
hose mount fitting adapter bracket
#14 x 1/2” screw

base

10-24 x 3/8” screw
control panel

manifold 50mbar (DE)
manifold 30mbar (CE)
10-24 x 3/8” screw
control panel heat shield
control knob

right leg cover

left leg cover

drip pan

left drip pan bracket
right drip pan bracket
1/4-20 x 3/8” screw
10-24 x 12mm screw
right burner

left burner

left bottom support handle
right bottom support handle
10-24 x 35mm screw
top/bottom handle
clevis pin

cotter pin

cross light bracket

left cooking grid

right cooking grid

Pricing subject to change
** Please contact service desk for pricing

7,50
1,00

£y dh

8,50
10,50
10,50

1,00
12,50

1,00

1,00
21,00

2,00
21,00
17,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00

3,50

1,00

115,00

1,00
14,50
52,50
73,50

1,00
19,00

7,50

5,50

5,50
17,00
26,50
26,50

1,00

1,00
26,50
26,50

5,50

5,50

1,00

8,50

1,00

1,00

8,50
37,00
37,00

(OO OWON OO OO O ONONONONON OO OO ONONONONORONONONONONONONONONONONONONONONOWONOWONONONOWONOWONON O]

227
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

PRO285X (2020)
Description
42 N735-0018 leg pivot washer € 1,00
43 N720-0067-SS1SG foot frame tube € 14,50
44 N272-0001 scissor cart foot € 17,00
45 N325-0084 scissor cart foot handle € 2,00
46 N160-0037 CE tank strap bracket € 1,00
47 NO010-0806-SS1SG wheel side frame € 52,50
48 Z745-0001 wheel € 12,50
49 NO015-0009 axle € 7,50
50 N160-0026 side shelf folding clip € 1,00
51 N450-0043 axle cap € 1,00
52 N655-0200 left top handle support € 6,50
53 N655-0201 right top handle support € 6,50
54 N390-0003 handle latch € 3,00
55 N685-0017 temperature gauge € 12,50
56 N135-0048-BK1HG lid casting € 249,00
57 W450-0027 1/2” brass nut >
58 N255-0057 3/8” - 1/4” union fitting € 5,50
59 N255-0014 fitting € 5,50
60 N640-0003 regulator strap € 2,00
61 N735-0019 8mm washer € 1,00
62 N570-0108 M8 x 35mm screw € 1,00
63 N570-0109 M8 x 60mm screw € 1,00
64 Z450-0015 M8 nut € 1,00
65 N485-0022 8 x 50mm clevis pin € 2,00
66 N570-0110 shoulder screw € 1,00
67 N720-0060 manifold flex € 8,50
68 N555-0097 lighting rod € 5,50
69 N390-0004-BK1SG slide lock latch € 12,50
70 N630-0006 spring € 1,00
71 N390-0005-SS1SG slide handle latch € 7,50
72 N500-0042B slide handle **
73 Z570-0023 10-24 x 6Bmm screw **
74 N010-0942-BK lid assembly € 139,00
75 N475-0319-SER control panel assembly 30 mbar € 125,00
N475-0319-DE-SER control panel assembly 50 mbar € 84,00
76 NO010-0943 top handle assembly € 26,50
77 NO010-0820-SER side shelf assembly € 59,00
78 N325-0082B-SER bottom handle assembly € 26,50
79 N325-0084-SER scissor cart foot handle assembly € 8,00
80 N525-0047-BK1SG-SER rail sliding track assembly € 26,50
81 Z570-0037 10-24 x 38mm screw € 1,00
82 N640-0004 tank strap € 4,00
83 N570-0099 #14 x 3/4” screw € 1,00
84 N320-0006 anti-slip tank guard € 4,00
Pricing subject to change 228

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Notes

Pricing subject to change 229
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

PRO285X

Pricing subject to change 230
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



© 0O ~NO O~ WN =

-
- O

13
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52

Prices are recommended end-user prices

PRO285X

N325-0085-SS1SG
N120-0023
Z570-0036
N325-0086-SS1SG
N120-0022
N120-0021
N570-0013
N590-0237
N570-0076
N570-0111
N010-0804-SS1SG
N160-0017
N010-0805-SS1SG
N525-0047-BK1SG
N570-0086
N135-0045-BK1HT
N570-0104
N475-0319
N010-0773
N570-0078
N585-0089-BK1HT
N380-0020-RD
N200-0109-BK1HT
N200-0108-BK1HT
N710-0079
N010-0821
N010-0822
N570-0073
Z570-0033
N100-0047
N100-0046
N655-0158
N655-0159
Z570-0029
N325-0082
N485-0023
N485-0021
N080-0302
N305-0087-BK2FL
N305-0088-BK2FL
N735-0018
N720-0067-SS1SG
N272-0001
N325-0084-SER
N200-0107
N010-0806-SS1SG
Z745-0001
N015-0009
N160-0026
N450-0043
N655-0200

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

handle cart

cap nylon

screw 1/4-20 x 7/8"
handle cart shelf
cap shelf (left)

cap shelf (right)
screw #8 x 5/8"

shelf left / right
screw #8 x 1/2"
screw #14 x 1 1/4"
cart front beam

clip rear burner tube
cart rear beam

rail sliding track
screw #14 x 1/2"
base

screw 10-24 x 3/8"
control panel
manifold

screw M4 x 8mm
heat shield control panel
control knob

cover right leg

cover left leg

drip pan

bracket drip pan left
bracket drip pan right
screw 1/4-20 x 3/8"
screw 10-24 x 12mm
burner right

burner left

support handle left
support handle right
screw 10-24 x 35mm
handle top/bottom
clevis pin 8mm x 50mm
cotter pin

cross light bracket
cooking grid left
cooking grid right
washer leg pivot
tube cart side

foot scissor cart
handle scissor cart foot
dust cover regulator
cart wheel side
wheel 8"

axle

clip tubing

nut axle cap

support handle left

Pricing subject to change
** Please contact service desk for pricing

7,50
1,00

O

8,50
10,50
10,50

1,00
12,50

1,00

1,00
21,00

2,00
21,00
17,00

1,00

115,00

1,00
14,50
73,50

1,00
19,00

7,50

5,50

5,50
17,00
26,50
26,50

1,00

1,00
26,50
26,50

5,50

5,50

1,00

8,50

1,00

1,00

8,50
37,00
37,00

1,00
14,50
17,00

8,00

2,00
52,50
12,50

7,50

1,00

1,00

6,50

an dh dah b odh dh dh A oA oAb A A A A A dh dh o A A A dh A A A A A dh A A A A A dh A A A A dh A A A A dh dh dh

231
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

PRO285X

Description

53 N655-0201 support handle right € 6,50
54 N390-0003 latch handle € 3,00
55 N160-0037 tank bracket € 1,00
56 N685-0017 temperature gauge € 12,50
57 N530-0032 regulator hose DE € 25,00

N530-0033 regulator hose NL € 25,00

N530-0038 regulator hose FR € 25,00

N530-0034 regulator hose NO, FI, ES € 25,00
58 N640-0004 strap propane tank € 4,00
59 N135-0048-BK1HG lid black € 249,00
60 N320-0006 GUARD, TANK ANTI-SLIP BK SILICONE PRO285X € 4,00
61 N735-0019 washer, 8mm € 1,00
62 N570-0108 screw M8 x 35mm € 1,00
63 N570-0109 screw M8 x 60mm € 1,00
64 Z450-0015 nut M8 € 1,00
65 N485-0022 clevis pin 8mm x 50mm € 2,00
66 N570-0110 screw shoulder € 1,00
67 N720-0060 flex connector manifold € 8,50
68 N555-0058 lighting rod € 3,00
69 N390-0004-BK1SG latch slide € 12,50
70 N630-0006 spring € 1,00
71 N390-0005-SS1SG latch handle € 7,50
72 N500-0042B rubber handle >
73 Z570-0023 screw 10-24 x 6mm #N/B
74 N010-0942-BK assembly lid black € 139,00
75 N475-0319-SER assembly control panel € 125,00
76 N010-0943 assembly handle top € 26,50
77 NO010-0820-SER assembly side shelf € 59,00
78 N325-0082B-SER assembly handle bottom € 26,50
79 N325-0084-SER assembly handle scissor cart foot € 8,00
80 N525-0047-BK1SG-SER assembly rail sliding track € 26,50
81 Z570-0037 screw 1/4-20 € 1,00
82 N640-0003 strap propane tank € 2,00
83 N530-0055-SER bracket, regulator € 95,00

** Please contact the service desk for pricing.
Pricing subject to change 232

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Notes

Pricing subject to change 233
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

PRO285X

Pricing subject to change 234
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



T o0©ONO O b WN =

= A a
BN

15
16
17
18
19

20

21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40

Prices are recommended end-user prices

PRO285X

N325-0085-SS1SG
N120-0023
Z570-0036
N325-0086-SS1SG
N120-0022
N120-0021
N570-0013
N590-0237
N570-0076
N570-0111
N010-0804-SS1SG
N160-0017
N010-0805-SS1SG
N525-0047-BK1SG
N530-0032
N530-0033
N530-0037
N530-0046
N530-0034
N530-0034
N530-0038
N530-0035
N530-0036
N530-0044
N530-0043
N080-0356-BK1SG
N570-0086
N135-0045-BK1HT
N570-0104
N475-0319-SER

N475-0319-DE-SER

N010-0825
N010-0773
N570-0078
N585-0089-BK1HT
N380-0020-RD
N200-0109-BK1HT
N200-0108-BK1HT
N710-0079
N010-0821
N010-0822
N570-0073
Z570-0033
N100-0047
N100-0046
N655-0158
N655-0159
Z570-0029
N325-0082
N485-0023
N485-0021
N080-0302
N305-0087-BK2FL

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

cart handle
nylon cap
1/4-20 x 7/8” screw

cart shelf handle

left self cap

right shelf cap

#8 X 5/8” screw

scissor cart shelf

#8 x 1/2” screw

#14 x 1 1/4” screw

front cart beam

flex line clip

rear cart beam

sliding track rail

regulator hose DE
regulator hose NL
regulator hose UK
regulator hose CZ
regulator hose DK
regulator hose NO, FI, ES
regulator hose FR
regulator hose SE
regulator hose IT

regulator hose PL

regulator hose RU

hose mount fitting adapter bracket
#14 x 1/2” screw

base

10-24 x 3/8” screw

control panel assembly 30 MBAR
control panel assembly 50 MBAR
manifold 50mbar (DE)
manifold 30mbar (CE)
10-24 x 3/8” screw

control panel heat shield
control knob

right leg cover

left leg cover

drip pan

left drip pan bracket

right drip pan bracket
1/4-20 x 3/8” screw

10-24 x 12mm screw

right burner

left burner

left bottom support handle
right bottom support handle
10-24 x 35mm screw
top/bottom handle

clevis pin

cotter pin

cross light bracket

left cooking grid

Pricing subject to change
** Please contact service desk for pricing

7,50
1,00

£y dh

8,50
10,50
10,50

1,00
12,50

1,00

1,00
21,00

2,00
21,00
17,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00

3,50

1,00

115,00
1,00
125,00
84,00
52,50
73,50

1,00
19,00

7,50

5,50

5,50
17,00
26,50
26,50

1,00

1,00
26,50
26,50

5,50

5,50

1,00

8,50

1,00

1,00

8,50
37,00

(OO OWONOWON OO ONONONONONONONON OO ONONONONORONONONONONONONONONONONONONONONOWONOWONONONOWONOWONO N O]

235
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

PRO285X

Description

N305-0088-BK2FL right cooking grid € 37,00
42  N735-0018 leg pivot washer € 1,00
43 N720-0067-SS1SG foot frame tube € 14,50
44 N272-0001 scissor cart foot € 17,00
45 N325-0084-SER scissor cart foot handle € 8,00
46 N160-0037 CE tank strap bracket € 1,00
47 NO010-0806-SS1SG wheel side frame € 52,50
48  Z745-0001 wheel € 12,50
49 NO015-0009 axle € 7,50
50 N160-0026 side shelf folding clip € 1,00
51 N450-0043 axle cap € 1,00
52 N655-0200 left top handle support € 6,50
53 N655-0201 right top handle support € 6,50
54 N390-0003 handle latch € 3,00
55 N685-0017 temperature gauge € 12,50
56 N135-0048-BK1HG-SER lid casting € 299,00
57 W450-0027 1/2” brass nut **
58 N255-0057 3/8” - 1/4” union fitting € 5,50
59 N255-0014 fitting € 5,50
60 N640-0003 regulator strap € 2,00
61 N735-0019 8mm washer € 1,00
62 N570-0108 M8 x 35mm screw € 1,00
63 N570-0109 M8 x 60mm screw € 1,00
64 Z450-0015 M8 nut € 1,00
65 N485-0022 8 x 50mm clevis pin € 2,00
66 N570-0110 shoulder screw € 1,00
67 N720-0060 manifold flex € 8,50
68 N555-0058 lighting rod € 3,00
69 N390-0004-BK1SG slide lock latch € 12,50
70 N630-0006 spring € 1,00
71 N390-0005-SS1SG slide handle latch € 7,50
72 N500-0042B slide handle #N/B
73 Z570-0023 10-24 x 6mm screw #N/B
74 NO010-0942-BK lid assembly € 139,00
75 N475-0319-SER control panel assembly 30 MBAR € 125,00
75 N475-0319-DE-SER control panel assembly 50 MBAR € 84,00
76 NO010-0943 top handle assembly € 26,50
77 NO010-0820-SER side shelf assembly € 59,00
78 N325-0082B-SER bottom handle assembly € 26,50
79 N325-0084-SER scissor cart foot handle assembly € 8,00
80 N525-0047-BK1SG-SER rail sliding track assembly € 26,50
81 Z570-0037 10-24 x 38mm screw € 1,00
82 N640-0004 tank strap € 4,00
83 N570-0099 #14 x 3/4” screw € 1,00
84 N320-0006 anti-slip tank guard € 4,00

Pricing subject to change 236

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Notes

Pricing subject to change 237
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

PRO285

Pricing subject to change 238
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



@ N o a A OWON -

©

11
12
13
14
15
16
17
18
19
21
22
23
24
25
26
27
28
29
Sil
32
33
34
85
36
37
38
859
40
41
42

Prices are recommended end-user prices

PRO285

N135-0045NH-BK1HT
NO010-0830
N570-0104
N475-0319-SER
N475-0319-DE-SER
N010-0825
N010-0773
N570-0078
N585-0089-BK1HT
N570-0076
N380-0020-RD
N570-0073
N710-0079
Z570-0033
N100-0047
N100-0046
N325-0083
N655-0179
N655-0180
N685-0017
N570-0107
N485-0023
N485-0021
N080-0302
N305-0087-BK2FL
N305-0088-BK2FL
N080-0303
N160-0025
N570-0068
N080-0346-BK1SG
N255-0057
W450-0027
N255-0014
N075-0091
N325-0088
N325-0089
N510-0013
N720-0060
N135-0048-BK1HG-SER
N475-0319-SER
N010-0834
N325-0083-SER
N530-0032
N530-0033
N530-0037
N530-0046
N530-0034
N530-0034
N530-0038
N530-0035
N530-0036
N530-0044
N530-0043

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

base
drip pan plate

screw, 10-24 X 3/8”
control panel 30 MBAR
control panel 50 MBAR
manifold 50mbar (DE)
manifold 30mbar (CE)
screw, M4 x 8mm
control panel heat shield
screw, #38 X 1/2”
control knob

screw 1/4-20 x 3/8”
drip pan

screw, 10-24 x 12mm
burner, right

burner, left

lid handle

lid handle support left
lid handle support right
temperature gauge
screw, 10-24 x 30mm
cotter pin

clevis pin

cross light bracket
cooking grid left
cooking grid right
bracket, leg

clip

screw, #14 x 1/2”
bracket, flex line

fitting

nut, 1/2-20

fitting

craddle front / rear
craddle handle

craddle handle cover
silicone bumper
manifold flex line
assembly, lid
assembly, control panel
assembly, craddle
assembly, lid handle
regulator hose DE
regulator hose NL
regulator hose UK
regulator hose CZ
regulator hose DK
regulator hose NO, FI, ES
regulator hose FR
regulator hose SE
regulator hose IT
regulator hose PL
regulator hose RU

Pricing subject to change
** Please contact service desk for pricing

115,00
52,50
1,00
125,00
84,00
52,50
73,50
1,00
19,00
1,00
7,50
1,00
17,00
1,00
26,50
26,50
8,50
7,50
7,50
12,50
1,00
1,00
1,00
8,50
37,00
37,00
6,50
2,00
1,00
1,00
5,50
#N/B
5,50
26,50
7,50
5,50
2,00
8,50
299,00
125,00
179,00
12,50
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00

OO OO OO OO OO ONONONONONONONONOWONONONONONOWOROWONOWONO!

OO OWONOWONONONONONOWONONONONONOWONOWONO)

239
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Notes

Pricing subject to change 240
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

TQ285X

Pricing subject to change 241
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



© 00N O~ WN =

-
- O

13
14
15
16
17
18
19

20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52

Prices are recommended end-user prices

TQ285X

N325-0085-SS1SG
N120-0023
Z570-0036
N325-0086-SS1SG
N120-0022
N120-0021
N570-0013
N590-0237
N570-0076
N570-0111
N010-0804-SS1SG
N160-0017
N010-0805-SS1SG
N525-0047-BK1SG
N530-0051
N080-0349-BK1SG
N570-0086
N135-0045-BK1HT
N570-0104
N475-0319-SER
N475-0319-DE-SER
N010-0773
N570-0078
N585-0089-BK1HT
N380-0020-RD
N200-0109-BK1HT
N200-0108-BK1HT
N710-0079
N010-0821
N010-0822
N570-0073
Z570-0033
N100-0047
N100-0046
N655-0158
N655-0159
Z570-0029
N485-0020
N485-0021
N080-0302
N305-0087-BK2FL
N305-0088-BK2FL
N735-0018
N720-0067-SS1SG
N272-0001
N325-0084-SER
N080-0348-BK1SG
N010-0806-SS1SG
Z745-0001
N015-0009
N160-0026
N450-0043
N655-0156

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

handle cart
cap nylon
screw 1/4-20 x 7/8"
handle cart shelf

cap shelf

cap shelf

screw #8 x 5/8"

shelf left / right

screw #8 x 1/2"

screw #14 x 1 1/4"

cart front beam

clip rear burner tube
cart rear beam

rail sliding track
regulator

bracket regulator mount
screw #14 x 1/2"

base

screw 10-24 x 3/8"
control panel 30 MBAR
control panel 50 MBAR
manifold

screw M4 x 8mm

heat shield control panel
control knob

cover right leg

cover left leg

drip pan

bracket drip pan left
bracket drip pan right
screw 1/4-20 x 3/8"
screw 10-24 x 12mm
burner right

burner left

support handle left
support handle right
screw 10-24 x 35mm
clevis pin

cotter pin

cross light bracket
cooking grid left
cooking grid right
washer leg pivot

tube cart side

foot scissor cart
handle scissor cart foot
bracket, 1 Ib tank

cart wheel side

wheel 8"

axle

clip tubing

nut axle cap

support lid handle left

Pricing subject to change
** Please contact service desk for pricing

7,50
1,00

O

8,50
10,50
10,50

1,00
12,50

1,00

1,00
21,00

2,00
21,00
17,00
37,00

5,50

1,00

115,00
1,00
125,00
84,00
73,50

1,00
19,00

7,50

5,50

5,50
17,00
26,50
26,50

1,00

1,00
26,50
26,50

5,50

5,50

1,00

1,00

1,00

8,50
37,00
37,00

1,00
14,50
17,00

8,00

2,50
52,50
12,50

7,50

1,00

1,00

5,50

OO OW O OO OO OO OO OO OO OO OO OO OO ONONONONONONONONONONONONONONOWONOWONONONOWONOWONON O]

242
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

TQ285X

Description

53 N655-0157 support lid handle right € 5,50
54 N390-0003 latch handle € 3,00
55 N051-0009 bezel temperature gauge € 9,50
56 N685-0015 temperature gauge € 9,50
57 N330-0021-SER hinge right € 9,50
58 N330-0020-SER hinge left € 9,50
59 NO010-0776-BL4HM-SER assembly lid blue € 159,00
60 N215-0013 wind shield € 14,50
61 N735-0019 washer, 8mm € 1,00
62 N570-0108 screw M8 x 35mm € 1,00
63 N570-0109 screw M8 x 60mm € 1,00
64 Z450-0015 nut M8 € 1,00
65 N485-0022 clevis pin 8mm x 50mm € 2,00
66 N570-0110 screw shoulder € 1,00
67 N720-0060 flex connector manifold € 8,50
68 N555-0058 lighting rod € 3,00
69 N390-0004-BK1SG latch slide € 12,50
70 N630-0006 spring € 1,00
71 N390-0005-SS1SG latch handle € 7,50
72  N500-0042B rubber handle *

73 Z570-0023 screw 10-24 x 6mm #N/B

74 NO010-0776-BL4AHM-SER assembily lid blue € 159,00
75 N475-0319-SER assembly control panel 30 MBAR € 125,00
75 N475-0319-DE-SER assembly control panel 50 MBAR € 84,00
76 N325-0082T-SER assembly handle top € 31,50
77 NO010-0820-SER assemlby side shelf € 59,00
78 N325-0082B-SER assembly handle bottom € 26,50
79 N330-0021-SER assembly hinge right € 9,50
80 N330-0020-SER assembly hinge left € 9,50
81 N325-0084-SER assembly handle scissor cart foot € 8,00
82 N525-0047-BK1SG-SER assembly rail sliding track € 26,50
83 Z570-0037 screw, 1/4-20 € 1,00
84 Z450-0009 nut, 1/4-20 € 1,00
85 N640-0003 strap, LPG tank € 2,00
86 N570-0099 screw #14 X 3/4" € 1,00

Pricing subject to change 243

Prices are recommended end-user prices

** Please contact service desk for pricing

Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Notes

Pricing subject to change 244
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

TQ285X-1 (2020)

245

Effective January 1st, 2023

Pricing subject to change
** Please contact service desk for pricing

Prices are recommended end-user prices



O~NO O~ WN =

N I I )
O OWoO~NOOh~WN-=O0O

21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52

Prices are recommended end-user prices

TQ285X-1 (2020)

N325-0085-SS1SG
N120-0023
Z570-0036
N325-0086-SS1SG
N120-0022
N120-0021
N570-0013
N590-0237
N570-0076
N570-0111
N010-0804-SS1SG
N010-0805-SS1SG
N525-0047-BK1SG
N530-0051
N080-0349-BK1SG
N570-0086
N135-0045-BK1HT
N570-0104
N475-0319
N010-0773
N010-0825
N570-0078
N585-0089-BK1HT
N380-0042-BK
N200-0109-BK1HT
N200-0108-BK1HT
N710-0079
N010-0821
N010-0822
N570-0073
Z570-0033
N100-0047
N100-0046
N655-0158
N655-0159
Z570-0029
N325-0082
N485-0023
N485-0021
N080-0302
N305-0087-BK2FL
N305-0088-BK2FL
N735-0018
N720-0067-SS1SG
N272-0001
N325-0084
N080-0348-BK1SG
N010-0806-SS1SG
Z745-0001
N015-0009
N160-0026
N450-0043
N655-0210-BK1HT

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

handle cart

cap nylon

screw 1/4-20 x 7/8"
handle cart shelf
cap shelf

cap shelf

screw #8 x 5/8"
shelf left / right
screw #8 x 1/2"
screw #14 x 1 1/4"
cart front beam

cart rear beam

rail sliding track
regulator

bracket regulator mount
screw #14 x 1/2"
base

screw 10-24 x 3/8"
control panel
manifold 30mbar
manifold 50mbar
screw M4 x 8mm
heat shield control panel
control knob

cover right leg

cover left leg

drip pan

bracket drip pan left
bracket drip pan right
screw 1/4-20 x 3/8"
screw 10-24 x 12mm
burner right

burner left

support handle left
support handle right
screw 10-24 x 35mm
handle top/bottom
clevis pin

cotter pin

cross light bracket
cooking grid left
cooking grid right
washer leg pivot
tube cart side

foot scissor cart
handle scissor cart foot
bracket tank mount
cart wheel side
wheel 8"

axle

clip tubing

nut axle cap

support lid handle left

Pricing subject to change
** Please contact service desk for pricing

7,50
1,00

O

8,50
10,50
10,50

1,00
12,50

1,00

1,00
21,00
21,00
17,00
37,00

5,50

1,00

115,00

1,00
14,50
73,50
52,50

1,00
19,00
11,50

5,50

5,50
17,00
26,50
26,50

1,00

1,00
26,50
26,50

5,50

5,50

1,00

8,50

1,00

1,00

8,50
37,00
37,00

1,00
14,50
17,00

2,00

2,50
52,50
12,50

7,50

1,00

1,00

4,00

(OO OWON OO OO OO OO OO OO OO ONONONONORONONONONONONONONORONONONONONONOWONOWONONONOWONOWONON O]

246
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

TQ285X-1 (2020)

Description

53 N655-0211-BK1HT support lid handle right € 4,00
54 N390-0003 latch handle € 3,00
55 Z570-0037 Screw 10-24 x42mm € 1,00
56 NO051-0009 bezel temperature gauge € 9,50
57 N685-0015 temperature gauge € 9,50
58 N135-0066-BK1HT TQ285-1 lid € 119,00
59 N735-0019 washer, 8mm € 1,00
60 N570-0108 screw M8 x 35mm € 1,00
61 N570-0109 screw M8 x 60mm € 1,00
62 Z450-0015 nut M8 € 1,00
63 N485-0022 clevis pin 8mm x 50mm € 2,00
64 N570-0110 screw shoulder € 1,00
65 N720-0060 flex connector manifold € 8,50
66 N555-0058 lighting rod € 3,00
67 N390-0004-BK1SG latch slide € 12,50
68 N630-0006 spring € 1,00
69 N390-0005-SS1SG latch handle € 7,50
70 N500-0042B rubber handle **
71 Z570-0023 screw 10-24 x 6mm >
72 NO010-1155-BK assembly lid black € 179,00
73 NO010-1173-SER assembly control panel 30mbar € 95,00

NO010-1174-SER assembly control panel 50mbar € 95,00
74 NO010-1156-SER assembly handle top € 17,00
75 NO010-0820-SER assemlby side shelf € 59,00
76 NO010-1157-SER assembly handle bottom € 17,00
77 N525-0047-BK1SG-SER assembly rail sliding track € 26,50
78 N325-0084-SER assembly handle scissor cart foot € 8,00
79 N640-0003 strap, LPG tank € 2,00
80 56080 griddle >
81 Z735-0009 washer 1/4" € 1,00

Pricing subject to change 247

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Notes

Pricing subject to change 248
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

TQ285X-1
7

i
iz,

|-_.__-.-‘I_:: ¢ __.-.--‘_'. St
e

7

Pricing subject to change 249
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



TQ285X-1

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

N325-0085-SS1SG
N120-0023
Z570-0036
N325-0086-SS1SG
N120-0022
N120-0021
N570-0013
N590-0237
N570-0076
N570-0111
N010-0804-SS1SG
N010-0805-SS1SG
N525-0047-BK1SG
N530-0051
N080-0349-BK1SG
N570-0086
N135-0045-BK1HT
N570-0104
N475-0319
N010-0773
N570-0078
N585-0089-BK1HT
N380-0042-BK
N200-0109-BK1HT
N200-0108-BK1HT
N710-0079
N010-0821
N010-0822
N570-0073
Z570-0033
N100-0047
N100-0046
N655-0158
N655-0159
Z570-0029
N325-0082
N485-0020
N485-0021
N080-0302
N305-0087-BK2FL
N305-0088-BK2FL
N735-0018
N720-0067-SS1SG
N272-0001
N325-0084
N200-0107
N010-0806-SS1SG
Z745-0001
N015-0009
N160-0026
N450-0043
N655-0210-BK1HT
N655-0211-BK1HT

O~NO O~ WN =

oo bbb SABASDLMDDDBDWWWWOWWWWWWNNNNDNDNNNDNNDD =S = 2 s s
WN 2000 NOODAOPR,WN_LO00O0ONOODAOPRPRWN-_000ONOODOPR,WN_LO0OOONOOGAWN-=O

Prices are recommended end-user prices

handle cart

cap nylon

screw 1/4-20 x 7/8"
handle cart shelf

cap shelf

cap shelf

screw #8 x 5/8"

shelf left / right
screw #8 x 1/2"
screw #14 x 1 1/4"
cart front beam

cart rear beam

rail sliding track
regulator

bracket regulator mount
screw #14 x 1/2"
base

screw 10-24 x 3/8"
control panel
manifold

screw M4 x 8mm
heat shield control panel
control knob

cover right leg

cover left leg

drip pan

bracket drip pan left
bracket drip pan right
screw 1/4-20 x 3/8"
screw 10-24 x 12mm
burner right

burner left

support handle left
support handle right
screw 10-24 x 35mm
handle top/bottom
clevis pin

cotter pin

cross light bracket
cooking grid left
cooking grid right
washer leg pivot
tube cart side

foot scissor cart
handle scissor cart foot
dust cover regulator
cart wheel side
wheel 8"

axle

clip tubing

nut axle cap

support lid handle left
support lid handle right

Pricing subject to change
** Please contact service desk for pricing

7,50
1,00

O

8,50
10,50
10,50

1,00
12,50

1,00

1,00
21,00
21,00
17,00
37,00

5,50

1,00

115,00

1,00
14,50
73,50

1,00
19,00
11,50

5,50

5,50
17,00
26,50
26,50

1,00

1,00
26,50
26,50

5,50

5,50

1,00

8,50

1,00

1,00

8,50
37,00
37,00

1,00
14,50
17,00

2,00

2,00
52,50
12,50

7,50

1,00

1,00

4,00

4,00

[ON O OO O N I ORI O IO N I O RO I O N O O N I O IO I O O O N OO OO N ON O R OO IO O N OR O OO OO OO OO WO ONON OO NGO N0

250
Effective January 1st, 2023



54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71
72
73
74
75
76
77
78
79

Prices are recommended end-user prices

TQ285X-1

N390-0003
Z570-0037
N051-0009
N685-0015
N135-0066-BK1HT
N735-0019
N570-0108
N570-0109
Z450-0015
N485-0022
N570-0110
N720-0060
N555-0058
N390-0004-BK1SG
N630-0006
N390-0005-SS1SG
N500-0042B
Z570-0023
N010-1155-BK
N475-0319-SER
N010-1156-SER
N010-0820-SER
N010-1157-SER
N525-0047-BK1SG-SER
N325-0084-SER
N640-0003

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Description

latch handle

screw 10-24 x38mm
bezel temperature gauge
temperature gauge
TQ285-1 lid

washer, 8mm

screw M8 x 35mm
screw M8 x 60mm

nut M8

clevis pin 8mm x 50mm
screw shoulder

flex connector manifold
lighting rod

latch slide

spring

latch handle

rubber handle

screw 10-24 x 6mm
assembly lid black
assembly control panel
assembly handle top
assemlby side shelf
assembly handle bottom

assembly rail sliding track

Wolf Steel Europe BV

Tel: +31 88-588 66 55

assembly handle scissor cart foot

strap, Ipg tank

** Please contact the service desk for pricing.

Pricing subject to change

** Please contact service desk for pricing

3,00
1,00
9,50
9,50
119,00
1,00
1,00
1,00
1,00
2,00
1,00
8,50
3,00
12,50
1,00
7,50

OO ONOWONOWONONON OO O WONONWONO)

*
*

179,00
125,00
17,00
59,00
17,00
26,50
8,00
2,00

anody ah o dh oy ANy

251
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Notes

Pricing subject to change 252
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

C OO
5 mh '.,@ ., '

Pricing subject to change 253
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

TQ285

Description

1 N135-0045-BK1HT base € 115,00
2 NO080-0304 bracket drip pan support € 5,50
3 N570-0104 screw 10-24 x 3/8” € 1,00
4  N475-0319-SER control panel 30 MBAR € 125,00
N475-0319-DE-SER control panel 50 MBAR € 84,00
5 NO010-0773 manifold assembly 30 mbar € 73,50
N010-0825 manifold assembly 50 mbar € 52,50
6 N570-0078 screw M4 x 8mm € 1,00
7  N585-0089-BK1HT heat shield control panel € 19,00
8 N570-0076 screw 8 x 1/2” € 1,00
9 N380-0020-RD control knob € 7,50
10 N570-0073 screw 1/4-20 x 3/8” € 1,00
11 N710-0079 drip pan € 17,00
12 Z570-0033 screw 10-24 x 12mm € 1,00
13  N100-0047 burner right € 26,50
14 N100-0046 burner left € 26,50
15 N325-0082 handle top/bottom € 8,50
16 N655-0158 support handle left € 5,50
17 N655-0159 support handle right € 5,50
18 N570-0107 screw 10-24 x 30mm € 1,00
19 N305-0087-BK2FL cooking grid left € 37,00
20 N305-0088-BK2FL cooking grid right € 37,00
21 N485-0020 clevis pin € 1,00
22 NO080-0302 cross light bracket € 8,50
23 N485-0021 cotter pin € 1,00
24 N075-0090 leg € 19,00
25 N630-0005 spring clip € 1,00
26 N080-0303 bracket leg € 6,50
27 N735-0017 washer teflon 12mm x 6mm x 1mm € 1,00
28 N720-0060 flex connector manifold € 8,50
29 N655-0156 support lid handle left € 5,50
30 N530-0040 regulator 30 mbar € 40,00
N530-0041 regulator 50 mbar € 40,00
31 N655-0157 support lid handle right € 5,50
32 N390-0003 latch handle € 3,00
33 NO051-0009 bezel temperature gauge € 9,50
34 N685-0015 temperature gauge € 9,50
35 N330-0020-SER hinge left € 9,50
36 N330-0021-SER hinge right € 9,50
37 NO010-0776-BL4HM-SER assembly lid blue € 159,00
38 N215-0013 wind shield € 14,50
39 NO080-0345-BK1HT bracket regulator mount € 1,00
40 N160-0025 clip flex connector € 2,00
41  N555-0058 lighting rod € 3,00
42 N255-0057 fitting 3/8" to 1/4” € 5,50
43 N255-0014 fitting € 5,50
44 N080-0344 bracket tank retainer *
45 N160-0028-SER tank clip € 17,00
46 W450-0027 nut 1/2” >
47 NO010-0776-BL4HM-SER assembly lid blue € 159,00
48 N475-0319-SER assembly control panel 30 MBAR € 125,00
N475-0319-DE-SER assembly control panel 50 MBAR € 84,00
Pricing subject to change 254

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

TQ285

Description

49 N330-0020-SER assembly hinge left € 9,50
50 N325-0082T-SER assembly handle top € 31,50
51 N330-0021-SER assembly hinge right € 9,50
52 N325-0082B-SER assembly handle bottom € 26,50
53 N160-0028-SER assembly tank clip € 17,00
54  N075-0090-SER assembly leg € 26,50
Pricing subject to change 255

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Notes

Pricing subject to change 256
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

TQ285-1

Pricing subject to change 257
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

TQ285-1

Description

1 N135-0045-BK1HT base € 115,00
2 NO080-0304 bracket drip pan support € 5,50
3 N570-0104 screw 10-24 x 3/8" € 1,00
4 N475-0319 control panel € 14,50
5 NO010-0773 manifold assembly 30 mbar € 73,50

N010-0825 manifold assembly 50 mbar € 52,50
6 N570-0078 screw M4 x 8mm € 1,00
7  N585-0089-BK1HT heat shield control panel € 19,00
8 N570-0076 screw 8 x 1/2" € 1,00
9  N380-0042-BK control knob € 11,50
10 N570-0073 screw 1/4-20 x 3/8" € 1,00
11 N710-0079 drip pan € 17,00
12 Z570-0033 screw 10-24 x 12mm € 1,00
13 N100-0047 burner right € 26,50
14 N100-0046 burner left € 26,50
15 N325-0082 handle top/bottom € 8,50
16 N655-0158 support handle left € 5,50
17 N655-0159 support handle right € 5,50
18 N570-0107 screw 10-24 x 30mm € 1,00
19 N305-0087-BK2FL cooking grid left € 37,00
20 N305-0088-BK2FL cooking grid right € 37,00
21 N485-0020 clevis pin € 1,00
22 N080-0302 cross light bracket € 8,50
23 N485-0021 cotter pin € 1,00
24 N075-0090 leg € 19,00
25 N630-0005 spring clip € 1,00
26 N080-0303 bracket leg € 6,50
27 N735-0017 washer teflon 12mm x 6mm x 1mm € 1,00
28 N720-0060 flex connector manifold € 8,50
29 N655-0210-BK1HT support lid handle left € 4,00
30 N530-0040 regulator 30 mbar € 40,00

N530-0041 regulator 50 mbar € 40,00
31 N655-0211-BK1HT support lid handle right € 4,00
32 N390-0003 latch handle € 3,00
33 N051-0009 bezel temperature gauge € 9,50
34 N685-0015 temperature gauge € 9,50
35 Z570-0037 screw 10-24 x 38mm € 1,00
36 N135-0066-BK1HT lid black € 119,00
37 NO010-1155-BL assembly lid black € 115,00
38 W450-0027 nut 1/2" *
39 NO080-0345-BK1HT bracket regulator mount € 1,00
40 N160-0025 clip flex connector € 2,00
41  N555-0058 lighting rod € 3,00
42 N255-0057 fitting 3/8" to 1/4" € 5,50
43 N255-0014 fitting € 5,50
44 N080-0344 bracket tank retainer >
45 N160-0028 tank clip **
46 N475-0319-SER assembly control panel € 125,00
47 NO010-1156-SER assembly handle top € 17,00
48 NO010-1157-SER assembly handle bottom € 17,00
49 NO075-0090-SER assembly leg € 26,50

** Please contact the service desk for pricing.
Pricing subject to change 258

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



PRO285E (2020)

N



© 0O ~NO O~ WN =

=
o

1
12
13
14
15
16
17
18
19
20
21
22

Prices are recommended end-user prices

PRO285E (2020)

N010-1008-SER
Z305-0012-BK2FL
Z305-0013-BK2FL
N325-0083
N370-0861-SER
Z585-0015
Z010-0048
Z135-0003-BK1HT
Z690-0001
Z690-0002
N010-1009-SER
NO75-0091
N075-0091-EQ
N710-0079
N010-0830
N135-0048-BK1HG
N685-0023
Z585-0014
N010-1010-SER
N485-0023
N485-0021
N655-0179
N655-0180
Z570-0029
Z735-0009
PRO285-STAND

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

PRO285-LID ASSY

NGZ GRID, COOKING CAST LEFT (285)
NGZ GRID, COOKING CAST RIGHT (285)
NGZ, HANDLE LID (PRO285)

KIT, BRACKET FRONT/REAR ELEMENT

NGZ, BASE LINER, PORCELAIN COATING (PRO285E)

NGZ, ELEMENT (PRO285E)

NGZ, CASTING BASE BLACK (PRO285E)
NGZ, THERMOSTAT ASSY (PRO285E)
THERMOSTAT, PRO285E GB

ASSY, CRADLE (PR0285E)

NGZ, LEG CRADLE FRONT/BACK (PRO285)

NGZ, LEG CRADLE FRONT WITH EQ ARTWORK

NGZ, PAN DRIP (285/285X)

ASSY,DRIP PAN PLATE (PRO285)

CASTING, LID PRO285

TEMP GAUGE, PRO285

NGZ, LID HEAT SHIELD (PRO285E)

ASSY, LID HANDLE (PRO285E)

NGZ PIN, CLEVIS 6MM X16MM (PRO285)

NGZ PIN, HAIRPIN COTTER 2MM X 28MM (285)
NGZ, SUPPORT, LID HANDLE LEFT

NGZ, SUPPORT, LID HANDLE RIGHT

SCREW, 10-24 35 MM STN STL PAN HEAD
NGZ WASHER, LOCK-SPLIT STN STL M5
OPTIONAL CART AND SHELVES FOR PR0O285

** Please contact the service desk for pricing.

Pricing subject to change

** Please contact service desk for pricing

229,00
31,50
31,50

8,50
7,50
63,00
52,50
99,00
42,00

N OWONONONOWONONONO)

99,00
26,50
27,50
17,00
52,50
249,00
16,00
52,50
26,50
1,00
1,00
7,50
7,50
1,00
1,00

O ONONONONONONONOWORONWONOWONOY

260
Effective January 1st, 2023



PRO285E




Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

PRO285E

Description

1 NO10-1008-SER lid assembly € 229,00
2  Z305-0012-BK2FL cooking grid (left) € 31,50
3  Z305-0013-BK2FL cooking grid (right) € 31,50
4 N325-0083-SER ngz, handle lid (pro285) € 12,50
5 N370-0861-SER front/rear element brackets € 7,50
6  Z585-0015-BK2GL porcelain coating base € 63,00
7  Z010-0048 heating element € 52,50
8  Z135-0003-BK1HT base casting € 99,00
9  Z690-0001 thermostat assembly € 42,00
Z690-0002 thermostat (GB) **

10 NO10-1009-SER cradle € 99,00
NO075-0091 front/back legs cradle € 26,50
N075-0091-EQ leg cradle (front) with artwork € 27,50

11 N710-0079 drip pan € 17,00

12  NO010-0830 drip pan plate € 52,50

13  N135-0048-BK1HG-SER lid casting € 299,00

14 N685-0023 temperature gauge € 16,00

15 Z585-0014 lid heat shield € 52,50

16 NO10-1010-SER lid handle € 26,50

17 N485-0023 clevis pin 6mm x 16mm € 1,00

18 N485-0021 hairpin cotter 2mm x 28mm € 1,00

19 N655-0179 lid handle support (left) € 7,50

20 N655-0180 lid handle support (right) € 7,50

21 Z570-0029 10-24 35 mm screw € 1,00

22 Z735-0009 M5 washer € 1,00
PRO285-STAND optional cart and shelves for PRO285 >

** Please contact the service desk for pricing.
Pricing subject to change 262

Prices are recommended end-user prices

** Please contact service desk for pricing

Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

PRO605CSS

Pricing subject to change 263
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

PRO605CSS
Description

1 N570-0015 lid pivot screw € 2,00
2 N385-0308-SER NAPOLEON logo € 9,50
3 W450-0005 logo spring clips >

4 N510-0013 black silicone lid bumper € 2,00
5 N570-0080 #14 x 1/2 zinc plated screw € 1,00
6 NO010-0738 lid handle € 37,00
7 NO080-0287-GY1HT lid casting cover € 2,00
8 N570-0042 10-24 x 3/8” screw € 1,00
9 N685-0014 temperature gauge € 26,50
10 NO010-0562 base front panel assembly € 299,00
11 N335-0044L-M02 stainless steel lid insert *

12 N585-0081 heat shield lid € 52,50
13  N135-0042-GY1HT left side lid casting € 73,50
14 N135-0043-GY1HT right side lid casting € 73,50
15 NO010-0553 hood assembly € 189,00
16 NO10-0550P rear burner assembly € 125,00
17 N565-0005 screen, rear burner >

18 N570-0008 #8 x 1/2" screw € 2,00
19 N305-0091 small cooking grid € 52,50
20 N305-0063 large cooking grid € 63,00
21 N325-0054 handle outer charcoal tray lever € 17,00
22 N540-0004 snap ring / anneau élastique € 1,00
23 W450-0032 locking nut 1/4-20 / Ecrou de blocage 1/4-20 >

24 NO010-0555 handle assembly charcoal tray lever € 26,50
25 N570-0084 1/4-20 x 2" screw / vis 1/4-20 x 2" € 1,00
26 NO010-0918-BK1HT charcoal tray assembly € 63,00
27 N010-0551P charcoal tray frame assembly € 139,00
28 N475-0301-MO06 rotisserie mount € 12,50
29 N590-0166 stainless steel side shelf - left € 139,00
30 N570-0082 1/4-20 x 5/8" screw € 1,00
31 N735-0001 insulated washer € 2,00
32 N080-0241P bracket offset € 14,50
33 NO010-0552P lever assembly € 42,00
34 NO080-0219 bracket rear arm € 10,50
35 N655-0103P support arm **

36 N570-0085 M6 X 20mm screw € 3,00
37 N450-0030 locking nut M6 € 2,00
38 N590-0167 stainless steel side shelf - right € 139,00
39 NO010-0549 base assembly € 399,00
40 Z510-0003 black silicone lid bumper € 1,00
41 N630-0004 spring € 2,00
42 N500-0042B vent handle **

43 N570-0013 #8 x 1/2" screw 1,00
44 N555-0034 pivot rod charcoal access door >

45 NO010-0554 charcoal access door assembly € 169,00
46 N570-0073 1/4-20 X 3/8" screw € 1,00
47 N710-0057P ash tray/drip pan € 115,00
48 N475-0214P rear cart panel € 95,00
49 N475-0213P left and right cart panel € 84,00
50 NO10-0548 cart door assembly € 149,00
51 N325-0049 door handle € 10,50
52 N735-0003 1/4" lockwasher € 1,00
53 N555-0018 door pivot rod € 4,00

Pricing subject to change 264

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



54
55
56
57
58
59
60
61
62
63
64

Prices are recommended end-user prices

PRO605CSS

N105-0011
N130-0012
N430-0002
N590-0165P
N130-0013
N520-0024
N080-0212P
Z340-0001
N570-0088
N735-0007
N385-0244-SER
N370-0524

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Description

door bushings
revolving casters
magnetic catch
bottom shelf

non revolving caster
warming rack

stability bracket

tool hook side shelves
10-24 x 1/2" screw
1/4" washer

charcoal logo

main assembly baggie

Wolf Steel Europe BV

Tel: +31 88-588 66 55

Pricing subject to change
** Please contact service desk for pricing

1,00
8,50
6,50
109,00
5,50
42,00
10,50
1,00
1,00
1,00
6,50
33,50

[ONONONONONOWONOWONOWONO

265
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Notes

Pricing subject to change 266
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



PRO22K-LEG-2

P

P P
7y (3)
\

s

{"\

4
T
\

Prices are recommended end-user prices

Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Pricing subject to change
** Please contact service desk for pricing

267
Effective January 1st, 2023



PRO22K-LEG-2

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

N325-0099
N655-0141
N655-0142
N335-0057K
N685-0011
W450-0005
Z570-0029
N080-0271
N655-0143
N080-0270
N655-0155
N735-0010
N570-0042
Z570-0033
N570-0098
N010-0692
N450-0032
Z735-0008
N570-0093
N655-0202
N450-0048
N710-0103-BK1HG
N010-0969
N570-0115
N570-0123
N450-0025
N590-0234-BK1SG
N305-0081-BK2FL
N305-0080-BK2FL
N325-0076
Z735-0014
Z570-0032
N500-0043
N305-0077
NO010-0953-BK2GL
N010-0865-SER
Z735-0007
NO075-0087
Z745-0001
N450-0043
N075-0089
N120-0015
N450-0035
N655-0129P
Z735-0006
N570-0087
N590-0207

55100

ONO O~ WN =

ABA DSBS DSBS DD D WOWOWWWWOWWWWNNNNNNNNDNDDD S s s
ONO P, WN_LO0OO0OO0ONOODAOPWN_2000NOODAPR,WN-_0O0OONOOOGAWN-=0O

Prices are recommended end-user prices

lid handle

support lid handle left
support lid handle right
lid

temperature gauge
logo spring clips
screw 10-24 x 35 mm
hinge upper

stiffener plate hinge
hinge lower

stiffener plate hinge
lockwasher

screw 10-24 x 3/8"
screw 10-24 x 12mm
screw, hinge

middle ring assembly base
nut M4

washer

screw M4 x 8mm
support, air vent ring
washer, lock 10-32
drip pan - ash collector
ash pan handle

1/4-20 x 5/8” screw
shoulder screw, 10-32 x 1/2”
nut 1/4-20

wire bottom shelf
cooking grid side
cooking grid main
handle cooking grid
M4 washer

M4 screw

reflector plate

charcoal grate

base

handle base

M6 washer

leg wheel

wheel

axle cap

leg front

cap leg

acorn nut M8

support leg

flat washer

1/4-20 x 7/8” screw
basket charcoal (accessory)
tool hook bracket (accessory)

Pricing subject to change
** Please contact service desk for pricing

26,50
5,50
5,50

95,00

37,00

£ dh oy

1,00
12,50
6,00
14,50
5,00
1,00
1,00
1,00
3,00
84,00
1,00
1,00
1,00
29,00
1,00
26,50
9,50
1,00
2,00
1,00
26,50
39,00
95,00
12,50
1,00
1,00
31,50
26,50
125,00
20,00
1,00
17,00
12,50
1,00
17,00
1,00
1,00
4,00
1,00
1,00
26,50

A dh Ay b oAb A dh A A A oAb A dh A A A A dh dh A A A oAb dh dh A A A dh A Ay A A A dh A Ay D A dh dh

268
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

PRO22K-CART-2

Pricing subject to change 269
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

PRO22K-CART-2
Description
1 N325-0099 lid handle € 26,50
2 N655-0141 support lid handle left € 5,50
3  N655-0142 support lid handle right € 5,50
4 N335-0057K lid € 95,00
5 N685-0011 temperature gauge € 37,00
6  W450-0005 logo spring clips **
7  Z570-0029 screw 10-24 x 35 mm € 1,00
8 NO080-0271 hinge upper € 12,50
9 N655-0143 stiffener plate hinge € 6,00
10 NO080-0270 hinge lower € 14,50
11 N655-0155 stiffener plate hinge € 5,00
12 N735-0010 lockwasher € 1,00
13 Z570-0033 screw 10-24 x 12mm € 1,00
14 N570-0042 screw 10-24 x 3/8” € 1,00
15 N570-0098 screw, hinge € 3,00
16 NO010-0692 middle ring assembly base € 84,00
17  N450-0032 nut M4 € 1,00
18 Z735-0008 washer € 1,00
19 N570-0093 screw M4 x 8mm € 1,00
20 N655-0202 support, air vent ring € 29,00
21 N450-0048 washer, lock 10-32 € 1,00
22 N710-0103-BK1HG drip pan - ash collector € 26,50
23 NO010-0969 ash pan handle € 9,50
24 N570-0115 1/4-20 x 5/8” screw € 1,00
25 N570-0123 shoulder screw, 10-32 x 1/2” € 2,00
26  N450-0025 nut 1/4-20 € 1,00
27 N305-0081-BK2FL cooking grid side € 39,00
28 N305-0080-BK2FL cooking grid main € 95,00
29 N325-0076 handle cooking grid € 12,50
30 Z735-0014 M4 washer € 1,00
31 Z570-0032 M4 screw € 1,00
32 N500-0043 reflector plate € 31,50
33 N305-0077 charcoal grate € 26,50
34 N010-0952-BK2GL base € 125,00
35 N325-0075 cart assembly handle € 26,50
36 N475-0288 front cart panel € 125,00
37 NO010-0691P bottom shelf assembly € 115,00
38 N500-0046P base retainer plate € 73,50
39 NO010-0689P post assembly € 31,50
40 NO010-0690 shelf assembly front cart € 159,00
N430-0002 magnetic catch € 6,50
41 N655-0138P stiffener cart support € 17,00
42 N450-0027 1/4” - 20 nut € 0,50
43  Z570-0030 carriage bolt 1/4-20 x 5/8” € 1,00
44  N570-0080 #14 x 1/2” screw € 1,00
45 N160-0021 wire clip shelf assembly € 12,50
46 N555-0037 pivot rod shelf € 6,50
47  Z735-0001 washer € 1,00
48 Z130-0002 caster € 7,50
49 Z745-0001 wheel € 12,50
50 N450-0043 axle cap € 1,00
51 NO015-0010 axle € 8,50
52 NO080-0279 bracket wire support shelf € 8,50
53 N590-0207 basket charcoal € 26,50
54 55110 tool hook bracket >
68911 cover >
Pricing subject to change 270

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NK22K-LEG-2

Pricing subject to change 271
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NK22K-LEG-2

Description

1 NO10-0864-SER lid - handle € 42,00
2 N585-0105 heat shield lid handle € 26,50
3 N655-0188 support lid handle € 1,00
4 N685-0010 temperature gauge € 42,00
5 W450-0005 logo spring clips >

6  N335-0056K lid € 159,00
7 NO080-0262 lid hanging bracket € 6,50
8  N450-0025 nut 1/4-20 € 1,00
9 N305-0078 cooking grid € 52,50
10 N500-0043 reflector plate € 31,50
11 N305-0077 charcoal grate € 26,50
12 N570-0115 1/4-20 x 5/8” screw € 1,00
13 NO010-0865-SER base handle € 20,00
14 NO010-0951-BK2GL base € 125,00
15 N570-0087 1/4-20 x 7/8” screw € 1,00
16 Z735-0006 flat washer € 1,00
17 N655-0129P support leg € 4,00
18 NO75-0087L leg wheel € 17,00
19 N710-0103-BK1HG drip pan - ash collector € 26,50
20 N570-0123 shoulder screw, 10-32 x 1/2" € 2,00
21 N450-0048 washer, lock 10-32 € 1,00
22  NO075-0086L-1 leg front € 17,00
23 Z745-0001 wheel € 12,50
24 N450-0035 acorn nut M8 € 1,00
25 N450-0043 axle cap € 1,00
26 N120-0015 cap leg € 1,00
27 N655-0202 support, air vent ring € 29,00
28 NO010-0969 ash pan handle € 9,50
29 N590-0234-BK1SG wire bottom shelf € 26,50
30 Z735-0007 washer M6 € 1,00
31 N570-0114 1/4-20 x 1-1/8” screw € 1,00

Pricing subject to change 272

Prices are recommended end-user prices

** Please contact service desk for pricing

Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NK18K-LEG

Pricing subject to change 273
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NK18K-LEG-2
Description

1 NO010-1177-SER handle € 21,00
2 NO010-1178-SER lid € 65,00
3 N685-0026 temperature gauge € 14,50
4 N305-0104 cooking grid € 46,00

S83019 cast iron cooking grid kit (accessory) € 86,95
5 N305-0105 charcoal grate € 12,50
6 NO010-1179-SER base € 95,00
7  Z475-0001 wheel >
8 N590-0316 wire bottom shelf € 11,50
9 N370-0914-SER leg kit € 46,00
10 NO010-1180-SER air vent control € 14,50
11 NO10-1181-SER ash bucket € 31,50
12 N370-0915-SER hardware kit € 9,50

Pricing subject to change 274

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Notes

Pricing subject to change 275
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

BIG32RB

Pricing subject to change 276
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



O~NO O~ WN =

DO 0O AR DR WWWWWMWWWWWNNNNNNNNNDD = 2 2 s s
CONOAN_LO0ODOONLO0O0OONOODOPREWON-_LODOONOOOPR,WON_LOOONOGDNWN-=O

61
62

63

Prices are recommended end-user prices

BIG32RB

N010-1337
S91009
N010-1340
N510-0013
N370-1026-SER
N520-0052
$83028

S87019
N305-0122
N570-0038
S87018
N370-1021-SER
N370-1030-SER
N370-1068-SER
N357-0022
N707-0020
N475-0532
N570-0008
N750-0086
N190-0007
N750-0103
N010-1329
N750-0038
N750-0088
N750-0087
N010-1387-SER
N720-0084
N080-0462-SER
N080-0458
N010-1317-SER
N370-0822
N080-0405
N570-0087
N370-1027-SER
N035-0171
N370-1031-SER
N080-0459
N450-0052
N735-0010

N585-0153-BK2GL

N215-0022
NO010-1334
N570-0013
N370-1022-SER
N570-0134
N045-0001
N255-0071
N370-1039-SER
N350-0069
N100-0045
W456-0050
N455-0055
N240-0034
N010-1381-SER
N010-1382-SER

N475-0511

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

ASSY, LID BIG32
GAUGE, TEMP AND BEZEL BIG32/38/44
ASSY, LID WELDED BIG32

BUMPER, RECTANGULAR BLK SILICONE

KIT, LID HARDWARE BIG32/38/44

RACK, WARMING STN STL BIG32

GRIDS, STN STL BIG32

KIT, BURNER / SEAR PLATE BIG32/38/44
SEAR PLATE, HALF BIG32

SCRW,1/4-20 X1/2 STN STL HEX

BRACKET, CROSS LIGHT BIG32/38/44

KIT, BEARINGS QTY 2 BIB18, BIG32/38/44
KIT, SHIELDS A AND B, BIG32/38/44

KIT, ELECTRICAL PANEL BIG32/38/44 CE
IGNITER, BLOCK 4 SPARK 12VAC/DC PRO -3
TRANSFORMER, 230VAC IN, 12VDC OUT CE
PANEL, ELECTRICAL CNTRL MNT BIG32/38/44
SCREW, #8 X 1/2 HEXHD TEK STN

WIRE, TRANSFORMER CONNECTION BIG32/38/44
CONTROL, BOX BIG32/38/44

WIRE, IGNITER GROUND 64 IN BIG32/38
ASSY, DRIP PAN BIG32

WIRE,SMOKER BURNER 75" LEAD

WIRE, IGNITER EXTENSION BIG32/38/44
WIRE, PWR/CNTRL EXT BIB10/18 BIG32/38/44
ASSY, MANIFOLD CLAMP BIB10 BIG32/38/44
CONNECTOR, FLEX STN STL 1/4 IN X 36 IN
BRACKET, HOSE CLAMP BIG32/38/44
BRACKET, R BRNR ORFICE MOUNT BIG32/38/44
ASSY, BASE W/ BRNER/CROSSLIGHT BIG32
KIT BRACKET, SEAR PLATE MOUNT
BRKT,SEAR PLATE MNT STNSTL PRO665/825
SCREW,1/4-20 X 7/8" HEX HD STN STL

KIT, 4X ADHESIVE WIRE CLIP BIG32/38/44
BASE, REAR PANEL BIG32

KIT, SPIT ROD MOUNTS LT&RT BIG32/38/44
BRACKET, ROTIS BEARING MOUNT BIG32/38/44
NUT, ACORN, 10-24 STN STL

LOCKWASHER, #10 ST ST EXTERNAL STAR,
SHIELD, HOOD BIG32

DEFLECTOR, WIND BIG32

ASSY, HOOD BIG32

SCREW #8 X 5/8" ST.ST. PAN HD. PHIL.

KIT, ROTIS STANDOFF W/ HARDWARE BIG44
SCREW, 10-24 X 7/8 IN STN STL CNT SUNK
BEARING, 0.750 IN

FITTING, STRAGHT 1/4 MF TO 1/8 FPT

KIT, REAR BURNER, HOUSING BIG32/38
HOUSING, REAR BURNER 500/665/825
BURNER, REAR STN STL 500/665/825

60° BURNER ORIFICE #50 NAT

ORIFICE 1.25MM STANDARD LPG
ELECTRODE, REAR BURNER PRO

ASSY, CONT PANEL BIG32 NAT

ASSY, CONT PANEL BIG32 LPG

PANEL, CONTROL STN STL BIG32

Pricing subject to change
** Please contact service desk for pricing

699,00
28,50
399,00
2,00
2,50
42,00
249,00
66,00
21,00
1,00
10,50
19,00
34,50
95,00
17,00
35,50
10,50
2,00
13,50
26,50
6,50
129,00
6,50
8,50
16,00
8,50
10,50
2,50
2,00
449,00
8,50
8,50
1,00
2,00
42,00
47,50
4,50
1,00
1,00
40,00
19,00
139,00
1,00
71,50
1,00
21,00
2,50
125,00
31,50
26,50
10,50
5,50
5,50
349,00
349,00
84,00

anodh dh dh A Ay A oAb A dh A A A A A dh A A A A A A A A D oAb dh A A A A dh A dh A A A dh A A A A A dh A A A A A dh A A A dh dh

277
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

BIG32RB

Description

N160-0048 CLIP,CONTROL PANEL WIRES € 3,00
65 N750-0090 WIRE, LED HARNESS BIG32 € 11,50
66 N385-0307-SER NAPOLEON LOGO MILLED C/W CLIPS (2015) € 4,00
67 N750-0089 WIRE, SWITCH HARNESS BIG32 € 38,00
68 N660-0005 SWITCH, IGNTR 12V PRO500-1/665-1/825-1 € 31,50
69 N720-0070 CONNECTOR, FLEX STN STL 1/2" X 30" € 31,50
70 NO10-1343 ASSY, MANIFOLD BIG32 LPG CONVERTIBLE € 89,00

N010-1344 ASSY, MANIFOLD BIG32 NAT CONVERTIBLE € 89,00
71 N380-0034-CL KNOB,CNTRL CLR C/W MAGNET SM € 12,50
72 N380-0035-CL KNOB,CNTRL CLR C/W MAGNET LRG € 12,50
73 NO10-1314 ASSY, SML LED, SAFETY GLOW 12V Bl SERIES € 21,00
74 NO10-1313 ASSY, LRG LED, SAFETY GLOW 12V Bl SERIES € 21,00
76 NO10-0857 REG LPG STEP DOWN 50MBAR TO 24.5MBAR € 73,50
AC BI-3623-ZCL Bl, ZERO CLRNCE LINER BIG32 *

Pricing subject to change 278

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Notes

Pricing subject to change 279
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

BIG38RB

Pricing subject to change 280
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



O~NO O~ WN =

DTG0 OO A AR DBAWOWWWWWWWWWNNNNNNNNNDD = 2 2 s A
CO~NOAN_LO0ODO0OONLO0O0OONOODAPRWON-_LODOONOOOPR,WON_LOOONOGDWN-=O

61
62

63

Prices are recommended end-user prices

BIG38RB

N010-1338
S91009
N010-1341
N510-0013
N370-1026-SER
N520-0053
$83029

S87019
N305-0119
N570-0038
S87018
N370-1021-SER
N370-1030-SER
N370-1068-SER
N357-0022
N707-0020
N475-0532
N570-0008
N750-0086
N190-0007
N750-0103
N010-1330
N750-0038
N750-0088
N750-0087
N010-1387-SER
N720-0084
N080-0462-SER
N080-0458
N010-1318-SER
N370-0822
N080-0405
N570-0087
N370-1027-SER
N035-0172
N370-1031-SER
N080-0459
N450-0052
N735-0010

N585-0154-BK2GL

N215-0023
N010-1335
N570-0013
N370-1022-SER
N570-0134
N045-0001
N255-0071
N370-1039-SER
N350-0069
N100-0045
W456-0050
N455-0055
N240-0034
N010-1383-SER
N010-1384-SER

N475-0512

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

ASSY, LID BIG38
GAUGE, TEMP AND BEZEL BIG32/38/44
ASSY, LID WELDED BIG38

BUMPER, RECTANGULAR BLK SILICONE

KIT, LID HARDWARE BIG32/38/44

RACK, WARMING STN STL BIG38

GRIDS, STN STL BIG38

KIT, BURNER / SEAR PLATE BIG32/38/44
SEAR PLATE, HALF BIG38/44

SCRW,1/4-20 X1/2 STN STL HEX

BRACKET, CROSS LIGHT BIG32/38/44

KIT, BEARINGS QTY 2 BIB18, BIG32/38/44
KIT, SHIELDS A AND B, BIG32/38/44

KIT, ELECTRICAL PANEL BIG32/38/44 CE
IGNITER, BLOCK 4 SPARK 12VAC/DC PRO -3
TRANSFORMER, 230VAC IN, 12VDC OUT CE
PANEL, ELECTRICAL CNTRL MNT BIG32/38/44
SCREW, #8 X 1/2 HEX HD TEK STN

WIRE, TRANSFORMER CONNECTION BIG32/38/44
CONTROL, BOX BIG32/38/44

WIRE, IGNITER GROUND 64 IN BIG32/38
ASSY, DRIP PAN BIG38

WIRE,SMOKER BURNER 75" LEAD

WIRE, IGNITER EXTENSION BIG32/38/44
WIRE, PWR/CNTRL EXT BIB10/18 BIG32/38/44
ASSY, MANIFOLD CLAMP BIB10 BIG32/38/44
CONNECTOR, FLEX STN STL 1/4 IN X 36 IN
BRACKET, HOSE CLAMP BIG32/38/44
BRACKET, R BRNR ORFICE MOUNT BIG32/38/44
ASSY, BASE W/ BRNER/CROSSLIGHT BIG38
KIT BRACKET, SEAR PLATE MOUNT
BRKT,SEAR PLATE MNT STNSTL PRO665/825
SCREW,1/4-20 X 7/8" HEX HD STN STL

KIT, 4X ADHESIVE WIRE CLIP BIG32/38/44
BASE, REAR PANEL BIG38

KIT, SPIT ROD MOUNTS LT&RT BIG32/38/44
BRACKET, ROTIS BEARING MOUNT BIG32/38/44
NUT, ACORN, 10-24 STN STL

LOCKWASHER, #10 ST ST EXTERNAL STAR,
SHIELD, HOOD BIG38

DEFLECTOR, WIND BIG38

ASSY, HOOD BIG38

SCREW #8 X 5/8" ST.ST. PAN HD. PHIL.

KIT, ROTIS STANDOFF W/ HARDWARE BIG44
SCREW, 10-24 X 7/8 IN STN STL CNT SUNK
BEARING, 0.750 IN

FITTING, STRAGHT 1/4 MF TO 1/8 FPT

KIT, REAR BURNER, HOUSING BIG32/38
HOUSING, REAR BURNER 500/665/825
BURNER, REAR STN STL 500/665/825

60° BURNER ORIFICE #50 NAT

ORIFICE 1.25MM STANDARD LPG
ELECTRODE, REAR BURNER PRO

ASSY, CONT PANEL BIG38 NAT

ASSY, CONT PANEL BIG38 LPG

PANEL, CONTROL STN STL BIG38

Pricing subject to change
** Please contact service desk for pricing

749,00
28,50
399,00
2,00
2,50
52,50
279,00
66,00
21,00
1,00
10,50
19,00
34,50
95,00
17,00
35,50
10,50
2,00
13,50
26,50
6,50
149,00
6,50
8,50
16,00
8,50
10,50
2,50
2,00
499,00
8,50
8,50
1,00
2,00
52,50
47,50
4,50
1,00
1,00
48,50
25,00
169,00
1,00
71,50
1,00
21,00
2,50
125,00
31,50
26,50
10,50
5,50
5,50
399,00
399,00

95,00

an b dh dh A A A oAb A dh A A A A A dh A A A A dh A A A D A dh A A A A dh A A A A A dh A A A A A dh A A A A A dh A A A dh dh

281
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

BIG38RB

Description

N160-0048 CLIP,CONTROL PANEL WIRES € 3,00
65 N750-0092 WIRE, LED HARNESS BIG38 € 12,50
66 N385-0307-SER NAPOLEON LOGO MILLED C/W CLIPS (2015) € 4,00
67 N750-0091 WIRE, SWITCH HARNESS BIG38 € 40,00
68 N660-0005 SWITCH, IGNTR 12V PRO500-1/665-1/825-1 € 31,50
69 N720-0070 CONNECTOR, FLEX STN STL 1/2" X 30" € 31,50
70 NO10-1345 ASSY, MANIFOLD BIG38 LPG CONVERTIBLE € 109,00

N010-1346 ASSY, MANIFOLD BIG38 NAT CONVERTIBLE € 109,00
71 N380-0034-CL KNOB,CNTRL CLR C/W MAGNET SM € 12,50
72 N380-0035-CL KNOB,CNTRL CLR C/W MAGNET LRG € 12,50
73 NO10-1314 ASSY, SML LED, SAFETY GLOW 12V Bl SERIES € 21,00
74 NO10-1313 ASSY, LRG LED, SAFETY GLOW 12V Bl SERIES € 21,00
76 NO10-0857 REG LPG STEP DOWN 50MBAR TO 24.5MBAR € 73,50
AC BI-4223-ZCL Bl, ZERO CLRNCE LINER BIG38 *

Pricing subject to change 282

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Notes

Pricing subject to change 283
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

BIG44RB

Pricing subject to change 284
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



O~NO O~ WN =

DO OO BB DBBRWWWWWWWWWWNNNNDNNNNDED = = s s
QO NOPAPWN_LO0O0OON_LO00ONODAPR,WN_LO0OO0OONOODOPR,WON_,LOOOONOOP~WN-=O

61
62

63

Prices are recommended end-user prices

BIG44RB

N010-1339
S91009
N010-1342
N510-0013
N370-1026-SER
N520-0054
S$83030

S87019
N305-0119
N570-0038
S87018
N370-1021-SER
N370-1030-SER
N370-1068-SER
N357-0022
N707-0020
N475-0532
N570-0008
N750-0086
N190-0007
N750-0103
N010-1331
N750-0038
N750-0088
N750-0087
N010-1387-SER
N720-0082
N080-0462-SER
N080-0458
N010-1319-SER
N370-0822
N080-0405
N570-0087
N370-1027-SER
N035-0173
N370-1031-SER
N080-0459
N450-0052
N735-0010

N585-0155-BK2GL

N215-0024
N010-1336
N570-0013
N370-1022-SER
N570-0134
N045-0001
N010-1369
N255-0071
N370-1040-SER
N350-0090
N100-0045
W456-0050
N455-0055
N240-0034
N010-1385-SER
N010-1386-SER

N475-0513

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

ASSY, LID BIG44
GAUGE, TEMP AND BEZEL BIG32/38/44
ASSY, LID WELDED BIG44

BUMPER, RECTANGULAR BLK SILICONE

KIT, LID HARDWARE BIG32/38/44

RACK, WARMING STN STL BIG44 1 PC
GRIDS, STN STL BIG44

KIT, BURNER / SEAR PLATE BIG32/38/44
SEAR PLATE, HALF BIG38/44

SCRW,1/4-20 X1/2 STN STL HEX

BRACKET, CROSS LIGHT BIG32/38/44

KIT, BEARINGS QTY 2 BIB18, BIG32/38/44
KIT, SHIELDS A AND B, BIG32/38/44

KIT, ELECTRICAL PANEL BIG32/38/44 CE
IGNITER, BLOCK 4 SPARK 12VAC/DC PRO -3
TRANSFORMER, 230VAC IN, 12VDC OUT CE
PANEL, ELECTRICAL CNTRL MNT BIG32/38/44
SCREW, #8 X 1/2 HEX HD TEK STN

WIRE, TRANSFORMER CONNECTION BIG32/38/44
CONTROL, BOX BIG32/38/44

WIRE, IGNITER GROUND 64 IN BIG32/38
ASSY, DRIP PAN BIG44

WIRE,SMOKER BURNER 75" LEAD

WIRE, IGNITER EXTENSION BIG32/38/44
WIRE, PWR/CNTRL EXT BIB10/18 BIG32/38/44
ASSY, MANIFOLD CLAMP BIB10 BIG32/38/44
CONNECTOR, FLEX STN STL 1/4" X 32"
BRACKET, HOSE CLAMP BIG32/38/44
BRACKET, R BRNR ORFICE MOUNT BIG32/38/44
ASSY, BASE W/ BRNER/CROSSLIGHT BIG44
KIT BRACKET, SEAR PLATE MOUNT
BRKT,SEAR PLATE MNT STNSTL PRO665/825
SCREW,1/4-20 X 7/8" HEX HD STN STL

KIT, 4X ADHESIVE WIRE CLIP BIG32/38/44
BASE, REAR PANEL BIG44

KIT, SPIT ROD MOUNTS LT&RT BIG32/38/44
BRACKET, ROTIS BEARING MOUNT BIG32/38/44
NUT, ACORN, 10-24 STN STL

LOCKWASHER, #10 ST ST EXTERNAL STAR,
SHIELD, HOOD BIG44

DEFLECTOR, WIND BIG44

ASSY, HOOD BIG44

SCREW #8 X 5/8" ST.ST. PAN HD. PHIL.

KIT, ROTIS STANDOFF W/ HARDWARE BIG44
SCREW, 10-24 X 7/8 IN STN STL CNT SUNK
BEARING, 0.750 IN

ASSY, ROTISSERIE STAND OFF BIG44
FITTING, STRAGHT 1/4 MF TO 1/8 FPT

KIT, REAR BURNER, HOUSING BIG44
HOUSING, R. BURNER DUAL BIG44

BURNER, REAR STN STL 500/665/825

60° BURNER ORIFICE #50 NAT

ORIFICE 1.25MM STANDARD LPG
ELECTRODE, REAR BURNER PRO

ASSY, CONT PANEL BIG44 NAT

ASSY, CONT PANEL BIG44 LPG

PANEL, CONTROL STN STL BIG44

Pricing subject to change
** Please contact service desk for pricing

799,00
28,50
399,00
2,00
2,50
37,00
319,00
66,00
21,00
1,00
10,50
19,00
34,50
95,00
17,00
35,50
10,50
2,00
13,50
26,50
6,50
169,00
6,50
8,50
16,00
8,50
17,00
2,50
2,00
699,00
8,50
8,50
1,00
2,00
58,00
47,50
4,50
1,00
1,00
54,50
26,50
189,00
1,00
71,50
1,00
21,00
33,50
2,50
169,00
125,00
26,50
10,50
5,50
5,50
499,00
499,00

149,00

an o ah dh dh A A A A dh A A A A D dh A A D A A dh A A A A A dh A A A A A A A A A oAb A A A A A dh A A A A A dh A A D A dh odh A Ay

285
Effective January 1st, 2023



65
66
67
68
69
70

71

72
73
74
75
76
AC

Prices are recommended end-user prices

BIG44RB

N160-0048
N750-0094

N385-0307-SER

N750-0093
N660-0005
N720-0070
N010-1347
N010-1348
N380-0034-CL
N380-0035-CL
N010-1314
N010-1313
N240-0044
N010-0857
BI-4823-ZCL

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

CLIP,CONTROL PANEL WIRES
WIRE, LED HARNESS BIG44
NAPOLEON LOGO MILLED C/W CLIPS (2015)
WIRE, SWITCH HARNESS BIG44

SWITCH, IGNTR 12V PRO500-1/665-1/825-1
CONNECTOR, FLEX STN STL 1/2" X 30"

ASSY, MANIFOLD BIG44 LPG CONVERTIBLE
ASSY, MANIFOLD BIG44 NAT CONVERTIBLE
KNOB,CNTRL CLR C/W MAGNET SM
KNOB,CNTRL CLR C/W MAGNET LRG

ASSY, SML LED, SAFETY GLOW 12V Bl SERIES
ASSY, LRG LED, SAFETY GLOW 12V Bl SERIES
ELECTRODE, LH REAR BURNER BIG44

REG LPG STEP DOWN 50MBAR TO 24.5MBAR
Bl, ZERO CLRNCE LINER BIG44

Pricing subject to change

** Please contact service desk for pricing

3,00
17,00
4,00
42,00
31,50
31,50
139,00
139,00
12,50
12,50
21,00
21,00
5,50
73,50

OO ONOWONOWONOWONONONONONO)]

286
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Notes

Pricing subject to change 287
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

BIB10IR

Pricing subject to change 288
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

BIB10IR

Description

1 NO010-1380 ASSY, LID BIB10 € 29,50
2 N325-0049-SER HANDLE DOOR/DRAWER/LID 8 IN W/HARDWARE € 10,50
3 S83031 GRID, STN STL BIB10 € 41,95
4 S81004 BURNER, IR SIDE € 79,00
5 NO010-1325 ASSY, BASE WELDED BIB10IR € 299,00
6  N380-0034-CL KNOB,CNTRL CLR C/W MAGNET SM € 12,50
7 NO10-1314 ASSY, SML LED, SAFETY GLOW 12V Bl SERIES € 21,00
8 N660-0005 SWITCH, IGNTR 12V € 31,50
9  N640-0006 STRAP, TIE SELF-LOCKING 5.6MM X 150MM i
10 N555-0097 ROD, LIGHTING MATCH, FIXED € 5,50
11 N215-0025 DEFLECTOR, PILOT LIGHT BIB10IR € 6,50
12 N370-1034-SER KIT, MANIFOLD W/ PILOT BIB10IR NAT € 63,00
N370-1035-SER KIT, MANIFOLD W/ PILOT BIB10IR LPG € 63,00
13 NO10-1354 ASSY, MANIFOLD SINGLE IR, NAT € 29,50
N010-1353 ASSY, MANIFOLD BIB10IR LPG € 29,50
14 N455-0115 ORIFICE, 1.27MM BIB10IR NAT € 4,00
N455-0116 ORIFICE, #64 BIB10IR LPG € 4,00
15 N720-0070 CONNECTOR, FLEX STN STL 1/2" X 30" € 31,50
16 NO10-1387-SER ASSY, MANIFOLD CLAMP BIB10 BIG32/38/44 € 8,50
17 N750-0099 WIRE, SWITCH HARNESS BIB10 € 19,00
18 N750-0087 WIRE, PWR/CNTRL EXT BIB10/18 BIG32/38/44 € 16,00
19 N750-0100 WIRE, LED HARNESS BIB10 € 4,00
20 N710-0130 DRIP PAN BIB10 € 17,00
21 N370-1027-SER KIT, 4X ADHESIVE WIRE CLIP BIG32/38/44 € 2,00
26 N570-0008 SCREW, #8 X 1/2 HEX HD TEK STN € 2,00
27 NO010-0857 REG LPG STEP DOWN 50MBAR TO 24.5MBAR € 73,50
Pricing subject to change 289

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

BIB10RT

Pricing subject to change 290
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



13

14
15
16
17
18
19
20
21
22
23
24
25

27

Prices are recommended end-user prices

BIB10RT

N010-1380
N325-0049-SER
S83031

S81008

S$81009
N010-1322
N380-0034-CL
N010-1314
N660-0005
N640-0006
N555-0097
N080-0454-SER
N370-1032-SER
N370-1033-SER
N010-1356
N010-1355
N255-0069
N720-0070
N010-1387-SER
N750-0099
N750-0087
N750-0100
N710-0130
N370-1027-SER
N570-0013
W615-0043
N720-0085
N455-0106
N455-0105
NO010-0857

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

ASSY, LID BIB10

HANDLE DOOR/DRAWER/LID 8 IN W/HARDWARE

GRID, STN STL BIB10

BURNER, BIB10RT NAT

BURNER, BIB10RT LPG

ASSY, BASE WELDED BIB10RT

KNOB,CNTRL CLR C/W MAGNET SM

ASSY, SML LED, SAFETY GLOW 12V Bl SERIES
SWITCH, IGNTR 12V

STRAP, TIE SELF-LOCKING 5.6MM X 150MM
ROD, LIGHTING MATCH, FIXED

BRACKET, JETFIRE MOUNT BIB10RT

KIT, MANIFOLD W/ JETFIRE BIB10RT NAT
KIT, MANIFOLD W/ JETFIRE BIB10RT LPG
ASSY, MANIFOLD SINGLE RANGE, NAT
ASSY, MANIFOLD SINGLE RANGE, LPG
FITTING, 7/16-20 TO M13X1 M-M ADAPTER
CONNECTOR, FLEX STN STL 1/2" X 30"
ASSY, MANIFOLD CLAMP BIB10 BIG32/38/44
WIRE, SWITCH HARNESS BIB10

WIRE, PWR/CNTRL EXT BIB10/18 BIG32/38/44
WIRE, LED HARNESS BIB10

DRIP PAN BIB10

KIT, 4X ADHESIVE WIRE CLIP BIG32/38/44
SCREW #8 X 5/8" ST.ST. PAN HD. PHIL.
SPACER #10 X 1/4 BLACK ZINC
CONNECTOR, FLEX STN STL 1/4" X 4"
ORIFICE, #55 BIB10RT NAT

ORIFICE, #64 BIB10RT LPG

REG LPG STEP DOWN 50MBAR TO 24.5MBAR

Pricing subject to change

** Please contact service desk for pricing

29,50
10,50
41,95
29,50
29,50
179,00
12,50
21,00
31,50

N OWONONONOWONONONO!

5,50
6,50
63,00
63,00
29,50
29,50
3,00
31,50
8,50
19,00
16,00
4,00
17,00
2,00
1,00
1,00
5,50
3,00
3,00
73,50

[ONONONONONOWONONONONONONONOWOROWONOWONOY

291
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

BIB12RT

10
W

s .J ~(10)

Pricing subject to change 292
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

BIB12RT

Description

1 N335-0145 LID, DUAL BURNER, BIB12 € 125,00
2 S83035 GRID, STN STL BIB12RT € 115,00
3 S81010 BURNER, BIB12/18RT NAT € 29,50
S81011 BURNER, BIB12/18RT LPG € 29,50
4 NO010-1449 ASSY, BASE BIB/BI12RT € 349,00
5 N035-0179 BASE, REAR PANEL BIB/BI12RT € 14,50
6  N380-0035-CL KNOB,CNTRL CLR C/W MAGNET LRG € 12,50
7 NO010-1313 ASSY, LRG LED, SAFETY GLOW 12V Bl SERIES € 21,00
8 N660-0005 SWITCH, IGNTR 12V € 31,50
9  N640-0006 STRAP, TIE SELF-LOCKING 5.6MM X 150MM **
10 N555-0097 ROD, LIGHTING MATCH, FIXED € 5,50
11 NO080-0451-SER BRACKET, FLAME DEFLECTOR BIB18RT € 6,50
12 NO10-1483-SER ASSEMBLY, CONT PANEL BIB12RT NAT € 229,00
N010-1484-SER ASSEMBLY, CONT PANEL BIB12RT LPG € 229,00
13 NO010-1451 ASSY, MANIFOLD, DUAL BURNER, BIB12RT, NAT € 38,00
N010-1452 ASSY, MANIFOLD, DUAL RANGE, 12" LPG € 38,00
14 N475-0573 PANEL, CONTROL, DUAL BURNER STN STL BIB12 € 63,00
15 N720-0070 CONNECTOR, FLEX STN STL 1/2" X 30" € 31,50
16 N255-0069 FITTING, 7/16-20 TO M13X1 M-M ADAPTER € 3,00
17 N750-0104 WIRE, MAIN POWER BIB12RT € 31,50
18 N750-0087 WIRE, PWR/CNTRL EXT BIB10/18 BIG32/38/44 € 16,00
19 N750-0105 WIRE, LED HARNESS BIB12RT € 6,50
20 NO10-1453 ASSY, DRIP PAN BIB/BI12RT € 115,00
21 N370-1021-SER KIT, BEARINGS QTY 2 € 19,00
22 NO080-0462-SER BRACKET, HOSE CLAMP BIG32/38/44 € 2,50
23 N357-0028 IGNITER, EXT. JETFIRE BIB/BI12RT NAT € 12,50
N357-0029 IGNITER, EXT. JETFIRE BIB/BI12RT LPG € 12,50
24 N720-0083 CONNECTOR, FLEX STN STL 1/4 IN X 10 IN € 8,50
25 N455-0108 ORIFICE, 1.7MM BIB18 NAT € 2,00
N455-0107 ORIFICE, 1.2MM BIB18 LPG € 3,00
26 N570-0008 SCREW, #8 X 1/2 HEX HD TEK STN € 2,00
27 N035-0182 BASE, BURNER PLATE, BIB/BI12RT € 27,50
30 N370-1065-SER KIT, MANIFOLD W/ JETFIRE BIB12RT NAT € 73,50
N370-1066-SER KIT, MANIFOLD W/ JETFIRE BIB12RT LPG € 73,50
31 N720-0060 NGZ CONNECTOR,FLEX MANIFOLD 1/4X14" € 8,50
32 N010-0857 REG LPG STEP DOWN 50MBAR TO 24.5MBAR € 73,50
Pricing subject to change 293

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Notes

Pricing subject to change 294
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

BIB18IR

Pricing subject to change 295
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



© 00 ~NO O~ WN =

14
15
17
18
19
20
21
22
26
28
29
S5

Prices are recommended end-user prices

BIB18IR

N335-0137
S83033
N010-0897
N010-1323
N035-0165
N380-0035-CL
N010-1313
N660-0005
N640-0006
N555-0097
N080-0450-SER
N010-1393-SER
N010-1394-SER
N010-1350
N010-1349
N475-0514
N720-0070
N750-0095
N750-0087
N750-0096
N010-1332
N370-1021-SER
N080-0462-SER
N570-0008
N655-0214-SER
N585-0162
N010-0857

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

LID, STN STL BIB18
GRIDS, STN STL BIB18IR

ASSY, BRNR MAIN IR

ASSY, BASE BIB18IR

BASE, REAR PANEL BIB18

KNOB,CNTRL CLR C/W MAGNET LRG

ASSY, LRG LED, SAFETY GLOW 12V Bl SERIES
**SWITCH, IGNTR 12V PRO500-1/665-1/825-1
STRAP, TIE SELF-LOCKING 5.6MM X 150MM

* ROD, LIGHTING MATCH, FIXED

BRACKET, FLAME DEFLECTOR BIB18IR

$ 111 ASSY, CONT PANEL BIB18IR NAT

$ 111 ASSY, CONT PANEL BIB18IR LPG

ASSY, MANIFOLD BIB18IR NAT CONVERTIBLE
ASSY, MANIFOLD BIB18IR LPG CONVERTIBLE
PANEL, CONTROL STN STL BIB18IR
CONNECTOR, FLEX STN STL 1/2" X 30"

WIRE, SWITCH HARNESS BIB18

WIRE, PWR/CNTRL EXT BIB10/18 BIG32/38/44
WIRE, LED HARNESS BIB18

ASSY, DRIP PAN BIB18

KIT, BEARINGS QTY 2 BIB18, BIG32/38/44
BRACKET, HOSE CLAMP BIG32/38/44
@SCREW, #8 X 1/2 HEXHD TEK STN
SUPPORT, IR BURNER W/ SCREWS BIB18IR
SHIELD, BURNER MAIN - B BIB18/BIG SERIES
REG LPG STEP DOWN 50MBAR TO 24.5MBAR

Pricing subject to change

** Please contact service desk for pricing

169,00
115,00

O

420,00
31,50
12,50
21,00
31,50

£ dh dh dh

5,50
4,00
199,00
199,00
39,00
42,00
73,50
31,50
29,50
16,00
6,50
125,00
19,00
2,50
2,00
6,50
12,50
73,50

(OWONOWONOWONONONONONOWONOWONONONONO)

296
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

BIB18PB

Pricing subject to change 297
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

BIB18IR

Description

1 N335-0137 LID, STN STL BIB18 € 169,00
2 S83034 GRIDS, STN STL BIB18PB € 119,00
3 N100-0064 BURNER, CAST STN STL 60,000 BTU BIB18PB € 319,00
4 NO010-1320 ASSY, BASE BIB18PB € 420,00
5 NO035-0165 BASE, REAR PANEL BIB18 € 31,50
6  N380-0035-CL KNOB,CNTRL CLR C/W MAGNET LRG € 12,50
7 NO10-1313 ASSY, LRG LED, SAFETY GLOW 12V Bl SERIES € 21,00
8 N660-0005 **SWITCH, IGNTR 12V PRO500-1/665-1/825-1 € 31,50
9 N640-0006 STRAP, TIE SELF-LOCKING 5.6MM X 150MM *
10 N555-0097 * ROD, LIGHTING MATCH, FIXED € 5,50
12 NO10-1481-SER ASSEMBLY, CONT PANEL BIB18PB NAT € 249,00

N010-1482-SER ASSEMBLY, CONT PANEL BIB18PB LPG € 249,00
13  NO10-1446 ASSY, MANIFOLD BIB18PB NAT CONVERTIBLE *

NO010-1447 ASSY, MANIFOLD BIB18PB LPG CONVERTIBLE € 42,00
14 N475-0516 PANEL, CONTROL STN STL BIB18PB € 73,50
15 N720-0070 CONNECTOR, FLEX STN STL 1/2" X 30" € 31,50
16 N255-0069 FITTING, 7/16-20 TO M13X1 M-M ADAPTER € 3,00
17 N750-0095 WIRE, SWITCH HARNESS BIB18 € 29,50
18 N750-0087 WIRE, PWR/CNTRL EXT BIB10/18 BIG32/38/44 € 16,00
19 N750-0096 WIRE, LED HARNESS BIB18 € 6,50
20 NO010-1332 ASSY, DRIP PAN BIB18 € 125,00
21 N370-1021-SER KIT, BEARINGS QTY 2 BIB18, BIG32/38/44 € 19,00
22 NO080-0462-SER BRACKET, HOSE CLAMP BIG32/38/44 € 2,50
24 N720-0086 TUBE, 3/8 IN FLEX HOSE 6 IN BIB18PB € 6,50
25 N455-0117 ORIFICE, 2.05MM BIB18PB NAT *

N455-0118 ORIFICE, 2.4MM NAT BIB18PB >

N455-0119 ORIFICE, 1.4MM LPG BIB18PB *

N455-0120 ORIFICE, 1.75MM LPG BIB18PB **
26 N570-0008 @SCREW, #8 X 1/2 HEX HD TEK STN € 2,00
29 N585-0161 SHIELD, HEAT BIB18PB € 21,00
31 W255-0004 @ * ELBOW 3/8 TUBE TO 1/8 FEMALE € 13,00
32 NO010-1448 ASSY, IGNITOR TUBE WELDED BIB18PB € 17,00
33 NO010-1333 ASSY, BURNER COLLAR BIB18PB € 149,00
34 N485-0012 * @ PIN, HAIRPIN COTTER, WHEEL MOUNT € 1,00
35 NO010-0857 REG LPG STEP DOWN 50MBAR TO 24.5MBAR € 73,50

Pricing subject to change 298

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



BIB18RT

Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

KL

e
S =L N4

Prices are recommended end-user prices

Pricing subject to change
** Please contact service desk for pricing

299
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

BIB18RT

Description

1 N335-0137 LID, STN STL BIB18 € 169,00
2 S83032 GRIDS, STN STL BIB18RT € 119,00
3 S81010 $ BURNER, BIB12/18RT NAT € 29,50
S81011 $ BURNER, BIB12/18RT LPG € 29,50
4 NO10-1396 ASSY, BASE BIB18RT € 420,00
5 NO035-0165 BASE, REAR PANEL BIB18 € 31,50
6  N380-0035-CL KNOB,CNTRL CLR C/W MAGNET LRG € 12,50
7 NO010-1313 ASSY, LRG LED, SAFETY GLOW 12V BI SERIES € 21,00
8 N660-0005 **SWITCH, IGNTR 12V PRO500-1/665-1/825-1 € 31,50
9  N640-0006 STRAP, TIE SELF-LOCKING 5.6MM X 150MM **
10 N555-0097 *ROD, LIGHTING MATCH, FIXED € 5,50
11 NO080-0451-SER BRACKET, FLAME DEFLECTOR BIB18RT € 6,50
12 NO010-1391-SER $ 11l ASSY, CONT PANEL BIB18RT NAT € 229,00
N010-1392-SER $ 1! ASSY, CONT PANEL BIB18RT LPG € 229,00
13  NO010-1352 ASSY, MANIFOLD BIB18RT NAT CONVERTIBLE € 42,00
NO010-1351 ASSY, MANIFOLD BIB18RT LPG CONVERTIBLE € 42,00
14 N475-0510 PANEL, CONTROL STN STL BIB18RT € 73,50
15 N720-0070 CONNECTOR, FLEX STN STL 1/2" X 30" € 31,50
16 N255-0069 FITTING, 7/16-20 TO M13X1 M-M ADAPTER € 3,00
17 N750-0095 WIRE, SWITCH HARNESS BIB18 € 29,50
18 N750-0087 WIRE, PWR/CNTRL EXT BIB10/18 BIG32/38/44 € 16,00
19 N750-0096 WIRE, LED HARNESS BIB18 € 6,50
20 NO010-1332 ASSY, DRIP PAN BIB18 € 125,00
21 N370-1021-SER KIT, BEARINGS QTY 2 BIB18, BIG32/38/44 € 19,00
22 N080-0462-SER BRACKET, HOSE CLAMP BIG32/38/44 € 2,50
23 N357-0025 IGNITER, EXT. JETFIRE BIB18RT LPG € 10,50
N357-0026 IGNITER, EXT. JETFIRE BIB18RT NAT € 10,50
24 N720-0083 CONNECTOR, FLEX STN STL 1/4 IN X 10 IN € 8,50
25 N455-0108 ORIFICE, 1.7MM BIB18 NAT € 2,00
N455-0107 ORIFICE, 1.2MM BIB18 LPG € 3,00
26 N570-0008 @SCREW, #8 X 1/2 HEX HD TEK STN € 2,00
27 N035-0156 BASE, DUAL RANGE BURNER € 63,00
30 N370-1028-SER KIT, MANIFOLD W/ JETFIRE BIB18RT NAT € 84,00
N370-1029-SER KIT, MANIFOLD W/ JETFIRE BIB18RT LPG € 84,00
35 NO010-0857 REG LPG STEP DOWN 50MBAR TO 24.5MBAR € 73,50
Pricing subject to change 300

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Notes

Pricing subject to change 301
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

BI32

Pricing subject to change 302
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



O~NO O~ WN =

WWWwWWWWWNMNNNDNNNNNDND = s s
~NO O WN-_2000ONOOOPR,WN-_O00OONOOGA,WN-=-0

38
39
40
41

42
43
44
45
AC

Prices are recommended end-user prices

BI32

N010-1337
$91009
N010-1340
N510-0013
N370-1026-SER
N520-0052
S83036

S87019
N305-0122
N570-0038
S87018
N370-1021-SER
N370-1030-SER
N570-0008
N010-1329
N010-1387-SER
N080-0462-SER
N080-0458
N010-1317-SER
N370-0822
N080-0405
N570-0087
N370-1027-SER
N035-0171
N370-1031-SER
N080-0459
N450-0052
N735-0010

N585-0153-BK2GL

N735-0003
Z570-0023
N215-0022
NO010-1334
N570-0013
N570-0134
N045-0001
N010-1504-SER
N010-1505-SER
N475-0576
N385-0307-SER
N720-0070
NO010-1455
N010-1456
N380-0046
N010-1097
N200-0143
N010-0857
BI-3623-ZCL

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

$ ASSY, LID BIG32
GAUGE, TEMP AND BEZEL BIG32/38/44

$ ASSY, LID WELDED BIG32

BUMPER, RECTANGULAR BLK SILICONE

KIT, LID HARDWARE BIG32/38/44

RACK, WARMING STN STL BIG32

GRIDS, STN STL BI32

KIT, BURNER / SEAR PLATE BIG32/38/44

SEAR PLATE, HALF BIG32

@ SCRW,1/4-20 X1/2 STN STL HEX

BRACKET, CROSS LIGHT BIG32/38/44

KIT, BEARINGS QTY 2 BIB18, BIG32/38/44

KIT, SHIELDS A AND B, BIG32/38/44

@SCREW, #8 X 1/2 HEX HD TEK STN

$ ASSY, DRIP PAN BIG32

ASSY, MANIFOLD CLAMP BIB10 BIG32/38/44
BRACKET, HOSE CLAMP BIG32/38/44
BRACKET, R BRNR ORFICE MOUNT BIG32/38/44
ASSY, BASE W/ BRNER/CROSSLIGHT BIG32
KIT BRACKET, SEAR PLATE MOUNT
IIBRKT,SEAR PLATE MNT STNSTL PRO665/825
@ SCREW,1/4-20 X 7/8" HEX HD STN STL

KIT, 4X ADHESIVE WIRE CLIP BIG32/38/44
BASE, REAR PANEL BIG32

$ KIT, SPIT ROD MOUNTS LT&RT BIG32/38/44
BRACKET, ROTIS BEARING MOUNT BIG32/38/44
NUT, ACORN, 10-24 STN STL

@ LOCKWASHER, #10 ST ST EXTERNAL STAR,
SHIELD, HOOD BIG32

@ WASHER, LOCK 1/4 STN STL

NGZ, SCREW 10-24 X 6MM STN STL PAN HD
DEFLECTOR, WIND BIG32

ASSY, HOOD BIG32

@SCREW #8 X 5/8" ST.ST. PAN HD. PHIL.
SCREW, 10-24 X 7/8 IN STN STL CNT SUNK
BEARING, 0.750 IN

ASSEMBLY, CONT PANEL BI32 NAT
ASSEMBLY, CONT PANEL BI32 LPG

PANEL, CONTROL STN STL BI32 NO RB
NAPOLEON LOGO MILLED C/W CLIPS (2015)
CONNECTOR, FLEX STN STL 1/2" X 30"

ASSY, MANIFOLD BI32 NAT CONVERTIBLE
ASSY, MANIFOLD BI32 LPG CONVERTIBLE
KNOB, CNTRL LRG W/ BRKT BI 500 SERIES
BEZEL, KNOB LRG BI500 SERIES

COVER, REAR BURNER, BIG32

REG LPG STEP DOWN 50MBAR TO 24.5MBAR
Bl, ZERO CLRNCE LINER

Pricing subject to change
** Please contact service desk for pricing

699,00
28,50
399,00
2,00
2,50
42,00
229,00
66,00
21,00
1,00
10,50
19,00
34,50
2,00
129,00
8,50
2,50
2,00
449,00
8,50
8,50
1,00
2,00
42,00
47,50
4,50
1,00
1,00
40,00
1,00

oAy dh ah A oAb dh A A A A dh A A A A A dh A A A A dh A A A dh dh

19,00
139,00
1,00
1,00
21,00
249,00
249,00
105,00
4,00
31,50
84,00
84,00
7,50
25,00

OO OO OO ONONONORONONONO)

an

73,50

*
*

303
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

BI1ORT

Pricing subject to change 304
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

BI1ORT

Description

1 NO010-1380 ASSY, LID BIB10 € 29,50
2 N325-0049-SER HANDLE DOOR/DRAWER/LID 8 IN W/HARDWARE € 10,50
3 S83031 GRID, STN STL BIB10 € 41,95
4 S81008 $ BURNER, BIB10RT NAT € 29,50
S81009 $ BURNER, BIB10RT LPG € 29,50
5 NO10-1454 ASSEMBLY, BASE WELDED BI10RT € 319,00
6  N380-0047 KNOB, CNTRL SML W/ BRKT BI 500 SERIES € 6,50
7 NO10-1098 BEZEL, KNOB SML BI 500 SERIES € 23,00
9 N640-0006 STRAP, TIE SELF-LOCKING 5.6MM X 150MM *
10 N555-0097 * ROD, LIGHTING MATCH, FIXED € 5,50
11 NO080-0454-SER BRACKET, JETFIRE MOUNT BIB10RT € 6,50
12 N370-1032-SER KIT, MANIFOLD W/ JETFIRE BIB10RT NAT € 63,00
N370-1033-SER KIT, MANIFOLD W/ JETFIRE BIB10RT LPG € 63,00
13 NO10-1356 ASSY, MANIFOLD SINGLE RANGE, NAT € 29,50
N010-1355 ASSY, MANIFOLD SINGLE RANGE, LPG € 29,50
14 N255-0069 FITTING, 7/16-20 TO M13X1 M-M ADAPTER € 3,00
15 N720-0070 CONNECTOR, FLEX STN STL 1/2" X 30" € 31,50
16 NO10-1387-SER ASSY, MANIFOLD CLAMP BIB10 BIG32/38/44 € 8,50
20 N710-0130 DRIP PAN BIB10 € 17,00
22 N570-0013 @SCREW #8 X 5/8" ST.ST. PAN HD. PHIL. € 1,00
23 W615-0043 SPACER #10 X 1/4 BLACK ZINC € 1,00
24  N720-0085 CONNECTOR, FLEX STN STL 1/4" X 4" € 5,50
25 N455-0106 ORIFICE, #55 BIB10RT NAT € 3,00
N455-0105 ORIFICE, #64 BIB10RT LPG € 3,00
26 NO010-0857 REG LPG STEP DOWN 50MBAR TO 24.5MBAR € 73,50
Pricing subject to change 305

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

BI12RT

Pricing subject to change 306
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

BI12RT

Description

1 N335-0145 LID, DUAL BURNER, BIB12 € 125,00
2 S83037 GRID, STN STL BI12RT € 100,00
3 S81010 $ BURNER, BIB12/18RT NAT € 29,50
S81011 $ BURNER, BIB12/18RT LPG € 29,50
4 NO010-1449 ASSY, BASE BIB/BI12RT € 349,00
5 N035-0179 BASE, REAR PANEL BIB/BI12RT € 14,50
6  N380-0046 KNOB, CNTRL LRG W/ BRKT BI 500 SERIES € 7,50
7 NO010-1097 BEZEL, KNOB LRG BI500 SERIES € 25,00
9 N640-0006 STRAP, TIE SELF-LOCKING 5.6MM X 150MM *
10 N555-0097 * ROD, LIGHTING MATCH, FIXED € 5,50
11 NO080-0451-SER BRACKET, FLAME DEFLECTOR BIB18RT € 6,50
12 NO010-1507-SER ASSEMBLY, CONT PANEL BI12RT LPG € 229,00
N010-1506-SER ASSEMBLY, CONT PANEL BI12RT NAT € 229,00
13 NO010-1451 ASSY, MANIFOLD, DUAL BURNER, BIB12RT, NAT € 38,00
N010-1452 ASSY, MANIFOLD, DUAL RANGE, 12" LPG € 38,00
14 N475-0574 PANEL, CONTROL STN STL BI12RT € 63,00
15 N720-0070 CONNECTOR, FLEX STN STL 1/2" X 30" € 31,50
16 N255-0069 FITTING, 7/16-20 TO M13X1 M-M ADAPTER € 3,00
20 NO10-1453 ASSY, DRIP PAN BIB/BI12RT € 115,00
22 N370-1021-SER KIT, BEARINGS QTY 2 BIB18, BIG32/38/44 € 19,00
23 N357-0028 IGNITER, EXT. JETFIRE BIB/BI12RT NAT € 12,50
N357-0029 IGNITER, EXT. JETFIRE BIB/BI12RT LPG € 12,50
24 N720-0083 CONNECTOR, FLEX STN STL 1/4 IN X 10 IN € 8,50
25 N455-0108 ORIFICE, 1.7MM BIB18 NAT € 2,00
N455-0107 ORIFICE, 1.2MM BIB18 LPG € 3,00
26 N570-0008 @SCREW, #8 X 1/2 HEX HD TEK STN € 2,00
27 N035-0182 BASE, BURNER PLATE, BIB/BI12RT € 27,50
30 N370-1065-SER KIT, MANIFOLD W/ JETFIRE BIB12RT NAT € 73,50
N370-1066-SER KIT, MANIFOLD W/ JETFIRE BIB12RT LPG € 73,50
31 N720-0060 NGZ CONNECTOR,FLEX MANIFOLD 1/4X14"(285) € 8,50
32 NO010-0857 REG LPG STEP DOWN 50MBAR TO 24.5MBAR € 73,50
Pricing subject to change 307

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Notes

Pricing subject to change 308
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

BIPRO825RBI-3

Pricing subject to change 309
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

BIPRO825RBI-3

Description

1 N370-0877 base € 2.699,00

2 N570-0038 1/4-20 x 1/2" screw € 1,00

3 S87012 main burner € 51,50

4 N100-0049 smoker burner € 21,00
5 NO080-0320 cross light bracket € 17,00

6  N080-0321 cross light bracket small € 12,50

7 N370-0822 sear plate mount € 8,50

8 N200-0106 smoker burner cover € 52,50

9 N510-0013 black silicone lid bumper € 2,00

N510-0017 black silicone lid bumper 60A € 1,00

10 NO080-0339 burner grease shield € 12,50
11 NO080-0340 burner grease shield small € 9,50
12 N450-0025 1/4" - 20 nut € 1,00
13 NO080-0315 bracket rear burner orifice € 7,50
14 N455-0055 rear burner orifice € 5,50
15 N255-0058 90 degree elbow fitting € 12,50
16 NO080-0311 bracket igniter smoker burner € 17,00
17  N720-0056 smoker burner flex € 26,50
18 N455-0016 smoker burner orifice € 5,50
19 N240-0033 smoker burner igniter € 4,00
20 N655-0206 base stiffener € 6,50
21 N570-0104 screw, 10-24 x 3/8" € 1,00
22 N570-0008 #8 x 1/2" screw € 2,00
23  N475-0492 control panel € 179,00
24 N570-0078 screw M4 x 8mm € 1,00
25 NO010-0794 manifold € 199,00
26 N720-0070 manifold flex connector € 31,50
27 N255-0048 fitting 1/2" € 12,50
N255-0049 fitting 3/8" € 7,50

28 N120-0024 end cap left € 42,00
29 N120-0025 end cap right € 42,00
30 N660-0009 switch € 29,50
31 N402-0019 logo light € 23,00
32 N585-0098 switch heat shield € 3,00
33 NO010-1135 control panel wire harness € 115,00
34 NO10-1097 large control knob bezel € 25,00
35 NO010-1098 small control knob bezel € 23,00
36 N380-0035-CL burner control knob large € 12,50
37 N380-0034-CL burner control knob small € 12,50
38 N585-0101 smoker shield € 4,00
39 NO080-0432 logo light mounting bracket € 19,00
40 N570-0022 8-32 x 3/8" screw € 1,00
41 N720-0053 rear burner supply tube € 19,00
42 N350-0069 rear burner housing (infra-red) € 31,50
43 N100-0045-SER rear burner € 14,50
45 N240-0034 rear burner electrode € 550
46 N305-0082 sear plate € 12,50
47 N305-0085 cooking grids large € 125,00
48 N305-0092 cooking grids small € 84,00
49 NO010-0800-SER smoker tube € 63,00
50 N585-0133 heat shield € 10,50
56 N570-0073 1/4-20 x 5/8" screw € 1,00
57 N350-0072 housing left light € 10,50

Pricing subject to change 310

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

BIPRO825RBI-3

Description

58 N350-0073 housing right light € 10,50
59 N402-0017 light € 26,50
W387-0006 replacement bulb € 10,50
61 N520-0038 large warming rack € 84,00
62 N520-0039 small warming rack € 63,00
63 N475-0301-M06 rotisserie mount € 12,50
64 N200-0110 light wire cover € 31,50
65 N570-0112 screw 10-24 x 5/8" € 1,00
66 N570-0013 #8 x 5/8" screw € 1,00
68 N735-0002 1/4" lock washer € 1,00
69 N570-0015 lid pivot screw € 2,00
70 N570-0024 1/4-20 x 1/2" screw € 1,00
71 NO010-0827 drip pan large € 139,00
72 NO10-0828 drip pan small € 125,00
73 N080-0335 bracket infra red burner mount € 19,00
74 NO010-0498 infra red burner € 125,00
75 N715-0098 base middle trim € 42,00
76 N215-0014 infra red burner deflector € 19,00
77 NO010-0857 step down regulator € 73,50
82 NO010-0811-SS assembly lid large € 549,00
83 NO010-0810-SS assembly lid small € 499,00
86 NO010-1205-SER assembly control panel € 999,00
87 NO010-0933 hood assembly, large € 309,00
88 NO010-0934 hood assembly, small € 249,00
89 N385-0348 logo € 3,00
90 N190-0005-T control box € 125,00
91 N750-0077 light wire harness € 35,50
92 N750-0038 smoke burner ignition wire € 6,50
93 N380-0025-BK burner control knob small black € 9,00
94 NO051-0010 smoker tube bezel € 7,50
95 NO051-0012 control knob bezel small € 4,00
97 N570-0087 1/4-20 x 7/8" screw € 1,00
98 N750-0040 rear burner ignition wire € 10,50
99 N660-0010 proximity sensor € 14,50
100 N715-0091 trim left side lid casting € 73,50
101 N715-0092 trim right side lid casting € 73,50
102 S91005 temperature gauge € 31,50
103 N385-0308-SER NAPOLEON logo € 9,50
104 NO010-1224 electrical panel assembly € 299,00
105 N707-0018 transformer € 77,50
N707-0017 transformer GB € 56,50
106 N475-0369-GY1SG electrical panel € 17,00
107 N357-0022 electronic ignition - 4 spark € 17,00
108 N750-0034 wire connector igniter € 1,00
109 N450-0008 1/4"-20 nut € 1,00
110 W160-0095 small wire clip P
111 N160-0039 large wire clip € 1,50
112 N750-0079 control box wire harness € 19,00
N285-0002 6A fuse € 3,00
113 N475-0495 control box mount € 3,00
114 N715-0100 rear trim € 73,50
115 N215-0016 large wind deflector € 26,50
116 N215-0017 small wind deflector € 26,50
Pricing subject to change 311

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

BIPRO825RBI-3
Item Part # Description
117 NO080-0354 drip pan guide € 5,00
118 NO080-0355 drip pan stopper € 17,00

312

Pricing subject to change
Effective January 1st, 2023

Prices are recommended end-user prices ** Please contact service desk for pricing



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

BIPRO825RBI-2

Pricing subject to change 313
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

BIPRO825RBI-2

&)

Pricing subject to change 314
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

BIPRO825RBI-2
Description

1 NO10-0814 base € 799,00
2 N570-0038 1/4-20 x 1/2” screw € 1,00
3 N100-0048 main burner >

4 N100-0049 smoker burner € 21,00
5 NO080-0320 cross light bracket € 17,00
6  N080-0321 cross light bracket small € 12,50
7  N370-0822 sear plate mount € 8,50
8 N200-0106 smoker burner cover € 52,50
9 N510-0013 black silicone lid bumper € 2,00
10 NO080-0339 burner grease shield € 12,50
11 N080-0340 burner grease shield small € 9,50
12 N450-0025 1/4” - 20 nut € 1,00
13 NO080-0315 bracket rear burner orifice € 7,50
14  N455-0055 rear burner orifice € 5,50
15 N255-0058 90 degree elbow fitting € 12,50
16 N080-0311 bracket igniter smoker burner € 17,00
17  N720-0056 smoker burner flex € 26,50
18 N455-0016 smoker burner orifice € 5,50
19 N240-0033 smoker burner igniter € 4,00
20 N655-0183 base stiffener € 5,50
21 N570-0042 screw, 10-24 x 3/8” € 1,00
22 N570-0008 #8 x 1/2” screw € 2,00
23 N475-0329 control panel € 209,00
24 N570-0078 screw M4 x 8mm € 1,00
25 NO010-0794 manifold € 199,00
26 N720-0070 manifold flex connector € 31,50
27 N010-0857 step down regulator € 73,50
28 N120-0024 end cap left € 42,00
29 N120-0025 end cap right € 42,00
30 N660-0006 switch lights € 31,50
31 N660-0005 switch ignition € 31,50
32 N585-0098 switch heat shield € 3,00
33 N120-0028 sealing cap nut € 3,00
34 NO010-0913 control panel wire harness € 63,00
35 NO010-0939 control knob bezel large € 26,50
36 NO010-0940 control knob bezel small € 17,00
37 NO010-0941 control knob bezel small € 26,50
38 N380-0035-CL burner control knob large € 12,50
39 N380-0034-CL burner control knob small € 12,50
40 N585-0101 smoker shield € 4,00
41 N750-0040 rear burner ignition wire € 10,50
42 N570-0022 8-32 x 3/8” screw € 1,00
43 N720-0053 rear burner supply tube € 19,00
44  N350-0069 rear burner housing (infrared) € 31,50
45 N100-0045 rear burner € 26,50
46  N450-0006 1/4” - 20 nut € 1,00
47 N240-0034 rear burner electrode € 5,50
48 N305-0082 sear plate € 12,50
49 N305-0085 cooking grids large € 125,00
50 N305-0092 cooking grids small € 84,00
51 NO010-0800-SER smoker tube € 63,00
52 N135-0015G left side hood casting € 42,00
53 N135-0016G right side hood casting € 42,00

Pricing subject to change 315

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

BIPRO825RBI-2

Description

54 N335-0076-BK2GL hood insert, large € 84,00
55 N335-0077-BK2GL hood insert, small € 63,00
56 N570-0012 1/4”-20 X 5/8 carriage bolt € 1,00
57 W735-0011 3/4” washer € 1,50
58 N570-0073 1/4-20 x 5/8” screw € 1,00
59 N350-0072 housing left light € 10,50
60 N350-0073 housing right light € 10,50
61 N402-0017 light € 26,50
W387-0006 replacement bulb € 10,50
62 N450-0009 10-24 nut € 0,50
63 N520-0038 large warming rack € 84,00
64 N520-0039 small warming rack € 63,00
65 N475-0301-M06 rotisserie mount € 12,50
66 N200-0110 light wire cover € 31,50
67 N570-0112 screw 10-24 x 5/8” € 1,00
68 N570-0013 #8 x 5/8” screw € 1,00
69 N570-0020 8-32 x 3/8” screw € 2,00
70 N735-0002 1/4” lock washer € 1,00
71 N570-0015 lid pivot screw € 2,00
72 N570-0024 1/4-20 x 1/2” screw € 1,00
73 NO010-0827 drip pan large € 139,00
74 NO10-0828 drip pan small € 125,00
75 NO080-0335 bracket infra red burner mount € 19,00
76  N010-0498 infra red burner € 125,00
77 N715-0098 base middle trim € 42,00
78 N215-0014 infrared burner deflector € 19,00
79 NO051-0010 smoker tube bezel € 7,50
80 NO0O10-0800 smoker tube € 63,00
81 N735-0021 washer #8 stn stl € 1,00
82 NO010-0811-SS assembly lid large € 549,00
83 NO010-0810-SS assembly lid small € 499,00
84 NO051-0012 control knob bezel small € 4,00
85 N160-0031 wire clip € 4,00
86 NO010-0936 assembly control panel € 799,00
87 N010-0916 hood assembly, large € 439,00
88 NO010-0917 hood assembly, small € 339,00
89 NO010-0886 igniter wire assembly #N/B
90 N750-0044 power wire harness € 37,00
91 N750-0053 right light wire harness € 17,00
92 N750-0038 smoke burner ignition wire € 6,50
93 NO080-0354 drip pan guide € 5,00
94 NO080-0355 drip pan stopper € 17,00
95 N570-0101 10-24 x 3/8” screw € 1,00
96 N450-0039 10-24 nut € 2,00
97 N570-0043 screw #8 x 3/4” € 1,00
98 N135-0036G left side lid casting € 63,00
99 N715-0091 trim left side lid casting € 73,50
100 N135-0037G right side lid casting € 63,00
101 N715-0092 right side lid casting € 73,50
102 N335-0078 large stainless steel lid insert € 199,00
103 N585-0110 lid heat shield large € 68,50
104 N385-0308-SER NAPOLEON logo € 9,50
105 N450-0044 logo clips € 1,00
Pricing subject to change 316

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

BIPRO825RBI-2

Description

106 NO10-0813 lid handle large € 37,00
107 NO080-0253G lid handle cover € 3,00
108 N685-0004C temperature gauge € 31,50
109 NO010-0812 lid handle small € 31,50
110 N335-0075 small stainless steel lid insert € 139,00
111 N585-0095 small lid heat shield >
112 N570-0087 screw 1/4-20 x 7/8” € 1,00
113 N475-0369-GY1SG panel, electrical € 17,00
114 N750-0034 wire connector igniter € 1,00
115 N357-0019 ignition € 26,50
116 N707-0014 transformer CE € 42,00
N707-0013 transformer GB € 42,00
117 N555-0025 lighting rod € 3,00
118 N715-0100 rear trim € 73,50
119 N380-0025-BK burner control knob small black € 9,00
Pricing subject to change 317

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Notes

Pricing subject to change 318
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

BIPRO665RB-3

Pricing subject to change 319
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

BIPRO665RB-3

Description

1 NO10-0790-SS lid assembly - stainless steel € 629,00

N010-0790-BK lid assembly - black € 629,00
2 N510-0013 black silicone lid bumper € 2,00
3 N385-0308-SER NAPOLEON logo € 9,50
4 N715-0091 trim left side lid casting € 73,50
5 S91005 temperature gauge € 31,50
6 N715-0092 trim right side lid casting € 73,50
7 NO10-1092-SER lid pivot hardware kit € 4,00
8 S87012 burner & sear plate kit € 51,50
9 NO010-0800-SER smoker tray € 63,00
10 N380-0025-BK burner control knob small black € 9,00
11 N570-0022 screw, 8-32 x 3/8" € 1,00
12 NO051-0012 control knob bezel small € 4,00
13  NO051-0010 smoker tube bezel € 7,50
14 NO010-0932 hood assembly € 349,00
15 N200-0110 light wire cover € 31,50
16 N570-0012 1/4"-20 X 5/8 carriage bolt € 1,00
17 W735-0011 3/4" washer € 1,50
18 N450-0006 1/4" - 20 nut € 1,00
19 N350-0072 housing left light € 10,50
20 N402-0017 light € 26,50

W387-0006 replacement bulb € 10,50
21 N350-0073 housing right light € 10,50
22  N450-0009 10-24 nut € 0,50
23 N570-0112 10-24 x 5/8" screw € 1,00
24 N010-1175-SER control panel € 749,00

NO010-1176-SER control panel € 749,00
25 NO010-1096 control panel wire harness € 99,00
26 N660-0009 switch € 29,50
27 NO010-0796 manifold € 149,00

N010-0797 manifold € 149,00
28 N585-0098 switch heat shield € 3,00
29 N720-0070 manifold flex connector € 31,50
30 N570-0078 M4 x 8mm screw € 1,00
31 N120-0025 end cap right € 42,00
32 N255-0048 fitting € 12,50

N255-0049 fitting € 7,50

N255-0053 fitting universal € 4,00
33 NO010-1097 large control knob bezel € 25,00
34 N380-0035-CL burner control knob large € 12,50
35 N380-0034-CL burner control knob small € 12,50
36 NO10-1098 small control knob bezel € 23,00
37 N660-0010 proximity sensor € 14,50
38 N402-0019 logo light € 23,00
39 NO080-0432 logo light mounting bracket € 19,00
40 N120-0024 end cap left € 42,00
41 N570-0104 screw 10-24 x 3/8" € 1,00
42 N475-0491 control panel € 159,00
43 N385-0348 logo € 3,00
44 N370-0876 base € 1.299,00
45 NO080-0405 sear plate mount € 8,50
46 N570-0087 1/4-20 x 7/8" screw € 1,00
47 N570-0073 1/4-20 x 5/8" screw € 1,00

Pricing subject to change 320

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

BIPRO665RB-3

Description

48 N200-0106 smoker burner cover € 52,50
49 NO010-1223 electrical panel assembly € 249,00
50 N707-0014 transformer € 42,00
N707-0013 transformer GB € 42,00
51 N475-0369-GY1SG electrical panel € 17,00
52 N357-0022 electronic ignition - 4 spark € 17,00
53 N750-0034 wire connector igniter € 1,00
54  N450-0008 1/4"-20 nut € 1,00
55 N570-0008 #8 x 1/2" screw € 2,00
56 N100-0049 smoker burner € 21,00
57 NO010-0857 step down regulator € 73,50
58 N520-0037 warming rack € 95,00
59 N750-0040 rear burner ignition wire € 10,50
60 N750-0070 light wire harness € 25,00
61 N305-0085 cooking grids large € 125,00
62 N305-0092 cooking grids small € 84,00
63 N720-0056 smoker burner flex € 26,50
64 N655-0206 base stiffener € 6,50
65 N570-0038 1/4-20 x 1/2” screw € 1,00
66 NO080-0320 cross light bracket € 17,00
67 N080-0321 cross light bracket small € 12,50
68 N555-0097 lighting rod € 5,50
69 NO010-0826 drip pan € 199,00
70 N350-0069 rear burner housing (infra-red) € 31,50
71 NO080-0329 burner grease shield € 12,50
72 N100-0045-SER rear burner € 14,50
73 N585-0101 smoker shield € 4,00
74 N475-0301-M06 rotisserie mount € 12,50
75 NO080-0315 bracket rear burner orifice € 7,50
76 N455-0055 rear burner orifice € 5,50
W456-0050 rear burner orifice € 10,50
77 N255-0058 degree elbow fitting € 12,50
78 N720-0053 rear burner supply tube € 19,00
79 N750-0038 smoke burner ignition wire € 6,50
80 NO080-0311 bracket igniter smoke burner € 17,00
81 N455-0016 smoker burner orifice € 5,50
N455-0002 smoker burner orifice € 5,50
82 N240-0033 smoker burner igniter € 4,00
83 W160-0095 small wire clip **
84 N160-0039 large wire clip € 1,50
85 N190-0005-T control box € 125,00
86 N750-0069 control box wire harness € 17,00
87 N475-0495 control box mount € 3,00
89 N585-0133 heat shield € 10,50
88 N240-0034 rear burner electrode € 5,50
90 N715-0099 rear trim € 52,50
N215-0015 wind deflector € 42,00
Pricing subject to change 321

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Notes

Pricing subject to change 322
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

BIPRO665RB-2

Pricing subject to change 323
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

BIPRO665RB-2

-

4

4

)
- o
-

®)

Pricing subject to change 324
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

BIPRO665RB-2
Description

1 NO010-0791 base >
2 N570-0087 1/4-20 x 7/8” screw € 1,00
3 N570-0038 1/4-20 x 1/2” screw € 1,00
4 N100-0048 main burner **
5 N100-0049 smoker burner € 21,00
6  NO080-0320 cross light bracket large € 17,00
7  N080-0321 cross light bracket small € 12,50
8 NO080-0405 sear plate mount € 8,50
9 N200-0106 smoker burner cover € 52,50
10 N510-0013 black silicone lid bumper € 2,00
11 N080-0329 burner grease shield € 12,50
12 N450-0025 1/4” - 20 nut € 1,00
13 NO080-0315 bracket rear burner orifice € 7,50
14  N455-0055 rear burner orifice 1,25 mm € 5,50

W456-0050 rear burner orifice #50 € 10,50
15 N255-0058 90 degree elbow fitting € 12,50
16 NO080-0311 bracket igniter smoker burner € 17,00
17  N720-0056 smoker burner flex € 26,50
18 N455-0016 smoker burner orifice propane € 5,50

N455-0002 smoker burner orifice #56 € 5,50
19 N240-0033 smoker burner igniter € 4,00
20 N655-0183 base stiffener € 5,50
21 N570-0042 screw, 10-24 x 3/8” € 1,00
22 N570-0008 #8 x 1/2” screw € 2,00
23 N475-0330 control panel € 115,00
24 N570-0078 screw M4 x 8mm € 1,00
25 NO010-0796 manifold propane € 149,00

N010-0797 manifold natural gas € 149,00
26 N720-0070 manifold flex connector € 31,50
27 NO010-0857 step down regulator € 73,50
28 N120-0024 end cap left € 42,00
29 N120-0025 end cap right € 42,00
30 N660-0006 switch lights € 31,50
31 N660-0005 switch ignition € 31,50
32 N585-0098 switch heat shield € 3,00
33 NO010-0912 control panel wire harness € 63,00
34 N010-0939 control knob bezel large € 26,50
35 NO010-0940 control knob bezel small € 17,00
36 N380-0035-CL burner control knob large € 12,50
37 N380-0034-CL burner control knob small € 12,50
38 N585-0101 smoker shield € 4,00
39 N750-0040 rear burner ignition wire € 10,50
40 N570-0022 screw, 8-32 x 3/8” € 1,00
41 N720-0053 rear burner supply tube € 19,00
42 N350-0069 rear burner housing (infra-red) € 31,50
43 N100-0045 rear burner € 26,50
44  N450-0006 1/4” - 20 nut € 1,00
45 N240-0034 rear burner electrode € 5,50
46 N305-0082 sear plate € 12,50
47 N305-0085 cooking grids large € 125,00
48 N305-0092 cooking grids small € 84,00
49 NO010-0800-SER smoker tray € 63,00
50 N135-0015G left side hood casting € 42,00

Pricing subject to change 325

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



51
52
58
54
55
56
57
58

59
60
61
62
63
64
65
66
67
68
69
70
71
72
73
74
75
76
77
78
79
80
81
82
83
84
85
86

87
88
89
90
91
92
93
94

95
96
97
98
99
100

Prices are recommended end-user prices

BIPRO665RB-2

N135-0016G

N335-0073-BK2GL

N570-0012
W735-0011
N570-0073
N350-0072
N350-0073
N402-0017
W387-0006
N010-0932
N450-0009
N520-0037
N475-0301-M06
N200-0110
N570-0112
N135-0036G
N715-0091
N135-0037G
N715-0092
N335-0072
N585-0092
N385-0308-SER
N450-0044
N685-0004C
N010-0789
N080-0253G
N570-0013
N735-0002
N570-0015
N570-0024
N010-0826
N570-0101
N450-0039

N475-0369-GY1SG

N750-0034
N357-0019
N707-0014
N707-0013
N555-0025
N010-0800
N051-0012
N570-0020
N735-0021
N715-0099
N010-0790-SS
NO010-0931
N010-0930
N010-0886
N750-0044
N750-0045
N750-0038
N380-0025-BK
N051-0010

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

right side hood casting
hood insert

1/4”-20 X 5/8 carriage bolt
3/4” washer

1/4-20 x 5/8” screw
housing left light
housing right light

light

replacement bulb

hood assembly

10-24 nut

warming rack

rotisserie mount

light wire cover

screw 10-24 x 5/8”

left side lid casting

trim left side lid casting
right side lid casting
trim right side lid casting
stainless steel lid insert
lid heat shield
NAPOLEON logo

logo clips

temperature gauge

lid handle

lid handle cover

#8 x 5/8” screw

1/4” lock washer

lid pivot screw

1/4-20 x 1/2” screw

drip pan

10-24 x 3/8” screw
10-24 nut

electrical panel

wire connector igniter
ignition

transformer CE
transformer GB

lighting rod

smoker tube

control knob bezel small
8-32 x 3/8” screw

#8 washer

rear trim

assembly lid

assembly control panel, propane
assembly control panel, natural gas
igniter wire assembly
power wire harness
right light wire harness
smoke burner ignition wire
burner control knob small black
smoker tube bezel

Pricing subject to change
** Please contact service desk for pricing

42,00
115,00
1,00
1,50
1,00
10,50
10,50
26,50
10,50
349,00
0,50
95,00
12,50
31,50
1,00
63,00
73,50
63,00
73,50
159,00
59,00
9,50
1,00
31,50
84,00
3,00
1,00
1,00
2,00
1,00
199,00
1,00
2,00
17,00
1,00
26,50
42,00
42,00
3,00
63,00
4,00
2,00
1,00
52,50
629,00
699,00
699,00
#N/B

37,00
10,50
6,50
9,00
7,50

an dh day ah dh dh o dh A A A oA dh A A A D A dh A A A A dh dh dh A A A dh dh A A A A dh A A A A A dh A A oA dh dh

dan dh dy ah b

326
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

BIPROS500RB-3

Pricing subject to change 327
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

BIPROS500RB-3

Description

1 N520-0038 warming rack € 84,00
2 883014 cooking grids - wave stainless rod € 229,00
3 S87011 cross light bracket kit € 14,50
4 NO10-1092-SER lid pivot hardware kit € 4,00
5 887001 burner & sear plate kit € 51,50
6 NO010-0811-SS lid assembly - stainless steel € 549,00

NO010-0747-BK lid assembly - black € 549,00
7 N510-0013 black silicone lid bumper 60A € 2,00
8 N385-0308-SER NAPOLEON logo € 9,50
9 N715-0091 trim left side lid casting € 73,50
10 S91005 temperature gauge € 31,50
11 N715-0092 trim right side lid casting € 73,50
12 NO010-0933 hood assembly € 309,00
13 N200-0110 light wire cover € 31,50
14 N570-0012 1/4"-20 X 5/8 carriage bolt € 1,00
15  W735-0011 3/4" washer € 1,50
16 N450-0006 1/4" - 20 nut € 1,00
17  N350-0072 housing left light € 10,50
18 N402-0017 light € 26,50

W387-0006 replacement bulb € 10,50
19 N350-0073 housing right light € 10,50
20 N450-0009 10-24 nut € 0,50
21 N570-0112 10-24 x 5/8" screw € 1,00
22 NO010-1171-SER control panel € 599,00

NO010-1172-SER control panel € 599,00
23 NO10-1137 control panel wire harness € 89,00
24 N010-0712 manifold assembly € 115,00

N010-0713 manifold assembly € 99,00
25 N660-0009 switch € 29,50
26 N570-0078 M4 x 8mm screw € 1,00
27 N385-0348 logo € 3,00
28 N585-0098 switch heat shield € 3,00
29 NO010-1097 large control knob bezel € 25,00
30 N380-0035-CL burner control knob large € 12,50
31 N380-0034-CL burner control knob small € 12,50
32 NO10-1098 small control knob bezel € 23,00
33 NO010-1211 logo light bracket assembly € 44,00
34 N475-0489 control panel € 99,00
35 NO080-0292 lid stop bracket right € 5,50
36 NO080-0291 lid stop bracket left € 5,50
37 N570-0008 #8 x 1/2" screw € 2,00
38 N240-0001 rear burner electrode € 14,50
39 N570-0122 1/4-20 x 3/8" screw € 1,00
40 N570-0087 1/4-20 x 7/8" screw € 1,00
41 N100-0045-SER rear burner € 14,50
42  N350-0069 rear burner housing € 31,50
43 N200-0120-GY1SG back cover € 37,00
44  NO010-1090-SER base casting € 299,00
45 N080-0213 bracket unit mount € 19,00
46 N080-0282-GY1HT bracket, unit mounting € 35,00
47 N475-0016 rotisserie mount € 10,50
48 N570-0086 #14 x 1/2” screw € 1,00
49 N715-0094 rear trim € 27,50

Pricing subject to change 328

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

BIPRO500RB-3
Description

50 N585-0083 heat shield € 37,00
51  NO010-0723 drip pan € 95,00
52 N720-0058 rear burner supply tube € 26,50
53 NO010-0281 manifold flex connector € 27,50
54 N570-0068 #14 x 1/2" screw stn stl € 1,00
55 NO010-0736 rear burner orifice assembly € 12,50

N010-0737 rear burner orifice assembly € 19,00
56 W445-0031 union fitting 3/8" *
57 NO010-1223 electrical panel assembly CE 249,00

NO10-1225 electrical panel assembly GB >
58 N707-0014 transformer CE € 42,00

N707-0013 transformer GB € 42,00
59 N475-0369-GY1SG electrical panel € 17,00
60 N357-0022 electronic ignition - 4 spark € 17,00
61 N750-0034 wire connector igniter € 1,00
62 N750-0048 ground wire € 3,00
63 N750-0069 control box wire harness € 17,00
64 N750-0082 halogen light wire € 23,00
65 N190-0005-T control box € 125,00
66 N475-0495 control box mount € 3,00
67 W160-0095 small wire clip >
68 N160-0039 large wire clip € 1,50
69 N450-0008 1/4"-20 nut € 1,00
70 NO080-0442 mounting bracket assembly € 19,00
71 N530-0023-SER regulator step down € 73,50

N530-0026-SER regulator step down € 73,50

N215-0016 wind deflector € 26,50

Pricing subject to change 329

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Notes

Pricing subject to change 330
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

BIPROS00RB-2

Pricing subject to change 331
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



39
40
41
42
43
44
45
46
47
48
49
50
51
52

Prices are recommended end-user prices

BIPRO500RB-2

N135-0049-GY1HT
N080-0282-GY1HT
N570-0068
N570-0087
N100-0056-50-SER
N080-0406
N010-0712
N010-0713
N555-0025
N475-0402
N010-0939
N010-0940
N750-0044
N750-0045
N750-0046
N190-0004
N010-0885
N660-0005
N660-0006
N585-0098
N570-0078
N570-0008
N720-0058
N255-0007
N455-0055
N080-0286
N380-0035-CL
N380-0034-CL
N100-0045
N450-0006
N350-0069
N240-0001
N200-0120-GY1SG
N135-0036G
N715-0091
N135-0037G
N715-0092
N335-0078
N010-0747-SS
N585-0110
N385-0308-SER
N450-0044
N685-0004C
N510-0013
N010-0813
N080-0253G
N570-0013
N735-0002
N135-0015G
N135-0016G
N335-0076-BK2GL
N570-0012
W735-0011

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

base casting

unit mounting bracket
#14 x 1/2" screw stn stl
1/4-20 x 7/8" screw

main burner

cross light bracket
manifold assembly propane
manifold assembly natural gas
lighting match rod

control panel

large LED light

small LED light

power wire harness

right light wire harness
igniter wire

igniter connector

wire switch harness
switch ignition

switch lights

switch heat shield

M4 x 8mm screw

#8 x 1/2" screw

rear burner supply tube
fitting / raccord

rear burner orifice

rear burner orifice bracket
burner control knob large
burner control knob small
rear burner

1/4" - 20 nut

rear burner housing (infra-red)
rear burner electrode
back cover

left side lid casting

trim left side lid casting
right side lid casting

trim right side lid casting
stainless steel lid insert
stainless steel lid assembly
lid heat shield
NAPOLEON logo

logo spring clips
temperature gauge

black silicone lid bumper
lid handle

lid handle cover

#8 x 5/8" screw

1/4" lock washer

left side hood casting
right side hood casting
hood insert

1/4"-20 X 5/8 carriage bolt
3/4" washer / rondelle 3/4"

Pricing subject to change
** Please contact service desk for pricing

149,00
35,00
1,00
1,00
31,50
4,00
115,00
99,00
3,00
115,00
26,50
17,00
37,00
10,50
5,00

[ OWONONONONONONONOWONOWONOWONOY

52,50
31,50
31,50
3,00
1,00
2,00
26,50
3,00
5,50
1,00
12,50
12,50
26,50
1,00
31,50
14,50
37,00
63,00
73,50
63,00
73,50
199,00
549,00
68,50
9,50
1,00
31,50
2,00
37,00
3,00
1,00
1,00
42,00
42,00
84,00
1,00
1,50

(O ONOWONOWONONONONONOWONONONONONOWONONONONONORONOWONOWONONONONONOWONOWON O

332
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

BIPRO500RB-2
Description

53 NO080-0291 left lid stop bracket € 5,50
54  NO080-0292 right lid stop bracket € 5,50
55 N510-0002 black silicone lid bumper € 2,00
56 N570-0015 lid pivot screw € 2,00
57 N570-0024 1/4-20 x 1/2" screw € 1,00
58 N350-0072 housing left light € 10,50
59 N350-0073 housing right light € 10,50
60 N402-0017 light € 26,50
61 N570-0022 8-32 x 3/8" screw € 1,00
62 N570-0020 8-32 x 3/8" screw hex € 2,00
63 N735-0021 #8 washer € 1,00
64 N200-0110 light wire cover € 31,50
65 N570-0112 10-24 x 5/8" screw € 1,00
66 N450-0009 10-24 nut € 0,50
67 N475-0016 rotisserie mount € 10,50
68 N570-0086 #14 x 1/2" screw € 1,00
69 N305-0085 cooking grids - wave stainless rod € 125,00
70 W445-0031 fitting *x
71 N305-0082 sear plate € 12,50
72 N707-0013 transformer GB € 42,00

N707-0014 transformer CE € 42,00
73 N475-0369-GY1SG electrical pannel € 17,00
74 N357-0019 ignition € 26,50
75 N750-0034 wire connector igniter € 1,00
76  N750-0048 ground wire € 3,00
77 NO010-0281 manifold flex connector € 27,50
78 N520-0038 warming rack € 84,00
79 NO010-0723 drip pan € 95,00
80 N585-0083 heat shield € 37,00
81 NO080-0213 unit mount bracket trim € 19,00
82 N715-0094 rear trim € 27,50
83 N570-0038 1/4" - 20 x 1/2" screw € 1,00
84 N450-0008 1/4"-20 nut € 1,00
85 N530-0023-SER regulator step down 24,5 mbar € 73,50

N530-0026-SER regulator step down 18,5 mbar € 73,50

N570-0032 #8 x 3/8" screw € 1,00

N215-0016 wind deflector € 26,50

Pricing subject to change 333

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Notes

Pricing subject to change 334
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

BILEX605RBI

S [ =L F..
JJ T . -]
- .. v L
/ .
@/

2 0 7
"%

Pricing subject to change 335
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



ONO O~ WN =

B WWWWWWWWWWNMNNNNNNRNNDRLD =S s s
QWO NOUPRWN-_O0OOCONOODURARWN-_OOONOOUGRAWN-=O0O

41
42
43
44
45
46
47
48
49
50
51
52

Prices are recommended end-user prices

BILEX605RBI

N335-0044L
N135-0042-GY1HT
N135-0043-GY1HT
N585-0081
N570-0091
N385-0129-SER
W450-0005
N010-0739
N685-0013-SER
N080-0287-GY1HT
N570-0042
N570-0015
N735-0003
N570-0073
N010-0592
N010-0527P-30
N565-0007
N080-0206-M05
N240-0024P
Z570-0002
N615-0011
N200-0080-M06
N520-0024
N010-0598
N100-0036
N080-0208
N010-0499
N080-0207
N570-0008
N475-0317-GB-DE
N010-0544-30
Z510-0003
N660-0002
N305-0057-M01
N051-0006
N380-0021-CL
N051-0012
N380-0020-CL
N200-0079-GY1SG
N305-0058
N305-0090
N010-1208
N585-0045
N105-0001
N750-0021B
N160-0017
N720-0053
N570-0078
N475-0301-M06
N570-0073
N720-0044
W445-0021
N530-0021-SER

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

stainless steel lid insert

left side lid casting

right side lid casting

heat shield lid

1/4-20 x 1/2" screw
NAPOLEON logo

logo spring clips

lid handle

temperature gauge

lid casting cover

10-24 x 3/8” screw

lid pivot screw

1/4" lockwasher

1/4-20 x 3/8" screw

hood assembly

infrared rear burner

infrared burner screen

rear burner electrode cover
rear burner electrode c/w pilot
rear burner electrode cover screw
rear burner electrode cover spacer
infrared rear burner cover
warming rack

base

main burner

main burner cross light bracket
infra red main burner

support bracket infrared burner
#8 x 1/2" screw

control panel

manifold assembly

black silicone lid bumper
switch light

sear plate

control knob bezel large
burner control knob large
control knob bezel small
burner control knob small

back cover

cooking grid - stainless rod large
cooking grid - stainless rod small
drip pan

heat shield

bushing 7/8"

wiring harness LED

clip rear burner tube

rear burner supply tube

M4 x 8 mm screw

rotisserie mount

1/4-20 x 3/8" screw

manifold flex connector

union fitting 3/8" - 3/8"
regulator step down

Pricing subject to change
** Please contact service desk for pricing

73,50
73,50
52,50

1,00
10,50

£y dh dh

42,00
21,00
2,00
1,00
2,00
1,00
1,00
149,00
99,00
14,50
5,50
19,00
1,00
1,00
73,50
42,00

O WO OO O ORI O ORO NGO WO O OO NGO

17,00
12,50
179,00
4,00
2,00
95,00
115,00
1,00
3,00
31,50

N ONOWONONONOWONOWON O

8,50
4,00
7,50
21,00
99,00
73,50
139,00
63,00
1,00
12,50
2,00
19,00
1,00
12,50
1,00
14,50
5,50
99,00

(OWONOWONOWONONONONONOWONOWONONONONO)

336
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

BILEX605RBI

Description

53 N255-0014 fitting € 5,50
54  N080-0216-M06 mount bracket € 21,00
55 N715-0085 rear trim € 30,00
56 N190-0001 battery pack € 5,50
57 N555-0025 lighting rod € 3,00
58 N215-0007-M05 deflector infra red burner € 3,00
59 N510-0013 black silicone bumper € 2,00

N010-0757-SS lid assembly € 499,00

Pricing subject to change 337

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Notes

Pricing subject to change 338
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

BILEX485RB-1

W,

9/

.
&

7,7

Pricing subject to change 339
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



O~NO O~ WN =

oo bbb SASASDLNDDDBDWWWWWWWWWWNNNNDNDNNNDDNDID = = 2 2 s
WN 200 0ONOODAPR,WN_LO000ONOODAOPRPRWN-_L00O0ONOODAPR,WN-_0O0OONOOOGEAWN-=O

BILEX485RB-1

N335-0042L-M02
N135-0042-GY1HT
N135-0043-GY1HT
N585-0078
N570-0091
N385-0307-SER
W450-0005
N010-0742
N051-0004
N080-0287-GY1HT
N570-0042
N570-0015
N735-0003
N570-0073
N010-0638-M06
N010-0526P-30
N565-0006
N080-0206-M05
N240-0024P
Z570-0002
N615-0011
N200-0090-M06
N520-0023
N010-0945-M05
N100-0036
N080-0281
Z570-0039
N475-0436
NO010-0944-30
Z510-0003
N660-0002
N305-0057-M01
N051-0011
N380-0021-CL
N051-0012
N380-0020-CL
N570-0078
N200-0089-GY1SG
N305-0058
N010-0781
N585-0044
N105-0001
N750-0021B
N160-0017
N720-0053
N475-0301-M06
Z570-0035
N720-0044
W445-0038
N530-0021-SER
N255-0014
N080-0216-M06
N715-0084

Prices are recommended end-user prices

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

stainless steel lid insert
left side lid casting
right side lid casting
heat shield lid
1/4-20 x 1/2" screw
NAPOLEON logo
logo spring clips

lid handle
temperature gauge
lid casting cover
10-24 x 3/8” screw
lid pivot screw

1/4" lockwasher
1/4-20 x 3/8" screw
hood assembly
infrared rear burner
infrared burner screen
rear burner electrode cover
rear burner electrode c/w pilot
rear burner electrode cover screw
rear burner electrode cover spacer
infra red rear burner cover
warming rack

base

main burner

main burner cross light bracket
1/4-20 x 1/2" screw

control panel

manifold assembly c/w valves
black silicone lid bumper
switch light

sear plate

control knob bezel large
burner control knob large
control knob bezel small
burner control knob small

M4 x 8 mm screw

back cover

cooking grids - stainless rod
drip pan

heat shield

bushing 7/8"

wiring harness LED

clip rear burner tube

rear burner supply tube
rotisserie mount

1/4-20 x 3/8" screw

manifold flex connector

union fitting 3/8" - 3/8"
regulator step down

fitting

mount bracket

rear trim

Pricing subject to change
** Please contact service desk for pricing

309,00
73,50
73,50
52,50

1,00
4,00

£ dh oy Ay oy dh

31,50
12,50
2,00
1,00
2,00
1,00
1,00
115,00
73,50
14,50
5,50
19,00
1,00
1,00
#N/B
37,00
349,00
17,00
8,50
1,00
84,00
139,00
1,00
3,00
31,50
3,00
8,50
4,00
7,50
1,00
17,00
99,00
99,00
58,00
1,00
12,50
2,00
19,00
12,50
#N/B

14,50
5,50
99,00
5,50
21,00
37,00

(OO OO O ONONONONONOWONONO)

(OO ONONONONONOWONONONONONONONONONONOWONON OGN

(OWONOWONOWO

340
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Description
54 N190-0001 battery pack € 5,50
55 N555-0025 lighting rod € 3,00
56 N510-0013 black silicone bumper € 2,00
57 N570-0008 #8 x 1/2 screw € 2,00
58 N570-0032 #8 x 32 screw € 1,00
59 NO010-0771-SS lid assembly € 399,00
Pricing subject to change 341

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Notes

Pricing subject to change 342
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



	Cover SP-book 2023
	Napoleon Parts Price Book part 2.pdf



